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SECTION I. INTRODUCTION

This working paper was prepared for those who want to use the UM-CIDI for
generating DSM-III-R diagnoses. As described in NCS Working Paper #2, the UM-
CIDI is a modification of the World Health Organization Composite International
Diagnostic Interview (WHO-CIDI). The UM-CIDI was developed by a team of
investigators from the University of Michigan (UM) led by Dr. Ronald Kessler in
collaboration with Dr. Hans-Ulrich Wittchen from the Max Planck Institute of
Psychiatry in Munich, Germany, for use in the NCS. As a number of other
investigators are interested in replicating the NCS in other areas, we are making
our diagnostic programs available.

Sections II through V contain verbal presentations of the UM-CIDI programs,
complete with commentary about differences between the UM-CIDI and the WHO-CIDI.
Appendix A contains the actual SAS computer programs used to derive UM-CIDI
diagnoses. In most cases, the DSM-III-R diagnostic criteria operationalized in
the NCS are identical to those used in the WHO-CIDI computer diagnostic programs.
Special attention has, therefore, been paid to those areas where the UM-CIDI
programs do differ from the WHO-CIDI programs.

NCS Diagnostic Computer Programs for Affective and Anxiety Disorders
generate the following diagnoses:

1. Major Depressive Episode (depl, dep2)

2. Manic Episode (manl, man2)
Hypomania (hman)

3. Dysthymia (dysl, dys2)

4. Generalized Anxiety Disorder (gadl, gad2)
5. Agoraphobia (ago)

6. Simple Phobia (sim)

7. Social Phobia (soc)

8. Panic Disorder (pd)
Panic Attacks (pt)

9. Post-Traumatic Stress Disorder (ptsd)

10. Anti-Social Personality Disorder (asp)

11. Adult Anti-Social Behavior (aab)

12. Conduct Disorder (cd)
In cases where a hierarchy rule is required for a diagnosis, two sub-types of the
diagnosis are given: DXl refers to the diagnostic outcome prior to applying the

hierarchy rule and DX2 refers to the diagnostic outcome after applying the
hierarchy rule. It should be mentioned that the SAS programs for PTSD and CD



provided in this package are simplified versions that may require modifications
depending on the researcher’s substantive interests.

NCS Diagnostic Computer Programs for Substance Abuse/ Dependence Disorders
generate the following diagnoses:

1. Substance Abuse/ Dependence:

Alcohol
Sedatives
Tranquilizers
Stimulants
Analgesics
Inhalants
Marijuana
Cocaine
Hallucinogens
Heroin

2. Nicotine Dependence

Onset (XXXons), recency (XXXrec), onset age (XXXonsa), and recency age
(XXXreca) for the above diagnoses are also computed. The four numbers (1 to &)
assigned to onset and recency are defined as:

1= last month

2= last six months

3= last year

4= more than one year ago.

It is recommended that users of this package read Working Paper #2
carefully to acquaint themselves with the differences between the WHO-CIDI and
the UM-CIDI. It is a good idea to place the UM-CIDI questionnaires side by side
with the WHO-CIDI interviews while reading this document. The next step is to
read Section II-V of the current Working Paper, which describe the diagnostic
criteria used in the NCS for generating the DSM-III-R diagnoses.

The SAS diagnostic computer programs included in Appendix A of this package
shall be examined next -- they are organized into mini-programs, each one
specific to a DSM-III-R diagnosis. As these programs were initially written for
data analysis in the OSIRIS environment, variable numbers such as vl, v1500, and
v1708 were used to refer to the questions asked in the questionnaires. Those who
will use SPSS, SAS, or other statistical packages equipped with the capability
to refer directly to question numbers (e.g., B6, B7, etc.) may want to modify
these programs by changing the variables back to question numbers. This can be
done by either changing the variable numbers in the text of the programs or by
adding a series of RENAME statements at the beginning of the programs. A
complete list of all the variables used in the computer programs is provided in
Appendix B along with their corresponding question numbers as they appear in the
NCS questionnaires.



It is possible to put all the mini-programs together into a master file and
run the entire program in one run given adequate computer resources. In case of
a memory problem, the master file needs to be broken into several small programs
to be run separately. One thing to remember, however, is that these small
programs have to be run in the same sequence as they appear in the master program
with the results of the antecedent runs being saved and used in the subsequent
runs. The main reason for this requirement is the built-in hierarchical rules
of the diagnostic criteria.

Finally, it should be mentioned that in the NCS, Nap50, or Nonaffective
Psychosis, was diagnosed on a case by case basis by clinical interviewers who
administered the psychosis section of the SCID to all NCS respondents who were
positive on Section K of the NCS interview. Nap50 was then used as part of the
hierarchy rule in the diagnosis of other disorders. If this variable is not
available to you, simply comment it out in the subsequent programs. As the
number of NAP cases is typically very small, deletion of this variable will have
little impact on the diagnostic outcome in most instances.



SECTION II. AFFECTIVE DISORDERS

1. Criteria for Major Depression

There are four Diagnostic Criteria for Major Depressive Episode (MDE) in
DSM-III-R (A-D). In addition, the Diagnosis of a Major Depressive Disorder (MDD)
requires that the respondent has never had a Manic Episode or an unequivocal
Hypomanic Episode. The hierarchical exclusion of respondents with a history of
mania is operationalized in the UM-CIDI merely by excluding respondents from MDD
if they ever met UM-CIDI criteria for Manic Episode or Hypomanic Episode. The
four criteria for MDE were operationalized as follows:

A. At least five symptoms must be present during the same two-week period
and present a change from previous functioning. At least one of these symptoms
must be depressed mood or loss of interest. Symptoms clearly due to a physical
condition, mood-congruent delusions or hallucinations, incoherence, or marked
loosening of associations should not be included.

The UM-CIDI, like the CIDI, does not require respondents to report about
a particular two-week period, but rather about a particular episode of depression
that could go on for much longer than two weeks. Exclusion for organic causes
is made in UM-CIDI at the symptom level for the particular episode probed. This
is different from the method used in the CIDI, where exclusion for organic causes
is made based on symptom probes prior to focusing on a particular episode. So,
for example, a respondent can report that a particular symptom that occurred at
various times during his/her life was sometimes due to alcohol but not always.
The assumption made in the CIDI is that this symptom, if it was present during
the index episode of depression being evaluated, was not due to alcohol this
time. This assumption can lead to overestimation of rates of depression. The
UM-CIDI corrects this problem by probing for organic exclusions at the episode
level.

It should also be noted that DSM-III-R is much more explicit about the
persistence of depressive symptoms over a two-week period than the CIDI or UM-
CIDI. DSM-III-R states that "The symptoms ... are relatively persistent, that
is, they occur for most the day, nearly every day, during at least a two-week
period." The CIDI and UM-CIDI questions merely ask about "two weeks or more when
nearly every day" the symptoms occurred, without mentioning how long the symptoms
had to persist within the day. We have developed a new probe for use in
subsequent revisions of the UM-CIDI to ask explicitly about whether they occurred
"most of the day" on the days they occurred. This probe was not, however, used
in the NCS.

Al. The requirement that one of the five must be depressed mood or loss of
interest is operationalized as (depressed) B3=1 or B4=1 or B4a=1 or (loss of
interest) D22=1 and D84a_19=/=1. Note that B3 is the dysthymia stem question,
not a stem question for Major Depression. We allow respondents who were positive
to B3 but negative to all other stem questions to continue with the section as
a way of providing a "second chance" for getting into the stem-branch structure
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of the question series. If these people reported enough other symptoms to
qualify for Major Depression, they were asked if these symptoms ever clustered
in a two-week period. If it did not, they were terminated. In other words,
these people were only allowed to continue in the section if they reversed
themselves after initial symptom probing to state that they did have a two-week
period of being sad, blue, or depressed. As it happened, not a single respondent
out of over 8000 met diagnostic criteria for Major Depression +via this route.
Therefore, in future use of the UM-CIDI we plan to exclude respondents from
further questions if they are positive on only the B3 stem question.

An important difference between the UM-CIDI and the CIDI is that the UM-
CIDI skips all further symptom questions if the respondent reports "No" to all
the Al stem questions. This is not done in the CIDI, where the respondent is
administered all the symptom questions and given a second chance to admit to
depressed mood or loss of interest if there are a total of four or more other
symptoms that are reported to have clustered in time. Our decision not to
provide this second chance in the UM-CIDI is based on the experience of the ECA
Study, which found that only a very small number of respondents met diagnostic
criteria because of this second chance. There is a considerable cost associated
with providing this second chance in that the large number of people who are
negative on all the stem questions for Major Depression are nonetheless
administered 35 additional symptom questions and, in the method used in the CIDI,
probes for each positive response to these questions for organic exclusions.
Based on our experience in pilot tests for the NCS, we estimate that these
additional questions take an average of approximately ten minutes to administer.
We judged this additional time too high a cost in light of the very small number
of cases that are added. Another important consideration in coming to the
decision to omit this second chance from the UM-CIDI was that we used a procedure
of pulling up stem questions to the beginning of the interview and using
commitment and motivation probes to increase accuracy of recall. Our pilot study
results show that this method -- which included the addition of B3 and B4a as
additional stem question "second chance" questions -- led to a much greater
increase in the number of respondents who reported Major Depression than the CIDI
second chance option.

A2. The count of five symptoms not due to organic causes is operationalized
as one or more positive responses to at least one question in at least five of
the following nine categories, with the respondent both reporting that the
symptom was present during the index episode and also that this symptom was not
due to organic causes during this episode:

symptoms not due to organic causes
in worst spell: D8ls medications: D84s
#2 D22=1 and D8la_19=1 D84a_19=/=1
#3 D2=1 and D8la 01-1 : D84a_01=/=1
D4=1 and D8la_03=1 D84a_03=/=1
D6=1 and D8la_04=1 D84a_04=/=1
D7=1 and D8la_05=1 D84a_05=/=1



#4 D9=1 and D8la 06=1 D84a_06=/=1

D11-1 and D8la_08=1 D84a_08=/=1
D13=1 and D8la_10=1 D84a_10=/=1
D15=1 and D8la_12=1 D84a_12=/=1
#5 D16=1 and D8la_13=1 D84a_13=/-1
#6 D19=1 and D8la_16=1 D84a_16=/=1
D21=1 and D8la_18=1 D84a_18=/~=1

#7 D27=1 and D8la_24=1
D30=1 and D8la_27-1

#8 D34=1 and D8la 31=1 D84a_31=/=1
D36=1 and D8la_33=1 D84a_33=/=1
D37=1 and D8la_34=1 D84a_34=/=1

#9 D4l=1 and D8la_36-1
D42=1 and D8la_37=1
D43=1 and D8la_38=1
D44=1 and D8la_39-1

B. The second criterion is that it cannot be established that an organic
factor initiated and maintained the disturbance or that the disturbance is a
normal reaction to the death of a loved one. The first of these requirements is
fulfilled in the D84 series of organic exclusions. The second is established in
questions abut the episode being precipitated by the death of a loved one (single
episode, D61=5; multiple episode, D70=5 or D70a=1). If the episode is associated
with the death of a loved one, the UM-CIDI can still define it as depression if
the reactions go beyond the normal bounds of uncomplicated bereavement. The
exceeding of these bounds are operationalized as having two or more of the
following:

D19=1
D27=1
D43=1
D44=1
D55=1

D63 (84<=D63a<98 and D63b=1) or for single episode
(12<=D63a<98 and D63b=2) or
(3 <=D63a<98 and D63b=3) or
(1 <=D63a<98 and D63b=4) or

D74 (84<=D74a<98 and D74b=1) or for multiple episode
(12<=D74a<98 and D74b=2) or
(3 <=D74a<98 and D74b=3) or
(1 <=D74a<98 and D74b=4) or



C-D. A third criterion is that at no time during the episode were there
delusions or hallucinations for as long as two weeks in the absence of prominent
mood symptoms, while a fourth criterion is that the episode is not superimposed
on Schizophrenia, Schizophreniform Disorder, Delusional Disorder, or Psychotic
Disorder NOS. Among the small number of NCS respondents who reported a lifetime
history of delusions or hallucinations, these exclusions were operationalized as
(K58=/=2 AND K58=/=3 OR K59b=/=2 AND K59b=/=3) AND K59c=/=1.

It should be noted that DSM-III-R distinguishes between Single Episode
Major Depression and Recurrent Major Depression by saying that Recurrent MDD
requires a minimum of two episodes separated by at least two months of return to
more or less usual functioning. This is operationalized in the UM-CIDI as D69b=1

or D69c=1. (It is further stated that "If there has been a previous Major
Depressive Episode, the current episode of depression need not meet the full
criteria for a Major Depressive Episode". This statement did not play a part in

the UM-CIDI, as only one episode of MDE was probed for meeting full criteria).



2. Criteria for Manic Episode

Manic Episode in DSM-III-R is defined as including criteria A to F which
require the presence of an elevated or irritable mood lasting at least two days
accompanied with at least three symptoms not caused by organic factors and not
superimposed on psychotic disorders but resulting in marked impairment. These
criteria were operationalized in the UM-CIDI as follows:

A. A period of at least two days during which the predominant mood is
either elevated or irritable:

B6=1 or B7=1.

As in the section on Major Depression, the UM-CIDI diverges from the WHO-
CIDI in skipping respondents who fail to endorse one of these diagnostic stem
questions. The WHO-CIDI continues with all symptom questions and gives the
respondent a second chance to endorse the stems. The rationale for our skipping
at this point rather than providing a second chance is the same as for DEP. It
should be noted, in addition, that NCS validity studies show that the UM-CIDI
diagnoses of mania and hypomania have high rates of false positives, meaning that
the screening questions select in too many people rather than too few. Indeed,
a good case could be made not to use the screening question about irritability
(B7) because it 1s very rare to find a respondent who fails to endorse the
euphoria stem question (B6) but does endorse the irritability stem question (B7)
and is validated in SCID reinterviews as a case of either mania or hypomania.

B. During the period of mood disturbance (i.e., the worst spell), at least
three of the following seven symptom categories have been present (four are
required if the mood is only irritable):

(E15=1 or El5a=5) and

E4=1 and E36_1=1 or E5=1 and E36_2=1
E6=1 and E36_3=1 or E7=1 and E36_4=1
E8=1 and E36_5=1
E9=1 and E36_6=1
E10=1 and E36_7=1
Ell=1 and E36_8=1
E12=1 and E36_9=1

C. Mood disturbance is sufficiently severe to cause marked interference in
life or result in hospitalization:

E22=1 or E23=1.



D. At no time during the disturbance have there been delusions or
hallucinations for as long as two weeks in the absence of prominent mood
symptoms :

K59¢c=/=1.

E. Mood disturbance does not only co-occur with psychotic disorders:

[(R58 =/=2 and K58 =/3) or
(K59b=/=2 and K59b=/=3)] and
K59c=/=1.

F. The disturbance is not initiated and maintained by organic factors such
as drugs and alcohol:

1) the mood is not due to organic factors:
Ela=/=1 or E3a=/=1
2) and the symptoms are not due to organic factors:

E37a_l=/=1 or E37a_2=/=1
E37a_3=/=1 or E37a_4=/=1
E37a_5=/=1
E37a_6=/=1
E37a_7=/=1
E37a_8=/=1
E37a_9=/=1

Notes:

There are two places where questions are asked about the influence of
organic factors on mood disturbance: respondents were first asked whether the
specific mood problem and the symptoms they mentioned were solely caused by
medications, drugs or alcohol; toward the end of the section on Mania,
respondents were asked again about the possibility of their mood disturbance
being due to use of drugs and alcohol and, if the answer was positive,
respondents were then probed to provide information on which started first and
which lasted longer -- the organic factors or the mood disturbance. Those
respondents who said their mood problem was caused by organic factors in the
first place (Ela=l1 or E3a=l) but reversed their answer in the second place
(E39=/=1 or E39a=/=2 or E4l=/=1 or E4la=/=1 or E4lb=/=2) and also had met all
other criteria were included as Mania cases under the UM-CIDI. It turns out that
there were 7 such cases out of 8098 respondents.



a. Criteria for Hypomanic Episodes

Hypomanic episodes are defined in the UM-CIDI as including those cases that
do not make criteria for Manic Episodes due to the lack of marked impairment.
In contrast to the WHO-CIDI, minor impairment is required of Hypomanic episodes
in the UM-CIDI. Minor impairment is defined as meeting any of the following
conditions:

1. tell a doctor about the mood problem El6=1
2. given any prescription for the mood problem El7=1
3. advised to see mental health specialist E18=1
4. saw mental health specialist E19=1
5. saw other professional about the mood problem E20=1
6. took medication more than once for the mood problem E21=1
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3. Criteria for Dysthymia

Dysthymia in DSM-III-R is defined as including criteria A to G which
require the presence of depressed mood lasting at least two years accompanied
with two or more symptoms not caused by organic factors and not superimposed on
other affective disorders. These criteria were operationalized in the UM-CIDI
as follows:

A. Depressed mood for most of the day, more days than not, for at least two
years. We measured the duration of mood at two different places. First, we
provided a stem question at the beginning of the survey asking whether the
respondent ever had depressed mood lasting two years or more. A positive answer
to that question fulfilled criterion A (B3=1). Those who initially said "No" to
this question but later reported that the length of their longest episode of
depression was two years or more (D63=>2 years or D74=>2 years) were also treated
as meeting Criterion A for Dysthymia.

B. & G. Presence of at least two of the following six symptom categories
that are not caused by organic factors while depressed:

6 categories of symptoms not due to medications (D84s)
#1 D2 =1 D84 0l1=/=1
D6 =1 D84_04=/=1
#2 D9 =1 D84 06=/=1
D11=1 D84 08=/=1
D13=1 D84 10=/=1
D15=1 D84_12=/=1
#3 D16=1 D84 13=/=1
{4 D31=1
D32=1
#5 D34=1 D84 _31=/=1
D37=1 D84 34=/=1
6 Clb=1

and these symptoms clustered with the depressed mood:

D47=1 or D47a=5.

C. During a two-year period of the disturbance, never without the depressed
mood for more than two months at a time:

B3a=1 or D63=> 2 years or D74=> 2 years.
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D. No evidence of an unequivocal Major Depressive Episode during the first
two years of the disturbance (Note: There may have been a previous Major
Depressive Episode, provided there was a full remission before development of the
Dysthymia).

If DEP =1 and any of the following three conditions is met, the case is
to be excluded from Dysthymia:

1. Those who were negative on B3a but positive on D63 or D74 (more than 2
years):

B3a"=1 and D63 => 2 years (single DEP episode)
B3a”"=l and D74 => 2 years (multiple DEP episode)

2. For the remaining single episode DEP cases (D58=1):

(DYSEND => DEPEND => DYSONSA) or (DYSEND => DEPONSA => DYSONSA) and
C3 =1 or 3

or
C3 = 2 and DYSRECA <= DEPEND or DYSONSA <= DYSRECA <= DYSEND

or
DEPONSA <= DYSONSA and DEPEND => DYSRECA

3. For the remaining multiple-episode DEP cases (D58>1):

DYSONSA <= (DEPCNSA or DEPRECA or D780NSA or
LONGONSA or LONGREC) <=DYSEND and C3 = 1 or 3

or
C3 =2 and (D69 = 5 or D69a = 5 or D69b = 5)

or
D760NSA <= DYSONSA and (D760NSA + 1) => DYSRECA

or
LONGREC <= DYSONSA and D77REC => DYSRECA

or

((D77-D76)<= D74)) and D760NSA <= DYSEND and D77RECA => DYSRECA

where
DEPONSA = DEP onset age
DEPRECA = DEP recency age
DEPEND = D62 - D62b
DYSONSA = DYS onset age
DYSRECA = DYS recency age
DYSEND = DYSONSA + 1

D760NSA = D76a or D76b or D76c
LONGONSA D760NSA + 1

12



D77REC

R’s current age (if 1<=D77<=3)

LONGRECA = D77REC - 1
D77RECA = R'’s current age (if 1<=D77<=3) or D77a (if D77=4)
D780NSA = D78, D79, D79a-b (onset age of worst episode of DEP)

E. Has never had a Manic Episode or an unequivocal Hypomanic Episode:

Manic Episode=/=1 and Hypomanic episode=/=1.

F. The mood disturbance is not superimposed on a chronic psychotic
disorder, such as Schizophrenia or Delusional Disorder:

(K58 =/=2 and K58 =/=3) or
(K59b=/=2 and K59b=/=3) and
K59c=/=1.

Notes:

DSM-III-R Criterion D for Dysthymia requires that Dysthymia should not be
diagnosed if an unequivocal Major Depressive Episode occurred during the first
two years of the dysthymic disturbance. However, there were no direct questions
addressing this issue in either the WHO-CIDI or the UM-CIDI. Nonetheless, we
attempted to tackle this problem based on the questions we did ask in the UM-
CIDI. All the following categories of respondents were treated as failing to
meet the D criterion if they ever had a Major Depressive Episode: (1) those who
initially gave a negative answer to the B3a stem question but later reversed
their answer to a positive one (D63=> 2 years or D74=>2 years); (2) those whose
Major Depression either began (age of onset) or ended (recency age) in the first
two years of the dysthymic episode; and (3) those whose dysthymic episode was
entirely contained in an episode of Major Depression.

In light of the fact that the number of people disqualified for the
diagnosis of Dysthymia Disorder due to criterion D was large, we decided to
create an additional diagnostic category named Dysthymic Episode which includes
cases not fulfilling criterion D.

13



SECTION III. ANXIETY DISORDERS

1. Criteria for Generalized Anxiety Disorder

Generalized Anxiety Disorder (GAD) in DSM-III-R is defined as including
criteria A to E which require at least 6 month duration of excessive worry of
multiple life circumstances with 6 or more accompanying autonomic symptoms not
attributable to organic factors and not occurring only during the course of a
Mood disorder. These criteria were operationalized in the UM-CIDI as follows:

A. Unrealistic or excessive anxiety and worry about two or more life
circumstances for a period of six months or longer:

B2b=1 and (B10l=1 or Bl0la=1l) and B102=1

However, if the onset of anxiety took place in the past six months (Bl106=2),
yet its recency was not in the last 30-days (B108=/=1), criterion A is not met.

B. The focus of the anxiety and worry was not about one’s mental and/ or
physical conditions such as illness and overweight:

B102a=1 or B102c=2

C. The disturbance did not occur only during the course of a Mood Disorder
or a psychotic disorder:

1) not during Mood Disorder:

(D89a=/=2 and D89a=/=3) or
(D89b=/=1 and D89b=/=3) or
D94a=5 or
(D94b=/=2 and D94b=/=3) or
(D94c=/=1 and D9%4c=/=3)

2) not during psychotic disorder:
(K56b=/=2 and K56b=/=3) or

K56a=5 or
(K56c=/=1 and K56c=/=3)

14



D. & E. Presence of at least 6 of the following 18 symptom categories when
anxious that were not caused by organic factors:

categories of anxious symptoms not due to organic factors

1) Motor tension:

B103b=1 B105a_02=/=1
B103d=1 B105a_04=/=1
B103c=1 B105a_03=/=1
B103i=1 B105a_09=/=1
2) Autonomic hyperactivity:
B103h=1 B105a_08=/=1
B103g=1 B105a_07=/=1
B103j=1 or B1lO3w=1 B105a_10=/=1 or Bl05a_23=/=1
B103k=1 B105a_11=/=1
B103t=1 B105a_20=/=1
B1031=1 or B103g=1 Bl05a_12=/=1 or Bl05a_l17=/=1
B103n=1 B105a_l4=/=1
B103s=1 B105a_19=/=1
B1030=1 B105a_15=/=1
3) Vigilance or scanning
B103e=1 B105a_05=/=1
B103a=1 B105a_0l=/=1
B103r=1 or Bl03m=1 B105a_18=/=1 or Bl05a_13=/=1
B103p=1 B105a_16=/=1
B103f=1 B105a_06=/=1

According to DSM-III-R, symptoms B103g, B103h, B1031l, and B103t should not
be counted if they occurred only during panic attacks. In the UM-CIDI, however,
we didn’t probe for the possible co-occurrence of those particular symptoms with
panic attacks. We checked this problem after completion of our data collection
(we calculated an upper-bound estimate by deleting all positive answers to the
four Panic-related GAD symptoms if their corresponding Panic symptoms were also
positive) and found that the impact of this omission on the diagnosis of GAD was
very small (only two cases were affected).
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2. Criteria for Panic Disorder

Panic Disorder in DSM-III-R is defined as including criteria A to E which
require the sudden occurrence of an intense fear frequently repeated within one
month’s period with at least four fast-developing panic symptoms not attributable
to organic factors. These criteria were operationalized in the UM-CIDI as
follows:

A. The occurrence of one or more discrete periods of intense fear or
discomfort that was unexpected and not triggered by situations in which the
person was the focus of others’ attention:

Bl=1 and B70=1.

B. The episode of intense fear or discomfort occurred at least four times
within one month or was followed by a period of at least one month of persistent
fear of having another attack:

B79=1 or B82=1 or B80=1.

C. At least four of the following 13 categories of symptoms developed
during at least one of the attacks:

1) B7la=1 or B71qg=l
2) B7lc=1 or B71g=1l
3) B71b=1
4) B71li=1
5) B71h=1
6) B71f=1
7) B7lo=1 or B71p=1l
8) B71k=1
9) B7le=1
10) B71j=1
11) B71d-=1
12) B71m=1
13) B71n=1

D. During at least some of the attacks, at least four of the symptoms
developed suddenly and increased in intensity within ten minutes of the beginning
of the episode:

B73=1.

E. These panic attacks were not initiated and maintained by an organic
factor:

B93=/=1 and B94=/=1.
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In the UM-CIDI we also require that the panic attacks should not occur only
in agoraphobic situations: B99c=/=5. The rationale is that if the attack always
takes place in an agoraphobic situation then that attack is not unexpected and
should thus be seen as a manifestation of Agoraphobia rather than Panic Disorder.

a. Criteria for Panic Attacks

Meets criteria A, C, and D for Panic Disorder.

b. Criteria for Panic Disorder with Agoraphobia
A. meets the full criteria for Panic Disorder.
B. Meets the full criteria for Agoraphobia.

Notes:

In the WHO-CIDI, Agoraphobia in this particular situation is defined as
B10=1 or Bll=1 or Bl2=1 or Bl2a=l.

A subsequent validation study of the UM-CIDI panic diagnosis found that a
number of cases classified as having panic actually were phobics. The problem
seems to be that the exclusion questions in the UM-CIDI are not adequate to sort
out people with simple phobias who have panic attacks only in phobic situations
(e.g., a person whose attacks only occur when he sees a snake). The exclusion
question B70 is inadequate to exclude a person of this type, who recognizes that
he is not in real danger.

Based on this validation study result, we returned to the open-ended
material in question B70a. The detailed examples collected here do not exist in
the WHO-CIDI. A review of these open-ended responses led to the discovery that
a number of NCS respondents provided enough data about the situations in which
they had attacks to exclude them from panic. One respondent, for example, gave
examples and commentary which made it clear that her attacks occur exclusively
when she is on elevators. 1In cases of this sort, we edited out the respondent
as not meeting criteria for panic disorder because the attacks were not
unexpected.

In future work, we plan to develop more clear exclusion questions of a
structured sort, but this was not done in the NCS. New users may want to develop
questions of this sort on their own, or adopt our policy of reviewing all open-
ended materials to find cases where the attacks appear to be exclusively
associated with phobia. As part of our editing, the most difficult cases were
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those whose two examples on B70 were of phobic situations, but who did not say
explicitly that their attacks occur exclusively in these situations. In cases
of this sort, we found it useful to check the age of onset data in the simple
phobia section. In many cases we found that onset ages were the same as for
panic. For example, one respondent who reported 50 panic attacks and gave two
examples that both involved fear of bridges also reported a bridge phobia and
reported that the ages of onset and recency of the bridge phobia were the same
as the ages of onset and recency of panic. This kind of consistency increases
our faith in the decision to exclude this respondent from a diagnosis of panic
in favor of a diagnosis of simple phobia.
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3. Criteria for Agoraphobia

Agoraphobia is defined in DSM-III-R as follows: "Fear of being in places
or situations from which escape might be difficult (or embarrassing) or in which
help might not be available in the event of suddenly developing a symptom(s) that
could be incapacitating or extremely embarrassing. Examples include: dizziness
or falling, depersonalization or derealization, loss of bladder or bowel control,
vomiting, or cardiac distress. As a result of this fear, the person either
restricts travel or needs a companion when away from home, or else endures
agoraphobic situations despite intense anxiety. Common agoraphobic situations
include being outside the home alone, being in a crowd or standing in a line,
being on a bridge, and traveling in a bus, train, or car."

The above description was operationalized in the UM-CIDI in terms of the
following criteria:

A. Experience of at least one of the following five fears:

B8a=1
B8b=1
B8c=1
B8d=1
B8e=1

B. Fear of either suddenly collapsing or the development of incapacitating/
embarrassing symptoms when no help was available or escape was impossible:

B12=1 or Bl2a-=1.

C. The above fear produced symptoms of severe anxiety, avoidance,
endurance, or impairment:

B10=1 or Bll=1 or Bl3=1 or B19=1 or B20=1 or B22=1-3.

In the Simple Phobia section we asked an open-ended question (B49k) about
whether respondents ever had any additional unreasonable fears. In coding
answers to this question we noticed that some cases that were agoraphobic in
nature and among those cases four also met the above criteria B and C. We
therefore included those four cases as diagnoses of Agoraphobia.

Note:

In the WHO-CIDI, Agoraphobia was operationalized as Criterion A plus B10=1
or Bll=1 or Bl2=1 or Bl2a=1 and B13=1 or B19=1 or B20=1 or B22=1.
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a. Criteria for Agoraphobia without History of Panic Disorder

A. Meets the full criteria for Agoraphobia.

B. Has never met criteria for Panic Disorder.
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4. Criteria for Social Phobia

Social Phobia is defined in DSM-III-R as including criteria A to G which
require a persistent and excessive fear of social situations, the exposure to
which almost invariably provokes an immediate anxiety response and the avoidance
of which interferes with daily functioning. These criteria were operationalized
in the UM-CIDI as follows:

A. and F. A persistent and excessive/ unreasonable fear of one or more of
the following social situations in which the person was exposed to possible
scrutiny by others and fears that he or she might do something or act in a way
that would be humiliating or embarrassing:

1) excessive fear of social situations:

B29a=1
B29b=1
B29c=1
B294=1
B29e=1
B29f=1

2) persistent fear of social phobic situations:
B31=1 or B3la=1 (see note 2 below)
B. The above fear was unrelated to other mental health disorders such as
Panic Disorder and Parkinson's disease. This criterion was not directly adopted

in the UM-CIDI but was partially implied in the questions about the social phobic
situations.

C. During some phase of the disturbance, exposure to the specific phobic
stimulus (or stimuli) almost invariably provoked an immediate anxiety response:

B45=1 or B46=1.

D. The phobic situation(s) was avoided or endured with intense anxiety:

B3la=1 or B38=1-3 or B43=1 or B44=1 or B45S=1.

E. The avoidance of the phobic situation interfered with daily functioning
or there was marked distress about having the fear:

B36=1 or B37=1 or B38=1.
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Notes:

According to DSM-III-R (Criterion G), when a person is under 18, Social
Phobia should not be diagnosed if the person is already diagnosed as having
Avoidant Disorder of Childhood or Adolescence. We didn’t include this criterion
in the UM-CIDI because the focus of our survey was primarily adults.

In the UM-CIDI, the persistence criterion (A/F_2) was made more strigent
by imposing the following requirements: (1) B31l=1l, or (2) B3la=l and the fear
started a year ago and lasted for at least a year, or (3) the fear started in
past year or past six months and was still going on in the past month. In the
WHO-CIDI, however, the same criterion was operationalized as B31l=1 or B3la=1l.

Also in the WHO-CIDI, Criterion C didn’t include B3la and B38 while
Criterion D included B43, B44 and B4S.

In the Simple Phobia section we asked an open-ended question (B49k) about
whether respondents ever had any additional unreasonable fears. In coding
answers to this question we noticed that some fears were social phobic in nature
and among those cases five met all the criteria for Social Phobia. We therefore
included those five cases as cases of Social Phobia.
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5. Criteria for Simple Phobia

Simple Phobia is defined in DSM-III-R as including criteria A to F which
require a persistent and excessive fear of a circumscribed object or situation,
the exposure to which almost invariably provokes an immediate anxiety response
and the avoidance of which interferes with daily functioning. These criteria
were operationalized in UM-CIDI as follows:

A. and E. A persistent and excessive/ unreasonable fear of one or more of
the following circumscribed objects or situations:

1) excessive fear of circumscribed objects or situations:

B49a=1
B49b=1
B49c=1
B49d=1
B49e=1
B49g=1
B49h=1
B49i=1
B49j=1
B49k=1

2) persistent fear of circumscribed objects or situations:
B51=1 or B5la=1 (see note 1 below)
B. During some phase of the disturbance, exposure to the specific phobic

stimulus (or stimuli) almost invariably provoked an immediate anxiety response:

B65=1.

C. The phobic object or situation was avoided or endured with intense
anxiety:

B51la=1 or B58=1-3 or B63=1 or B64=1 or B65=l.

D. The fear or the avoidant behavior interfered with daily functioning or
there is marked distress about having the fear:

BS56=1 or B57=1 or B58=1.

F. The above fear was unrelated to the content of the obsessions of
Obsessive Compulsive Disorder or the Trauma of Post-traumatic Stress Disorder.
This criterion was not directly used in the UM-CIDI.
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Notes:

1. In the UM-CIDI, the persistence criterion (A/F_2) was made more strigent
by imposing the following requirements: (a) B51=1, or (b) B5la=l and the fear
started a year ago and lasted for at least a year, or (c) the fear started in
past year or past six months and was still going on in the past month. In the
WHO-CIDI, however, the same criterion was operationalized as B51=1 or B5la=1.

2. Also in the WHO-CIDI, Criterion C didn’'t include B5la and B58 while
Criterion C included B63 and B64.

3. In this section we asked an open-ended question (B49k) about whether
respondents ever had any additional unreasonable fears. Ten cases were added to
the diagnosis of Simple Phobia, for they not only had a fear that was of Simple
Phobia in nature but also met all the other criteria for Social Phobia.
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6. Criteria for Post-Traumatic Stress Disorder

Post-Traumatic Stress Disorder (PTSD) is defined in DSM-III-R as including
Criteria A to E which require the development of a set of anxiety symptoms
following a psychologically distressing event that is outside the range of usual
human experience. These criteria were operationalized in the UM-CIDI as follows:

A. Experience of any of the following events that are outside the range of
usual human experience and that would be markedly distressing to almost anyone:

Ul=1 U7=1
U2=1 U8=1
U3=1 U9=1
U4=1 U10=1
Us5=1 Ull=1
U6=1 Ul2=1

It is worth noting that the UM-CIDI assessed these traumas in a respondent
booklet that made it possible to ask about potentially embarrassing events such
as rape or sexual assault without ever using the words "rape" or "sexual
assault." The use of an explicit list and the respondent booklet method of
administration diverge from the procedure first adopted in the Diagnostic
Interview Schedule (from which these questions are adopted) to elicit information
about lifetime traumas in a single open-ended question.

B. The traumatic event is persistently re-experienced in at least one of
the following ways:

Ulée=1
Ul7=1
Ul8=1
U19=1

C. Persistent avoidance of stimuli associated with the trauma or numbing
of general responsiveness (not present before the trauma), as indicated by at
least three of the following:

U21=1 U25=1
U22=1 U26=1
U23=1 U27=1
U24=1
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D. Persistent symptoms of increased arousal (not present before the
trauma), as indicated by at least two of the following:

U29=1
U30=1
U31l=1
U32=1
U33=1
U34=1

E. Duration of the disturbance for at least one month: U37=> 1 month.
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SECTION IV. SUBSTANCE USE DISORDERS

1. Criteria for Substance Abuse

Substance (drugs and alcohol) Abuse is defined in DSM-III-R as either
continued use of the psychoactive substance despite knowledge of its adverse
effect on health and social functioning or recurrent use of the substance in
situations when use is physically hazardous. This diagnosis is made only when
the criteria for dependence for that particular class of substance have never
been met. These criteria were operationalized in the UM-CIDI as follows:

The presence of any one of the following symptoms which indicate either
continued use of the substance despite knowledge of having a persistent/
recurrent social, occupational, psychological, or physical problem that is caused
or exacerbated by use of the psychoactive substance or recurrent use in
situations in which wuse 1is physically hazardous (e.g., driving while
intoxicated):

G32a=1 + recoding:2s or G32e=1
G33a=1 + recoding:2s

G34a=1 often

G36a=1 often

G37a=1 + recoding:2s or G4la=1

G38a=1 + recoding:2s

The duration criterion -- continued use or recurrent use -- is either built
into the original questions by emphasizing the phrase "often" or recoded in the
diagnostic program as symptoms lasting at least one year (recording procedures
are specified in Attachment I).

Although DSM-III-R requires that a respondent not have a diagnosis of Abuse
once he or she meets the requirements for Dependence, it is possible for an
individual to have a lifetime diagnosis of Abuse prior to the age of first
becoming Dependent. In order to capture this information, our program diagnoses
Abuse for all respondents irrespective of their meeting criteria for Dependence.
Among people who have a lifetime history of both disorders, their diagnosis would
have been Abuse up to the age of onset of Dependence and Dependence thereafter.
Consistent with previous research, the NCS results show that Dependence typically
occurs at a later age than Abuse and that the vast majority of persons with
lifetime Dependence also meet criteria for Abuse.

* "2s" refers to recoding methods 2_(1), 2_(2)_a, and 2_(2)_b.
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2. Criteria for Substance Dependence

Substance (drugs and alcohol) Dependence is defined in DSM-III-R as
including criteria A and B which require the presence of the physiologic symptoms
of tolerance and withdrawal and continued use of the substance despite adverse
consequences. These criteria were operationalized in the UM-CIDI as follows:

A. Presence of at least three of the following nine characteristic symptoms
of dependence:

#1 G47a=1
G48a=1
#2 G42a=1
G43a=1
Gb4a=1
#3 G46a=1
#4 G30a=1
G3la=1
G34a=1
#5 G52a=1

##6 G32a=1 + recoding:2s or G32e=1
G33a=1 + recoding:2s
G36a (G35a)=1
G37a=1 + recoding:2s or G4la=1
G38a=1 + recoding:2s

#7  G49a=1
#8  GS50a=1
#9  G5la=1

(missing b, ¢, d) *

B. Presence of at least two of the following symptoms that have either
occurred very often or persisted for at least one year:

#1  G47a=1 often
G48a=1 often

#2  G42a=1 recoding:(2)s
G43a=1 recoding: (2)s
Gbdba=1 recoding: (2)s
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#3 G46a=1 often

#4  G30a=1 often

G3la=1 often

G34a=1 often
#5 G52a=1 recoding:(2)s
J#6 G36a (G35a)=1 often

G32a=1 + recoding:2s or G32e=1
G33a=1 + recoding:2s
G37a=1 + recoding:2s or G4la=1
G38a=1 + recoding:2s

#7 G49a=1 recoding:(2)s
#8 G50a=1 recoding: (2)s
#9 G5la=1 none

(missing b, c, d) *

*

*%k

Criterion 9 was not evaluated for twelve month diagnoses in the NCS. It is,
however, possible to use the information in G50b-d to substitute the missing
G51b-d when the respondent has answered Yes to both G50a and G5la. We leave
this to the discretion of the users.

"2s" refers to recoding methods 2_(1), 2_(2)_a, and 2_(2) b and
"(2)s" refers to recoding methods 2_(2)_a and 2_(2)_b.
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Attachment T. Recodirng Procedures for Both Abuse and Dependence Disorders

1. Some items automatically qualify for the duration criterion and
they are indicated by the word "often".

2. Other items need to be recoded to meet this criterion and they
are indicated by the word "recoding." The aim of recoding is to
determine whether substance use ever lasted a year or more. Two
types of recoding methods are specified here:

(L

(2)

(3)

the criterion is met if the recency of the problem is last
year (Gxxc <=3) and the age of recency, which in this case is
R’s current age, is larger than the age of onset:

Gxxc "= 4 and Current age > Gxxb or

if the recency of the problem is a year ago (Gxxc=4) and the
age of recency (Gxxd) is larger than the age of onset (Gxxb):

Gxxc "= 1-3 and Gxxd > Gxxb

_a for drug dependence (G1-G9): this criterion is met if the
recency of use is last year (Gxd <=3) and the age of recency
of use, which in this case is R’s current age, is larger than
the age of the onset of the problem (Gxxb):

Gxd "= 4 and Current age > Gxxb or

if the recency of use is more than a year ago (Gxd=4) and the
age of recency of use (Gxf) is larger than the age of the
onset of the problem (Gxxb):

A

Gxd "= 1-3 and Gxf > Gxxb

_b for alcohol dependence (F1-F15): this criterion is met if
R had 12 or more drinks in the past year (F5-F8) and R's
current age is larger than the age of the onset of the problem
(Gxxb):

F5 = A-G or

F6 = A-H or and Current age > Gxxb or
F7 = A-F or

F8 = A-D
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if less than 12 drinks in the past year and the age of most
excessive use (F1l) is larger than the age of the onset of the

problem (Gxxb):

F5-F8 < 12 and F11 > Gxxb

* for all recodings Gxxa has to be checked as Yes.
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Attachment II. Criteria For Tobacco Dependence: A Supplement:

There is no DSM-III-R diagnosis of Tobacco Abuse, but there is a diagnosis
of Tobacco (Nicotine) Dependence. The criteria were operationalized in the UM-
CIDI as follows:

A. Presence of at least three of the following six characteristic symptoms
of dependence:

#1 CCl3=1
#2 CCl2=1
CCl4=1
#3 CCl5-=1
#4 CCl0=1
CCl1l=1
CC9=1
#5 CC8=1
#6 CC8c=1

B. Presence of at least two of the following symptoms that have either
occurred very often or persisted for at least one year:

#1 CCl3=1 often
#2 C€Cl2=1 CCl2a=1
CCl4=1 *
#3 CCl5=1 CCl5a=1
#4 CCl0=1 CCl0a=1
CCll=1 CClla=1
CC9=1 *
#5 CC8=1 CC8a=>30 or CC8b=1
#6 CC8c=1 CC7=>2

* We have no direct information on the duration of symptoms for CCl4 and CC9.
Respondents were coded as meeting criterion B if they have met criterion A
and CC7=>2.
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It should be noted that Tobacco Dependence was not included in the original
NCS interview schedule, but was added in the second half of the study in response
to a request from NIMH program staff. Therefore, information about age of onset
and quantity and frequency of use is less detailed for tobacco than for the other
drugs. New users of the instrument may want to include more detailed questions
about quantity, frequency, and timing of use.
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SECTION V. OTHER DISORDERS

1. Criteria for Antisocial Personality Disorder

Antisocial Personality Disorder (ASP) is defined in DSM-III-R as including
Criteria A to D which require a pattern of irresponsible and antisocial behavior
beginning in childhood or early adolescence and continuing into adulthood. These
criteria were operationalized in the UM-CIDI as follows:

A. Current age 1is at least 18 years old: V12=>18.

B. Evidence of Conduct Disorder with onset before age 15, as indicated by
a history of three or more of the behavior listed in H1-H7 and H9-H12: H14=>3.

C. A pattern of irresponsible and antisocial behavior since the age of 15,
as indicated by at least four of the behaviors listed in H17-H25 and C_9: (H26+
C_9)=>4. On the list of Criterion C for ASP in DSM-III-R is an item (G_9) that
requires the absence of "a totally monogamous relationship for more than one
year." This question was asked in the Marriage section in Part II of the NCS
survey and operationalized here as (M3=5 or M41=5) or ((M9=5 and M14=5 and (M12-
M7<=2)). '

D. Occurrence of antisocial behavior was not exclusively during the course
of Schizophrenia or Manic Episodes: H29a=/=1.

a. Criteria for Adult Antisocial Behavior

Adult Antisocial Behavior (AAB) is defined in DSM-III-R as a persistent
pattern of criminal or other aggressive / antisocial behavior in people who do
not meet the full criteria for Antisocial Personality Disorder and whose
antisocial behavior cannot be attributed to any other mental disorder. This
diagnosis was operationalized in the UM-CIDI as meeting ASP criteria A and C.
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2. Criteria for Conduct Disorder

Conduct Disorder is defined in DSM-III-R as a persistent pattern of conduct
in which the basic rights of others and major age-appropriate societal norms or
rules are violated. This diagnosis is made only for people under age 18. For
the diagnosis of lifetime Conduct Disorder, the age criterion was dropped in the
UM-CIDI: H1l4=>3.
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3. Nonaffective Psychosis (NAP)

The NCS assessed NAP using clinical reinterviews rather than the questions
included in the CIDI. The reasons for this were (i) that the ECA Study, which
used very similar questions to these in the CIDI to assess NAP, obtained
diagnoses with extremely low positive predictive value, and (ii) our own
experience training lay interviewers in this section for the NCS pilot studies
verified that these interviewers have great difficulty making the judgments
required for valid diagnosis.

Therefore, modified versions of the CIDI NAP symptom questions were used
as first-stage screens for psychosis in the NCS, followed by clinical
reinterviews to diagnose NAP. The latter interviews were carried out under the
direct supervision of Jamie Abelson, MSW and under the clinical supervision of
Kenneth Kendler, MD. A separate report by Kendler et al. describes the
procedures and results of the clinical reinterview study for NAP.
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********************************************************************;
********************************************************************;
* * .

’

NCS Diagnostic Computer Programs For *;
DSM-III-R *;

Affective/ Anxiety/ Substance Abuse and Dependenc Disorders *;

* % %k F X ¥ F
*

March 1994 *;

* * .
!
********************************************************************;

********************************************************************;



*************************************************************;

* * .
* 1. Not Affective Psychosis (n=50): Nap50 *;
* *

*************************************************************;

* NAP50 was diagnosed on a case by case basis by experts
in the NCS study. This variable was subsequently used
in the diagnosis of some other disorders. If this
diagnosis is not available to you, simply delete this
variable in the following programs. Since the number
of Nap50 cases is typically very small, deletion of this
variable will make little impact on the diagnostic outcome
in most cases.

*************************************************************;

* * .
* 2. Manic Episode: Manl, Man2, Hman *;
* *

*************************************************************;

**%x A: Persistent Mood - Elevated or Irritable
F: not due to medication;

if (v312 eq 1 and v1604 ne 1) then elevate=1;
if (v312 eq 1 and v1604 eq 1) then elevate=5;
if (elevate ne 1 and v313 eq 1 and v1607 ne 1) then irritab=1;
if (elevate ne 1 and v313 eq 1 and v1607 eq 1) then irritab=5;

*************************************************************;

*** BF: Symptoms in Worst Spell not due to Medication;

if v1608 eq 1 and v7302 eqg 1 and v7312 ne 1 then x1=1;
if v1610 eq 1 and v7303 eq 1 and v7313 ne 1 then x2=1;
if v1611l eq 1 and v7304 eq 1 and v7314 ne 1 then x3=1;
if v1612 eq 1 and v7305 eq 1 and v7315 ne 1 then x4=1;



if x1 egq 1 or x2 eq 1 then x5=1;
if %3 eg 1 or x4 eq 1 then x6=1;
if v161l3 eq and v7306 eq and v7316 ne then x7=1;
if v1614 eq and v7307 eq and v7317 ne then x8=1;
if v1e61l5 eqg and v7308 eq and v7318 ne then x9=1;
if v1617 egq and v7309 eq and v7319 ne then x10=1;
if v1el8 eq and v7310 eq and v7320 ne then x11=1;

S
H R PR R
BB R R R

and sum(of x5--x11) >
and sum(of x5--x11) <
and sum(of x5--x11) >
and sum(of x5--x11) <

2 then xel=1;
2 then xel=5;
3 then xbl=1;
3 then xbl=5;

if elevate eq
if elevate eqg
if irritab eg
if irritab eg

S

wn

if elevate eg and sum(of x5--x11)

> then xelm=1;
if irritab eq 5 and sum(of x5--x11) >

then xblm=1;

if xel=1 or xbl=1 then ABF1l=1;

*************************************************************;

*x* add comorbidity items;

if (xelm=1 or xblm=1) and
(v1i622=1 or v1623=5) and
((v1i749 “=1 or v1750 “=2) or
(v1i753 *=1 or v1754 “=1 or v1755

A

=2)) then ABF2=1;

*************************************************************;

*** Cl: Functional Impairment for Mania
C2: Funcitonal Impairment for Hypomania;

if (v1iée36=1 or v1637=1) then C=1;

*************************************************************;

*** DE: no overlap with schizophrenia;

if v4338=1 and
(((v4337=2 or v4337=3) and (v4340=2 and v4340=3))
Oor v4341=1) and nap50=1 then DE=1;

*************************************************************;

*** make diagnoses;



if (ABFl=1 or ABF2=1) and C=1 then manl=1; else manl=0;
label manl= 'manic episode w/o hierarchy';

if manl=1 and DE"=1 then man2=1; else man2=0;
label man2= 'manic episode w hierarchy';

if (ABFl=1 or ABF2=1) and manl’=1
then hman=1; else hman=0;
label hman= 'hypomanic w/o hierarchy';

*************************************************************,-

*** Onset, Recency;

if v1640=1 then tmanons=1;
else if v1640=2 then tmanons=2;
else if v1640=3 then tmanons=3;
else if v1640=4 then tmanons=4;
else tmanons=. ;

if (1 <= v1640 <= 3) then tmanonsa=vl12;
else if v1640=4 and (1 <= v1642 <= 54) then tmanonsa=v1642;
else if v1640=4 and (1 <= Vv1643 <= 54) then tmanonsa=v1643;
else tmanonsa=. ;

if v1640=1 or v1644=1 then tmanrec=1;

else if v1644=2 then tmanrec=2;
else if v1644=3 then tmanrec=3;
else if v1644=4 then tmanrec=4;
else tmanrec=. ;

if v1640=1 or (1 <= v1644 <= 3) then tmanreca=v12;
else if v1644=4 and (1 <= Vv1645 <= 54) then tmanreca=v1645;
else tmanreca=. ;
if manl=1 then do;
manons=tmanons; manonsa=tmanonsa;

manrec=tmanrec; manreca=tmanreca; end;

if hman=1 then do;



hmanons=tmanons; hmanonsa=tmanonsa;
hmanrec=tmanrec; hmanreca=tmanreca; end;

*************************************************************;

* * .

7
* 3. Major Depressive Episode: Depl, Dep2 *,
* * o

*************************************************************;

Al=0; A2=0; B=0; CD=0;

*** A 1: depressed for at least 2 weeks;

if v306=1 or v308=1 or v309=1 then ds9=1;
if v1121=1 and v1419=1 and v1519 “=1 then ds8=1;

if ds8=1 or ds9=1 then Al=1;

*************************************************************;

*** A 2: five or more depressive symptoms including ds8 & ds9;

if v1101=1 and v1401=1 and v1501 “=1 then sxl=1;
if v1103=1 and v1403=1 and v1503 “=1 then sx2=1;
if v1105=1 and v1404=1 and v1504 “=1 then sx3=1;
if v1106=1 and v1405=1 and v1505 “=1 then sx4=1;

if v1108=1 and v1406=1 and v1506 “=1 then sx5=1;
if v1110=1 and v1408=1 and v1508 “=1 then sx6=1;
if v1112=1 and v1410=1 and v1510 “=1 then sx7=1;
if v1114=1 and v1412=1 and v1512 “=1 then sx8=1;

if v1115=1 and v1413=1 and v1513 “=1 then sx9=1;

if v1118=1 and v1416=1 and v1516
if v1120=1 and v1418=1 and v1518

=1 then sx10=1;
=1 then sx11=1;

if v1126=1 and v1424=1 then sx12=1;
if v1129=1 and v1427=1 then sx13=1;

if v1133=1 and v1431=1 and v1531 “=1 then sx14=1;
if v1135=1 and v1433=1 and v1533 “=1 then sx15=1;



if v1136=1 and v1434=1 and v1534 “=1 then sx16=1;

if v1141=1 and v1436=1 then sx17=1;
if v1142=1 and v1437=1 then sx18=1;
if v1143=1 and v1438=1 then sx19=1;
if v1144=1 and v1439=1 then sx20=1;
if sx1=1 or sx2=1 or sx3=1 or sx4=1 then dsi=1;
if sx5=1 or sx6=1 or sx7=1 or sx8=1 then ds2=1;
if sx9=1 then ds3=1;
if sx10=1 or sx1l1l=1 then ds4=1;
if sx12=1 or sx13=1 then ds5=1;
if sx14=1 or sx15=1 or sxl6=1 then dsé6=1;

if sx17=1 or sx18=1 or sx19=1 or sx20=1 then ds7=1;

sxdep=sum(dsl,ds2,ds3,ds4,ds5,ds6,ds7,ds8,ds9) ;
if sxdep=>5 then A2=1;

************************************************************,-

*** B: not due to Bereavement;

if v1235=1 and (v1234 =>84 and v1234<=95) then lenl=1;
if v1235=2 and (v1234 =>12 and v1234<=95) then lenl=2;
if v1235=3 and (v1234 =>3 and v1234<=95) then lenl=3;
if v1235=4 and (v1234 =>1 and v1234<=95) then lenl=4;

if v1341=1 and (v1340 =>84 and v1340<=95) then len2=1;
if v1341=2 and (v1340 =>12 and v1340<=95) then len2=2;
if v1341=3 and (v1340 =>3 and v1340<=95) then len2=3;
if v1341=4 and (v1340 =>1 and v1340<=95) then len2=4;

D63=0; D74=0; D19=0; D27=0; D43=0; D44=0; D55=0;

if lenl=1 or lenl=2 or lenl=3 or lenl=4 then Dé63=1;
if len2=1 or len2=2 or len2=3 or len2=4 then D74=1;

if vid41ie=1 then D19=1;
if v1424=1 then D27=1;
if vi438=1 then D43=1;
if v1439=1 then D44=1;
if vi220=1 then D55=1;

count=sum(of D63 D74 D19 D27 D43 D44 DS5S5);

if v1228=5 or (v1305=5 or v1306=1) then deathil=1;
if count => 2 then death2=1;



if deathl=1 or death2=1 then B=1;

************************************************************;

*** C: never had mania or hypomania;
*** D: not due to schizophrenia;

if manl=1 or hman=1 then ddropl=1;

if (((v4337=2 or v4337=3) and (v4340=2 or v4340=3)) or
v4341=1) and nap50=1 then ddrop2=1;

if ddropl=1 or ddrop2=1 then CD=1;

*************************************************************;

**x* make diagnoses;

if Al=1 and A2=1 and B=1 then depl=1l; else depl=0;
label depl= 'MDE w/o hierarchy';

if depl=1 and CD"=1 then dep2=1; else dep2=0;
label dep2= 'MDE w hierarchy';

*************************************************************;

**%* Onset, Recency;
if depl=1 then do;

if v1225=1 or v1236=1 then depons=1;
else if v1225=2 or v1236=2 then depons=2;
else if v1225=3 or v1236=3 then depons=3;
else if v1225=4 or v1236=4 then depons=4;

else depons=. ;

if (1 <= v1225 <=3) then deponsa=vi12;
else if v1225=4 and (1 <= v1227 <=54) then deponsa=v1227;
else if (1 <= v1236 <=3) then deponsa=v12;

else if v1236=4 and (1 <= v1238 <=54) then deponsa=v1238;
else if v1236=4 and (1 <= v1239 <=54) then deponsa=v1239;

else deponsa=. ;
if (1 <= v1231 <=3) or v1230=2 then depreca=v12;
else if (1 <= v1233 <=54) then depreca=v1233;

else if (1 <= v1240 <=3) then depreca=vl2;



else if v1240=4

else

if v1231=1 or v1230=2

else if v1231=2 or v1240=2
else if v1231=3 or v1240=3
else if v1231=4 or v1240=4
else

end;

deprecas=. ;

or depons=1 or v1240=1 then

then
then
then

and (1 <= Vv1241 <=54) then depreca=v1241;

deprec=1;
deprec=2;
deprec=3;
deprec=4;
deprec=. ;

dkkdkhkkkdkhkhkhkhhkhhhhkhkhhhkhkhkkhkhkhkhkhhkdhdhdhhhkhhkdhkhkhhkddddhdhhddhhrhhhkhhhdhkhd .
’

*

*

*

4.

Dysthymia: Dysl, Dys2

khkkdkhkkhkdhkhkhkhhkdddhhkhkhdhdhdhdhhhkhkhhdhdhddhhhdhdhdhdkhkhkhkdkdhhhhrddrhhkdhhhkrdk .
’

A=0; BG=0;

C=0;

DE=0;

*** A: depressed for at least two years;

if

if

((24 <=
((2 <=
((24 <=
((2 <=

v1234
v1i234
v1340

AN AN A

98)
98)
98)

v1340 < 98)
if v306=1 or lengl=1l or leng2=1

and v1235=3)
and v1235=4)
and v1341=3)
and v1341=4)

or
then lengl=1;
or

then leng2=1;
then A=1;

*************************************************************;

*** BG: two Or more depressive symptoms not due to medication;

if
if
if
if
if
if
if
if
if

v1101=1
v1105=1

v1108=1
v1110=1
v1illz=1
v1ll4=1

v11l15=1

v1133=1
v1l36=1

and
and

and
and
and
and

and

and
and

v1ls501
v1504

v1506
v1508
v1510
v1l512

v1513

v1531
v1534

A

=1
=1

then
then

then
then
then
then

then

then
then

d2=1;
dé=1;

do=1;

dli=1;
dl3=1;
dils=1;
die=1;

d34=1;

d37=1;



if d2=1 or dé=1 then bl=1;
if d9=1 or dll=1 or di3=1 or di5=1 then b2=1;

if die=1 then b3=1;
if v1130=1 or v11l31l=1 then b4=1;
if d34=1 or d37=1 then b5=1;
if v1004=1 then bé6=1;

sxdys=sum(of bl--b6);
if sxdys=>2 and (v1205=1 or v1206=5) then BG=1;

*************************************************************;

**%x C: depressed w/o two months interruption;

if v307=1 or lengl=1l or leng2=1 then C=1;
*************************************************************;
**x* DE: hierarchy rules;

if manl=1 or hman=1 then sdropl=1l;

if (((v4337=2 or v4337=3) and (v4340=2 or v4340=3))
or v4341=1) and nap50=1 then sdrop2=1;

if sdropl=1 or sdrop2=1 then DE=1;
*************************************************************;
*** make diagnoses;

if A=1 and BG=1 and C=1 then dysl=1; else dysil=0;

label dysl= 'dysthymia w/o hierarchy';

**¥* if you don't like the UM recoding, use the following lines;
* if dysi=1 and DE"=1 then dys2=1; * else dys2=1;
* label dys2= 'dysthymia w hierarchy'’;

*************************************************************;
**%* Onset, Recency;

if dysi=1 then do;
dysons=4;



if v1007=1 and 1<=v1008<=54 then dysonsa=v1008;

else if 1<=v1009<=54 then dysonsa=v1009;
else if 1<=v1008<=54 then dysonsa=v1008;
else if v1343=1 and 1<=v1344<=54 then dysonsa=v1344;
else if 1<=v1345<=54 then dysonsa=v1345;
else if 1<=v1344<=54 then dysonsa=v1344;
else if 1<=v1227<=54 then dysonsa=v1227;
else dysonsa=. ;

if 1<=v1015<=4 then dysrec=v1015;
else if 1<=v1231<=4 then dysrec=v1231;

else if v1230=2 then dysrec=1;
else if 1<=v1346<=4 then dysrec=v1346;
else dysrec=. ;

if 1<=v1015<=3 then dysreca=v12;
else if v1015=4 and 1<=v1016<=54 then dysreca=v1016;
else if 1<=v1346<=3 then dysreca=vi2;
else if v1346=4 and 1<=v1347<=54 then dysreca=v1347;
else if v1230=2 then dysreca=v12;
else if 1<=v1231<=3 then dysreca=v12;
else if 1<=v1233<=54 then dysreca=v1233;
else dysreca=. ;
end;
hhkhkkhkdkhkhkhkhkdhkhkhkhkkhkhkdkdd DYSDEP ************************,-

* The aim of this addition is to create a variable called
Dysdep that includes all the dysthymic cases overlapping
with Major Depressive Episode in the first two years since
onset. These cases should then be used in Criterion D to
be excluded from the diagnosis of Dysthymia with hierarchy.

*** excluding 105+188 cases due to overlaps with depl;

*** 1) B3a=No and mood was more than 2 yrs;

if lenl=1 and v307°=1 and depl=1 then B3Aoutl=1;
if len2=1 and v307"=1 and depl=1 then B3Aout2=1;

*kk D) single episode mde **********************************,-

dysend=dysonsa + 1;
if (v1230=2 or 1<=v1231<4) then depend=vi12;else if v1231=4 and
1<=v1233<=55 then depend=v1233;



if (dysend=>depend=>dysonsa) or (dysend=>deponsa=>dysonsa) then
oversnl=1;
if oversnl=1l and (v1010=1 or v1010=3) and depl=1
then sinoutl=1;
if oversnl=1 and v1010=2 and (dysreca<=depend or
(dysonsa<=dysreca<=dysend)) and depl=1
then sinout2=1;
if deponsa<=dysonsa and depend=>dysreca and sinoutl”=1 and
sinout2”=1 and B3Aoutl”=1 and depl=1 then sinout3=1;

*** 3) multiple episode mde ***kkkkkkkkkkkkhdkkkhhhkkkrhhhhsk,

if v1343=1 and 1<=v1344<=55 then D76onsa=v1344;else if v1343=5
and 1<=v1345<=55 then D76onsa=v1345;

longonsa=(D76onsa + 1);

if 1<=v1348<=55 then D78onsa=v1348;else if v1348=95 and
1<=v1350<=55 then D78onsa=v1350;

if 1<=v1340<98 then long=v1340;

if v1341=2 then do; longdep=long/52; end;
else if v1341=3 then do; longdep=long/12; end;
else if v1341=4 then longdep=1long;

if ((24<=v1011<98) and v1012=3) or
((2 <=v1011<98) and v1012=4) then yr2=1;

if ((60<=v1013<98) and v101l4=1) or
((8 <«<=v1013<98) and v1014=2) or
((2 <«=v1013<98) and v1014=3) or
((1 <=v1013<98) and v1014=4) then mth2=1;

if 1<=v1346<=3 then D77rec=v12;
longrec=(D77rec - 1);

D76len=(D77rec - D76onsa);

if 1<=v1346<=3 then D77reca=vl12;
else if V1346=4 and 1<=v1347<=55 then D77reca=v1347;

if (dysonsa <= deponsa <= dysend) or
(dysonsa <= depreca <= dysend) or
(dysonsa <= D78onsa <= dysend) or
(dysonsa <= longonsa <= dysend) or
(dysonsa <= longrec <= dysend) then overmul=1l;

if overmul=1] and v1010=1 and depl=1 then muloutl=1;
if overmul=1 and v1010=2 and (v1301l=5 or v1302=5 or v1303=5)



if

if

if

and depl=1 then mulout2=1;
D76éonsa<=dysonsa and longonsa=>dysreca and depil=1
then mulout3=1;
longrec<=dysonsa and D77rec=>dysreca and depl=1
then mulout4=1;
(D76len<=1longdep) and D76onsa<=dysend and D77reca=>dysreca
and depl=1 then mulout5=1;

*************************************************************;

if

B3Aoutl=1l or sinoutl=1l or sinout2=1 or sinout3=1 or
B3Aout2=1 or muloutl=1l or mulout2=1 or mulout3=1 or
mulout4=1 or mulout5=1 then dysdep=1; else dysdep=0;

*************************************************************;

if

dysl=1 and DE"=1 and dysdep”=1 then dys2=1; else dys2=0;

label dys2= 'dysthymia w hierarchy';

*************************************************************;

*

*

*

5. GAD: gadl, gad2 *;

*************************************************************;

A=0; B=0; C=0; DE=0;

*** A: excessive worry for 6 months;

if

if
if
if
if
if
if

if
if

if

v305=1 then monthl=1;

v304=1 and v303=>180 then mthl=1;

v304=2 and (24<=v303<=95) then mth2=1;

v304=3 and (6 <=v303<=95) then mth3=1;

v304=4 and (1 <=v303<=95) then mth4=1;

(v303=98 or v303=99) and v305=1 then mth5=1;

mthl=1 or mth2=1 or mth3=1 or mth4=1 or mth5=1 then monthé6=1;

v803=1 or v804=1 then worry=1;
v805=1 then thing2=1;

monthé6=1 and worry=1 and thing2=1 then A=1;



*************************************************************;

*** B: worry unrelated to one's physical conditions;

if v806=1 or v807=2 then B=1;

*************************************************************;

*¥*x C: worry not during mood or psychotic disorder;

if v1546=1 and ((v1547=2 or v1547=3) and (v1548=1 or v1548=3))
or (v1556=1 and v1557=1 and ((v1558=2 or v1558=3) and
(v1559=1 or v1559=3))) then gaddep=1; else gaddep=0;
if gaddep=1 and depl=1 then gdropl=1l; else gdropl=0;

if v4331=1 and ((v4332=2 or v4332=3) and (v4333=1 or v4333=3))
and nap50=1 then gdrop2=1; else gdrop2=0;

if gdropl=1 or gdrop2=1 then C=1;

*************************************************************;

**¥* DE: 6 Oor more anxiety symptoms not due to organic factors;

array s{23} v808-v830;

array p{23} v902-v924;

do i=1 to 23;

if s{i}=1 and p{i}”=1 then s{i}=1; else s{i}=0;
end; drop i;

if v817=1 or v830=1 then setl=1l; else setl=0;
if v820=1 or v825=1 then set2=1; else set2=0;
if v819=1 or v824=1 then set3=1l; else set3=0;

array h{18)} setl set2 set3 v808-v816 v818 v821-v823 v826-v827;
count=0;

do i=1 to 18;

if h{i}=1 then count=count+l;

end; drop 1i;

if count=>6 then DE=1;

*************************************************************;

*** exclude those with onset & recency inconsistency;



if v925=2 and v929”=1 then gdrop=1;
*************************************************************;
*** make diagnoses;

if A=1 and B=1 and DE=1 and gdrop”=1 then gadl=1l; else gadl=0;

label gadl= 'gad w/o hierarchy';

if gadl=1 and C*=1 then gad2=1; else gad2=0;
label gad2= 'gad w hierarchy';

*************************************************************;

*** Onset, Recency;

if gadi=1 then do;

if v926=0 and (1<=v925<=3) then gadonsa=v12;
else if v925=4 and v926=1 and (1<=v927<=56) then gadonsa=v927;
else if v925=4 and (1<=v928<=56) then gadonsa=v928;
else if v925=4 and (1<=v927<=56) then gadonsa=v927;
else gadonsa-=. ;

if (2<=v925<=4) then gadons=v925;
else if gadonsa 1t vi2 then gadons=4;
else gadons=. ;

if (1<=v929<=3) or v925=1 then gadreca=v12;
else if v929=4 and (1<=v930<=55) then gadreca=v930;
else gadreca=. ;

if v925=1 and v929=0 then gadrec=1;

else if (1<=v929<=4) then gadrec=v929;
else gadrecs=. ;
end;

*************************************************************;

* * -
* 6. Agoraphobia: ago *;
* * .

*************************************************************;

A=0; B=0; C=0;



**%* A: experienced at least one fear;

if v320=1 then A=1;

*************************************************************;

*xx B: fear of collapsing and incapacitating symptoms;

if v323=1 or v324=1 then B=1;

*************************************************************;

*** C: gymptoms of severe anxiety, avoidance, endurance;

if v321=1 or v322=1 or v325=1 or v334=1 or v335=1 or
(v337 in (1,2,3)) then C=1;

*************************************************************;

*** make diangosis;

if A=1 and B=1 and C=1 then ago=1l; else ago=0;
label ago= 'agoraphobia';

*************************************************************;

*** Onset, Recency;

if ago=1 then do;

if v340=0 and (1<=v339<= 3) then agonsa=v12;
else if v339=4 and v340=1 and (1l<=v341l<=56) then agonsa=v341;
else if v339=4 and (1<=v342<=56) then agonsa=v342;
else if v339=4 and (1<=v341<=56) then agonsa=v341;
else agonsas=. ;

if (1<=v339<=4) then agons=v339;
else if agonsa 1lt v1l2 then agons=4;
else agons=. ;

if v339=1 or (1<=v343<=3) then agreca=vi12;
else if v343=4 and (1<=v344<=55) then agreca=v344;
else agrecas=. ;



if v339=1 and v343=0 then agrec=1;

else if (1<=v343<=4) then agrec=v343;
else agrec=. ;
end;

*************************************************************;

* * .
* 7. Simple Phobia: sim *;

* * .
7

*************************************************************;

AE=0; B=0; C=0; D=0;

*** A & E: persistent fear of a circumscribed stimulus;

if v511=1 and (v512=1 or v513=1) then AE=1;

*************************************************************;

*** B: immediate anxiety response upon exposure;

if v533=1 then B=1;

*************************************************************;

*%*%* C: avoidance or endurance;

if v513=1 or v523 in (1,2,3) or v531l=1 or v532=1 or v533=1 then

*************************************************************;

*%x* D: functional impairment;

if v521=1 or v522=1 or v523=1 then D=1;

*************************************************************;

*** make diagnosis;

if AE=1 and B=1 and C=1 and D=1 then sim=1; else sim=0;



label sim= 'simple phobia‘';
*************************************************************;
*** Onset, Recency;

if sim=1 then do;

if (1<=v525<=4) then simons=v525;
else simons-=. ;

if v526=1 and 1<=v527<=54 then simonsa=v527;

else if 1<=v528<=54 then simonsa=v528;
else if 1<=v527<=54 then simonsa=v527;
else if 1<=v525<=3 then simonsa=v12;
else simonsa=. ;

if v525=1 then simrec=1;
else if (1<=v529<=4) then simrec=v529;
else simrec=. ;

if 1<=v529<=3 then simreca=vl12;
else if 1<=v530<=54 then simreca=v530;
else simreca=. ;
end;

*************************************************************;

* * .

I
* 8. Social Phobia: soc *;
* * .

!
*************************************************************;

AF=0; C=0; D=0; E=0;

*** A & F: persistent fear of social phobic situations;

if v407=1 and (v408=1 or v409=1) then AF=1;

*************************************************************;

*** C: immediate anxiety response upon exposure;

if v429=1 or v430=1 then C=1;



*************************************************************.
[

*** D: avoidance or endurance;

if v409=1 or v419 in (1,2,3) or v427=1 or v428=1 or v429=1 then D=1;

*************************************************************;

*** E: functional impairment;

if v417=1 or v418=1 or v419=1 then E=1;

*************************************************************;

*** make diagnosis;

if AF=1 and C=1 and D=1 and E=1 then soc=1; else soc=0;
label soc= 'social phobia';

*************************************************************;

*** Onset, Recency;
if soc=1 then do;

if (1<=v421<=4) then socons=v421;
else socons=.;

if v422=1 and 1<=v423<=54 then soconsa=v423;

else if 1<=v424<=54 then soconsa=v424;
else if 1<=v423<=54 then soconsa=v423;
else if 1<=v421<=3 then soconsa=v12;
else soconsa=. ;

if v421=1 then socrec=1;
else if (1<=v425<=4) then socrec=v425;
else socrecs=.;

if l<=socrec<=3 then socreca=v12;
else if 1<=v426<=54 then socreca=v426;
else socreca=. ;

end;



khkkkdkhkdkhkhhkhkhkhkhhdhdddhdddhhhkhkhhkhkrhhkhkhhhdhrrrrdhrhrhhhrhkrkhkdkrhrhkdddhr -
’

* * .
* 9. Panic Disorder, Panic Attack: pd, pt *;
* * .

dhkkdkdhkhkhkhkhkhkdhkhkhhkdhdhdhdhhkhkhkhkhkhkdrhhhhkdhdkhhkhkhkhdbddhrdhddddrhhhdrdhhhd .
’

A=0; B=0; C=0; D=0; E=0;

*** A: sudden episode of intense fear;

if v301=1 and v609=1 then A=1;

*************************************************************;

*** B: frequency of attacks;

if ((v701 eq 1) or (v638 eq 1) or (v642 eq 1)) then B=1;

*************************************************************;

*** C: four or more panic symptoms;

if ((vel0 eq 1) or (vé626 eqg 1)) then pal=1l;
if ((vé6l2 eq 1) or (vé6lée eq 1)) then pa2=1;
if ((v624 eq 1) or (v625 eqg 1)) then pa3=1;

array y{13} pal-pa3 v61ll v613-v615 v617-v620 v622-v623;
nom4=0; do i=1 to 13;

if y{i}=1 then nom4=nom4+1; end;
if nom4=>4 then C=1;

*************************************************************;

*** D: intensity of attacks;

if v629=1 then D=1;

*************************************************************;

*** E: not due to physical injury or organic factors;



if v718%=1 and v719”=1 then E=1;

*************************************************************;

**** exclude those always occurred in agoraphobic situations;
if (v732=1 or v733=1) and v734=5 then agout=1;

*************************************************************;

*x* make diagnoses;

if A=1 and B=1 and C=1 and D=1 and E=1 and agout”=1 then pd=1; else
pd=0;
label pd= 'panic disorder';

if A=1 and C and D=1 then pt=1; else pt=0;
label pt= 'panic attacks';

*************************************************************;

*** Onset, Recency;
if pt=1 then do;

if v630=1 then ptons=1;
else if v630=2 then ptons=2;
else if v630=3 then ptons=3;
else if v630=4 then ptons=4;
else ptons=.;

if (1 <= v630 <= 3) then ptonsa=vl12;
else if v630=4 and (1 <= v632 <= 54) then ptonsa=v632;
else if v630=4 and (1 <= v633 <= 54) then ptonsa=v633;
else ptonsa=. ;

if v630=1 or v634=1 then ptrec=1;

else if v634=2 then ptrec=2;
else if v634=3 then ptrec=3;
else if ve634=4 then ptrec=4;
else ptrec=.;

if v630=1 or (1 <= v634 <= 3) then ptreca=vi2;
else if v634=4 and (1 <= v635 <= 54) then ptreca=v635;



else ptreca=.;

end;

if pd=1 then do;

if v638=1 and v639=1 and (1 <= v640 <= 54) then pdonsa=V640;
else if v638=1 and v639=5 and (1 <= v641 <= 54) then pdonsa=v641;
else if v642=1 and v643=1 and (1 <= V644 <= 54) then pdonsa=v644;
else if v642=1 and v643=5 and (1 <= v645 <= 54) then pdonsa=v645;

if ptons=1 and pd=1 then pdons=1;
else if ptons=2 and pd=1 then pdons=2;
else if ptons=3 and pd=1 then pdons=3;

else if ptons=4 and pd=1 and pdonsa=v12 then pdons=3;
else if ptons=4 and pd=1 and pdonsa<vl2 then pdons=4;

pdrec =ptrec;
pdreca=ptreca;

end;

*************************************************************;

* * .
* 10. Post-Traumatic Stress Disorder: ptsd *,;
* * -
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A=0; B=0; C=0; D=0; E=0;

*** 2. experiencing a trauma;

if v6101=1 or v6102=1 or v6104=1 or v6109=1 or v61l1l4=1 or v6126=1 or
v6138=1 or v6143=1 Or v61l44=1 or v6145=1 or v6201l=1 or v6209=1

then A=1;

*************************************************************;*** B:

re-experiencing the trauma;
if v6217=1 or v6218=1 or v6219=1 or v6220=1 then B=1;

*************************************************************;*** C:
three or more avoidance reactions;

array x{7} v6222-v6228;

countl=0; do i=1 to 7;

if x{i}=1 then countl=countl+1l; end; drop i;



if countl=>3 then C=1;

*************************************************************;*** D:

two or more arousal symptoms;

array z{6} v6231-v6236;

count2=0; do i=1 to 6;

if z{i}=1 then count2=count2+1; end; drop i;
if count2=>2 then D=1;

*************************************************************;*** E:

duration of at least one month;
if (v6242=1 and v6241=>30 and v6241<=96) or (v6242=2 and v6241=>4
and v6241<=96) or
(v6242=3 and v6241=>1 and v6241<=96) or (v6242=4 and v6241=>1
and v6241<=96) oOr v6241=96
then E=1;

*************************************************************;*** make

diagnoses;

if A=1 and B=1 and C=1 and D=1 and E=1 then ptsd=1; else ptsd=0;label
ptsd= 'post-traumatic disorder’';

*************************************************************;

* * .
* 11. Anti-social Personality Disorder: aspl, asp2 *
* * .

!
*************************************************************;

len=v4516-v4509;
*** code item C_9: stable relations;

if v4503=5 or v4628=5 then srl=5;
if v4513=5 and len<=2 and v4519=5 then sr2=5;

if sr1=5 or sr2=5 then sr=5; else sr=1;
if v3807=99 then v3807=.;

subtot=v3807;

if sr=1 then aspc=subtot;

* add sr to criterion C;

if sr=5 then aspc=subtot+1;

if v3812"=1 or (v3812=1 and nap50”°=1 and Manl”=1 and hman”=1)
then mood=1; else mood=0;



*** make diagnoses;

if v3803=99 then v3803=.;

if v12=>18 and v3803=>3 and aspc=>4 then aspl=1; else aspl=0;
label aspl= 'asp w/o hierarchy';

if v12=>18 and v3803=>3 and aspc=>4

and mood=1 then asp2=1; else asp2=0;
label asp2= 'asp w hierarchy’;

*************************************************************;

* * .
* 12. Adult Anti-social Behavior: aab *
* %* o

*************************************************************;

if v12=>18 and aspc=>4 then aab=1; else aab=0;
label aab= 'adult anti-social behavior';

*************************************************************;

* * .
* 13. Conduct Disorder: cd *;

* * .
!

*************************************************************;

if v3803=>3 then cd=1; else cd=0;
label cd= 'conduct disorder’';

*************************************************************;
*************************************************************;

* .
’

14. Substance Abuse and Dependence Disorders

* ok ok % X

*
*
* .
*
*
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*************************************************************;
*************************************************************;

* %
3
* Substance Abuse and Dependence Disorders *;
* %
’
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/*

Overview of 6 drug programs:

(1) command file DRUG1.SAS creates the following variables:
DLIFxxx: DEPENDENCE, LIFETIME

(2) command file DRUG2.SAS creates the following variables:
DLOAxxx: DEPENDENCE, LIFETIME, ONSET AGE

(3) command file DRUG3.SAS creates the following variables:

(** denotes: "Full Dependence Criteria Not Required")

**% D1Pxxx: Dependence- Ever had at least 1 problem

** D1POAxxx: Dependence first Problem Onset Age

*%* DPRECxxx: Dependence problem, RECENCY

** DPRAGxxx: Dependence problem, RECENCY AGE
DFlYxxx: DEPENDENCE, FULL criteria in PAST 12 MONTHS (Y/N)
DF1Mxxx: DEPENDENCE, FULL criteria in PAST MONTH

(4) command file DRUG4.SAS creates the following variables:

ALIFxxx: ABUSE, LIFETIME
ALOAxxx: ABUSE, LIFETIME, ONSET AGE

*%* APRECxxx: ABUSE, PROBLEM, RECENCY

*% APRAGxxx: ABUSE, PROBLEM, RECENCY AGE
ASRECxxx: ABUSE, SYMPTOM RECENCY
ASRAGxxx: ABUSE, SYMPTOM RECENCY AGE
AFlYxxx: ABUSE, FULL criteria in PAST 12 MONTHS (Y/N)
AF1Mxxx: ABUSE, FULL criteria in PAST MONTH

(5) command file TOBACCO.SAS creates the following variables:
RCUSETOB: recency of use, tobacco
DLIFTOB: dependence lifetime tobacco
DLOATOB: dependence lifetime ONSET AGE
D1PTOB: ever had at least 1 problem with tobacco
D1POATOB: dependence first problem ONSET AGE
DPRECTOB: dependence problem RECENCY
DPRAGTOB: dependence problem RECENCY AGE
DF1YTOB: dependence full criteria in past year
DFIMTOB: dependence full criteria in past 1 month

(6) command file DRUG5.SAS creates ANY CONTROLLED SUBSTANCE vars:
DLIFCON: Dep Lifetime any controlled substance (exclude alc
and tob)
DLOACON: Dep lifetime any controlled substance onset age
*%* D1POACON: Dep first prob onset age any controlled substance
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**% DPRECCON: Dep problem recency any controlled substance
*%* DPRAGCON: Dep problem recency age any controlled substance
ALIFCON: Abuse lifetime any controlled sub (exclud alc and
tobacco)
ALOACON: Abuse lifetime onset age any controlled substance
*%* APRECCON: Abuse Problem Recency any controlled substance
*% APRAGCON: Abuse Problem recency age any controlled substance

T T R e e R R e T e e s e s )

Note: Before writing programs in this section, we need to
clean the data so that a respondent won’t have valid
information on the onset/recency of a symptom (Gxxb-d)
unless the symptom has been endorsed (Gxxa=l). Otherwise,
we need to modify the following types of conditional
statements whenever they occur:

e.g., IF G32ATRQ=1 AND
((1<=G32CTRQ<=3) AND (CRTAGE>G32BTRQ)) OR
((G32CTRQ=4) AND (1<=DB32TRQ<=54))
THEN TRQ32A6=1

which should be changed to

IF G32ATRQ=1 AND

(((1<=G32CTRQ<=3) AND (CRTAGE>G32BTRQ)) OR
((G32CTRQ=4) AND (1<=DB32TRQ<=54)))

THEN TRQ3246=1

The third parenthesis is added to make sure that all

those who have met the duration criterion also met
the symptom criterion.
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*
setting all zero and >= 96 to new code 999 (to eliminate *;
problems with missing data in age comparisons) and assigning *;
names to variable numbers *-

*.

’
I
’
’

* % % % %

’

AR Rkl ke
array miss{*) v1801--v3757;
do i=1 to dim(miss);
if miss{i)=0 or miss{i)=. or miss{i) >= 96 then miss(i}=999;

end;
drop 1i;
crtage=vl2;

/* vars for use with abuse of alcohol (drinks in past year)*/

£5=v1805; £f6=v1806; £7=v1807; £8=v1808;

/* vars for later use with past year dependence¥*/
gld=v1822; g2d=v1830; g3d=v1838; g4d=v1846; g5d=v1904;
g6d=v1910; g7d=v1916; g8d=v1922; g9d=v1928;

/* RECENCY OF USE (sedative thru heroin)*/
rcusesed=v1822; rcusetrq=v1830; rcusesti=v1838§;
rcuseags=v1846; rcuseinh=v1904; rcusemar=v1910;
rcusecoc=v1916; rcusehal=v1922; rcuseher=v1928;

/* vars holding "age first use"*/

agefsed=v1820;
ageftrq=v1828;
agefsti=v1836;
agefags=v1844;
agefinh=v1902;
agefmar=v1908;
agefcoc=v1914;
agefhal=v1920;
agefher=v1926;
g30aalc=v2002;

g3laale=v2102;

g32aalc=v2202;

g33aalc=v2302; g34aalc=v2402; g36aalc=v2502;
g37aalc=v2602; g38aalc=v2702; g&laalc=v2802;
ghtaalc=v2902; g43aalc=v3002; ghbaalc=v3102;
ghbaalc=v3202; g47aalc=v3302; g48aalc=v3402;

gh49aalc=v3502;

g50aalc=v3602;

g5laale=v3643;

g52aale=v3702;

g30balc=v2003; g30calc=v2004; g30dalc=v2005;

g31balc=v2103; g3lcale=v2104; g3ldalc=v2105;

g32balc=v2203; g32calc=v2204; g32dalc=v2205; g32ealc=v2206;
g33balc=v2303; g33calc=v2304; g33dalc=v2305;

g34balc=v2403; g34calc=v2404; g34dalc=v2405;

g36balc=v2503;

g37balc=v2603; g37calc=v2604; g37dalc=v2605;

g38balc=v2703;

g38cale=v2704;

g38dalc=v2705;
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g4lbalc=v2803; g4lcalc=v2804; g4ldalc=v2805;
gt2balc=v2903; g42calc=v2904; gi42dalc=v2905;
g43balc=v3003; g43calc=v3004; g43dalc=v3005;
ghtbalc=v3103; ghbcalc=v3104; gi4dalc=v3105;
ghbbalc=v3203; ghbcalc=v3204; g46dalc=v3205;
g47balc=v3303; g47calc=v3304; g47dalc=v3305;
g48balc=v3403; gi48calc=v3404; g48dalc=v3405;
g49balc=v3503; g49calc=v3504; g49dalc=v3505;
g50balc=v3603; g50calc=v3604; g50dalc=v3605;

/* note: there is only g5la. the b,c,d were omitted*/
g52balc=v3703; g52calc=v3704; g52dalc=v3705;
g30ased=v2006; g3lased=v2106; g32ased=v2207;
g33ased=v2306; g34ased=v2406; g36ased=v2504;
g37ased=v2606; g38ased=v2706; g4lased=v2806;
ght2ased=v2906; gi43ased=v3006; gibased=v3106;
gbbased=v3206; g47ased=v3306; gi48ased=v3406;
gh9ased=v3506; g50ased=v3606; gilased=v3644;
g52ased=v3706;
g30bsed=v2007; g30csed=v2008; g30dsed=v2009;
g31bsed=v2107; g3lcsed=v2108; g3ldsed=v2109;
g32bsed=v2208; g32csed=v2209; g32dsed=v2210; g32esed=v221l;

glf=v1824;
g33bsed=v2307; g33csed=v2308; g33dsed=v2309;
g34bsed=v2407; g34csed=v2408; g34dsed=v2409;
g36bsed=v2505;
g37bsed=v2607; g37csed=v2608; g37dsed=v2609;
g38bsed=v2707; g38csed=v2708; g38dsed=v2709;
gblbsed=v2807; ghlcsed=v2808; g4ldsed=v2809;
g42bsed=v2907; g42csed=v2908; g42dsed=v2909;
g43bsed=v3007; g43csed=v3008; g43dsed=v3009;
gtbbsed=v3107; ghbcsed=v3108; g4idsed=v3109;
gtbbsed=v3207; ghbcsed=v3208; g4bdsed=v3209;
g47bsed=v3307; g47csed=v3308; g47dsed=v3309;
g4t8bsed=v3407; g48csed=v3408; g48dsed=v3409;
g49bsed=v3507; gh9csed=v3508; g49dsed=v3509;
g50bsed=v3607; g50csed=v3608; g50dsed=v3609;
g52bsed=v3707; g52csed=v3708; g52dsed=v3709;
g30atrq=v2010; g3latrq=v2110; g32atrq=v2212;
g33atrq=v2310; g34atrq=v2410; g36atrq=v2506;
g37atrq=v2610; g38atrq=v2710; g4latrq=v2810;
gt2atrq=v2910; g43atrq=v3010; g4batrq=v31l1l0;
gbbatrq=v3210; g47atrq=v3310; g48atrq=v3410;
gt9atrq=v3510; g50atrq=v3610; gSlatrq=v3645;
g52atrq=v3710;
g30btrq=v201l; g30ctrq=v2012; g30dtrq=v2013;
g31lbtrq=v211ll; g3lctrq=v2112; g3ldtrq=v2113;
g32btrq=v2213; g32ctrq=v2214; g32dtrq=v2215; g32etrq=v2216;

g2f=v1832;
g33btrq=v231l; g33ctrq=v2312; g33dtrq=v2313;
g34btrq=v2411; g34ctrq=v2412; g34dtrq=v2413;
g36btrq=v2507; _
g37btrq=v2611; g37ctrq=v2612; g37dtrq=v2613;
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g38btrq=v2711; g38ctrq=v2712; g38dtrq=v2713;
g4lbtrq=v281l; g4lctrq=v2812; g4ldtrq=v2813;
g42btrq=v2911; ghl2ctrq=v2912; g42dtrq=v2913;
g43btrq=v301ll; g43ctrq=v3012; g43dtrq=v3013;
ghbbtrg=v311ll; g4bctrq=v311l2; g44dtrq=v31ll3;
gbbbtrq=v321l; ghbctrq=v3212; g46dtrq=v3213;
g47btrq=v331l; g47ctrq=v3312; g47dtrg=v3313;
gh8btrq=v341l; g48ctrq=v3412; g48dtrq=v3413;
g4obtrq=v351l; g49ctrq=v3512; g49dtrg=v3513;
g50btrgq=v3611; g50ctrq=v3612; g50dtrq=v3613;
g52btrq=v3711; g52ctrq=v3712; g52dtrq=v3713;
g30asti=v2014; g3lasti=v2114; g32asti=v2217;
g33asti=v231l4; g3basti=v2414; g36asti=v2508;
g37asti=v2614; g38asti=v2714; ghlasti=v2814;
gt2asti=v2914; ghlasti=v3014; ghbasti=v31l4;
ghbasti=v3214; gh7asti=v331l4; ghBasti=v341l4;
gh9asti=v3514; g50asti=v3614; g5lasti=v3646;
g52asti=v3714;
g30bsti=v2015; g30csti=v2016; g30dsti=v2017;
g31lbsti=v2115; g3lesti=v2116; g3ldsti=v2117;
g32bsti=v2218; g32csti=v2219; g32dsti=v2220; g32esti=v2221;
g3f=v1840;
g33bsti=v2315; g33csti=v2316; g33dsti=v2317;
g34bsti=v2415; g34csti=v2416; g34dsti=v2417;
g36bsti=v2509;
g37bsti=v2615; g37csti=v2616; g37dsti=v2617;
g38bsti=v2715; g38csti=v2716; g38dsti=v2717;
ghlbsti=v2815; g4lcsti=v2816; g4ldsti=v2817;
g42bsti=v2915; g42csti=v2916; g42dsti=v2917;
gh3bsti=v3015; g43csti=v3016; g43dsti=v3017;
ghbtbsti=v3115; ghb4csti=v3116; gs4dsti=v31l7;
ghbbsti=v3215; ghbesti=v3216; ghbdsti=v3217;
gh7bsti=v3315; g47csti=v3316; g47dsti=v3317;
gh8bsti=v3415; g48csti=v3416; g48dsti=v341l7;
gh9bsti=v3515; g49csti=v3516; g49dsti=v3517;
g50bsti=v3615; g50csti=v3616; g50dsti=v3617;
g52bsti=v3715; g52csti=v3716; g52dsti=v3717;
g30aags=v2018; g3laags=v2118; g32aags=v2222;
g33aags=v2318; g34aags=v2418; g36aags=v2510;
g37aags=v2618; g38aags=v2718; ghlaags=v2818;
gh2aags=v2918; g4laags=v3018; ghbaags=v3118;
ghbaags=v3218; gh7aags=v3318; ghBaags=v3418;
gh9aags=v3518; g50aags=v3618; g5laags=v3647;
g52aags=v3718;
g30bags=v2019; g30cags=v2020; g30dags=v2321;
g3lbags=v2119; g3lcags=v2120; g3ldags=v2321;
g32bags=v2223; g32cags=v2224; g32dags=v2225; g32eags=v2226;
g4f=v1848;
g33bags=v2319; g33cags=v2320; g33dags=v2321;
g34bags=v2419; g34cags=v2420; g34dags=v2421;
g36bags=v2511;
g37bags=v2619; g37cags=v2620; g37dags=v2621;
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g38bags=v2719; g38cags=v2720; g38dags=v2721;
gtlbags=v2819; g4lcags=v2820; gi4ldags=v2821;
gt2bags=v2919; g42cags=v2920; gi42dags=v2921;
g43bags=v3019; g43cags=v3020; gi43dags=v3021;
gbbbags=v3119; g4bcags=v3120; gi4dags=v3121;
ghbbags=v3219; g4bcags=v3220; gi4bdags=v3221;
gt7bags=v3319; g47cags=v3320; g4/dags=v3321;
g48bags=v3419; g48cags=v3420; gi8dags=v3421;
gb9bags=v3519; gh9cags=v3520; git9dags=v3521;
g50bags=v3619; g50cags=v3620; g50dags=v3621;
g52bags=v3719; g52cags=v3720; g52dags=v3721;
g30ainh=v2022; g3lainh=v2122; g32ainh=v2227;
g33ainh=v2322; g34ainh=v2422; g36ainh=v2512;
g37ainh=v2622; g38ainh=v2722; g4lainh=v2822;
g42ainh=v2922; g43ainh=v3022; g44ainh=v3122;
gh6ainh=v3222; g47ainh=v3322; g48ainh=v3422;
g49ainh=v3522; g50ainh=v3622; -g5lainh=v3648;
g52ainh=v3722;
g30binh=v2019; g30cinh=v2020; g30dinh=v2021;
g31lbinh=v2119; g3lcinh=v2120; g3ldinh=v2121;
g32binh=v2228; g32cinh=v2229; g32dinh=v2230; g32einh=v2231;
g5f=v1906;
g33binh=v2323; g33cinh=v2324; g33dinh=v2325;
g34binh=v2423; g34cinh=v2424; g34dinh=v2425;
g36binh=v2513;
g37binh=v2623; g37cinh=v2624; g37dinh=v2625;
g38binh=v2723; g38cinh=v2724; g38dinh=v2725;
gtlbinh=v2823; g4lcinh=v2824; g4ldinh=v2825;
ght2binh=v2923; g42cinh=v2924; g42dinh=v2925;
g43binh=v3023; g43cinh=v3024; g43dinh=v3025;
ghtbinh=v3123; g44cinh=v3124; g44dinh=v3125;
gt6binh=v3223; g46cinh=v3224; g46dinh=v3225;
gh7binh=v3323; g47cinh=v3324; g47dinh=v3325;
gh8binh=v3423; gh8cinh=v3424; g48dinh=v3425;
ghobinh=v3523; g49cinh=v3524; g49dinh=v3525;
g50binh=v3623; g50cinh=v3624; g50dinh=v3625;
g52binh=v3723; g52cinh=v3724; g52dinh=v3725;
g30amar=v2026; g3lamar=v2126; g32amar=v2232;
g33amar=v2326; g34amar=v2426; g36amar=v2514;
g37amar=v2626; g38amar=v2726; gilamar=v2826;
gh2amar=v2926; g43amar=v3026; g4bamar=v3126;
ghbamar=v3226; g47amar=v3326; gi48amar=v3426;
gh9amar=-v3526; g50amar=v3626; g5lamar=v3649;
g52amar=v3726;
g30bmar=v2027; g30cmar=v2028; g30dmar=v2029;
g31lbmar=v2127; g3lcmar=v2128; g3ldmar=v2129;
g32bmar=v2233; g32cmar=v2234; g32dmar=v2235; g32emar=v2236,
g6f=v1912;
g33bmar=v2327; g33cmar=v2328; g33dmar=v2329;
g34bmar=v2427; g34cmar=v2428; g34dmar=v2429;
g36bmar=v2515;
g37bmar=v2627; g37cmar=v2628; g37dmar=v2629;
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g38bmar=v2727;
g4lbmar=v2827;
g42bmar=v2927;
gh3bmar=v3027;
ghbtbmar=v3127;
gh6bmar=v3227;
g47bmar=v3327;
g48bmar=v3427;
g49bmar=v3527;
g50bmar=v3627;
g52bmar=v3727;
g30acoc=v2030;
g33acoc=v2330;
g37acoc=v2630;
gh2acoc=v2930;
ghbacoc=v3230;
gh9acoc=v3530;
g52acoc=v3730;
g30bcoc=v2031;
g31lbcoc=v2131;
g32bcoc=v2238;

g7f=v1918;

g33bcoc=v2331;
g34bcoc=v2431;
g36bcoc=v2517;
g37bcoc=v2631,;
g38bcoc=v2731;
g4lbcoc=v2831;
gh2bcoc=v2931;
gh3bcoc=v3031;
ghbbcoc=v3131;
ghbbcoc=v3231;
gh7bcoc=v3331;
g48bcoc=v3431;
g49bcoc=v3531;
g50bcoc=v3631;
g52bcoc=v3731;
g30ahal=v2034;
g33ahal=v2334;
g37ahal=v2634;
gh2ahal=v2934;
g4b6ahal=v3234;
g49ahal=v3534;
g52ahal=v3734;
g30bhal=v2035;
g31lbhal=v2135;
g32bhal=v2243;

g8f=v1924;

g38cmar=v2728;
ghlcmar=v2828;
gh2cmar=v2928;
g43cmar=v3028;
g4bcmar=v3128;
ghbcmar=v3228;
g47cmar=v3328;
g48cmar=v3428;
g49cmar=v3528;
g50cmar=v3628;
g52cmar=v3728;
g3lacoc=v2130;
g34acoc=v2430;
g38acoc=v2730;
gh3acoc=v3030;
gb7acoc=v3330;
g50acoc=v3630;

g30ccoc=v2032;
g3lccoc=v2132;
g32ccoc=v2239;

g33ccoc=v2332;
g34ccoc=v2432;

g37ccoc=v2632;
g38ccoc=v2732;
g4lccoc=v2832;
g42ccoc=v2932;
g43ccoc=v3032;
ghbccoc=v3132;
ghbccoc=v3232;
gh7ccoc=v3332;
gh8ccoc=v3432;
g49ccoc=v3532;
g50ccoc=v3632;
g52ccoc=v3732;
g3lahal=v2134;
g34ahal=v2434;
g38ahal=v2734;
g43ahal=v3034;
g47ahal=v3334;
g50ahal=v3634;

g30chal=v2036;
g3lchal=v2136;
g32chal=v2244;

g33bhal=v2335; g33chal=v2336;

g34bhal=v2435;
g36bhal=v2519;

g34chal=v2436;

g37bhal=v2635; g37chal=v2636;

g38dmar=v2729;
g4ldmar=v2829;
g42dmar=v2929;
g43dmar=v3029;
g4b4dmar=v3129;
gh6dmar=v3229;
g47dmar=v3329;
g48dmar=v3429;
g49dmar=v3529;
g50dmar=-v3629;
g52dmar=v3729;
g32acoc=v2237;
g36acoc=v2516;
g4lacoc=v2830;
ghbacoc=v3130;
gh8acoc=v3430;
g5lacoc=v3650;

g30dcoc=v2033;
g3ldcoc=v2133;
g32dcoc=v2240;

g33dcoc=v2333;
g34dcoc=v2433;

g37dcoc=v2633;
g38dcoc=v2733;
g4ldcoc=v2833;
g42dcoc=v2933;
g43dcoc=v3033;
ghb4dcoc=v3133;
g46dcoc=v3233;
g47dcoc=v3333;
g48dcoc=v3433;
g49dcoc=v3533;
g50dcoc=v3633;
g52dcoc=v3733;
g32ahal=v2242;
g36ahal=v2518;
g4lahal=v2834;
ghbahal=v3134;
g48ahal=v3434;
g5lahal=v3651;

g30dhal=v2037;
g31dhal=v2137;
g32dhal=v2245;

g33dhal=v2337;
g34dhal=v2437;

g37dhal=v2637;
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g38bhal=v2735; g38chal=v2736; g38dhal=v2737;
g4lbhal=v2835; gilchal=v2836; g4ldhal=v2837;
g42bhal=v2935; g42chal=v2936; g42dhal=v2937;
g43bhal=v3035; g43chal=v3036; g43dhal=v3037;
ght4bhal=v3135; ghichal=v3136; g44dhal=v3137;
g46bhal=v3235; ghéchal=v3236; g46dhal=v3237;
gh7bhal=v3335; g47chal=v3336; g47dhal=v3337;
g48bhal=v3435; g48chal=v3436; g48dhal=v3437;
g49bhal=v3535; g49chal=v3536; g&9dhal=v3537;
g50bhal=v3635; g50chal=v3636; g50dhal=v3637;
g52bhal=v3735; g52chal=v3736; g52dhal=v3737;
g30aher=v2038; g3laher=v2138; g32aher=v2247;
g33aher=v2338; g34aher=v2438; g36aher=v2520;
g37aher=v2638; g38aher=v2738; g4laher=v2838;
gh2aher=v2938; gi43aher=v3038; g4btaher=v3138;
gbbaher=v3238; gi4J/aher=v3338; g48aher=v3438;
gh9aher=v3538; g50aher=v3638; g5laher=v3652;
g52aher=v3738;
g30bher=v2039; g30cher=v2040; g30dher=v2041;
g31lbher=v2139; g3lcher=v2140; g3ldher=v2141;
g32bher=v2248; g32cher=v2249; g32dher=v2250; g32eher=v2251;
g9f=v1930;
g33bher=v2339; g33cher=v2340; g33dher=v2341;
g34bher=v2439; g34cher=v2440; g34dher=v2441;
g36bher=v2521;
g37bher=v2639; g37cher=v2640; g37dher=v2641;
g38bher=v2739; g38cher=v2740; g38dher=v2741;
gtlbher=v2839; g4lcher=v2840; g4ldher=v2841;
g42bher=v2939; g42cher=v2940; g42dher=v2941;
g43bher=v3039; g43cher=v3040; g43dher=v3041;
ghtbbher=v3139; g44cher=v3140; gb4tdher=v31l4l;
ghbbher=v3239; g46cher=v3240; g46dher=v3241;
gt7bher=v3339; g47cher=v3340; g47dher=v3341;
gt8bher=v3439; g48cher=v3440; gi48dher=v3441;
g49bher=v3539; g49cher=v3540; g49dher=v3541;
g50bher=v3639; g50cher=v3640; g50dher=v3641;
g52bher=v3739; g52cher=v3740; g52dher=v3741;
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* *;
* Substance Dependence *;
* *;
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’

/* 1. DRUGL.SAS
CRITERIA FOR SUBSTANCE DEPENDENCE

A. Criterion A: Symptoms of dependence
At least 3 of Al - A9
(no exception for marijuana and hallucinogens)
Al. often take larger amounts than intended G&47a or G48a=YES
A2. persistent desire or efforts to cut down G42a, G43a, or G44a=YES

A3. a lot of time spent to get substance G46a=YES
A4, frequent intoxication or use is hazardous G30a, G3la, or G34a=YES
AS5. activities given up G52a=YES

A6. continued use despite negative effects
G32a=YES plus additional comparisons of
(1) age of recency of problem with age of onset of problem
(2) age of recency of use with age of onset of use
(3) (for Alcohol only) 12+ drinks/yr and current age > age
of onset of problem
OR
< 12 drinks/yr and age recent use > age onset of problem
G33a=YES plus additional comparisons (same as G32a)
G36a=YES
G37a=YES plus additional comparisons (same as G32a)
G38a=YES plus additional comparisons (same as G32a)

A7. marked tolerance G49a=YES
A8. withdrawal symptoms G50a=YES
A9. taken to relieve withdrawal symptomes G51a=YES

Criterion B: Symptoms persisted or repeated
The A criterion must be met in order for the B criterion to be met.
For Symptoms 1,3,4,6 criterion B is automatically met.
For Symptoms 2,5,7,8 a comparison is made of
(1) age of recency of problem with age of onset of problem
(same method as for symptom 6, Criterion A.)

*/
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/* age in fll minus age in b (valid if difference is in range of 1-54)%/

/* age in d minus age in b (valid if difference is in range of 1-54)%*/
db32alc=g32dalc-g32balc;
db33alc=g33dalc-g33balc;
db37alc=g37dalc-g37balc;
db38alc=g38dalc-g38balc;
db42alc=g42dalc-gi2balc;
db43alc=gi43dalc-g43balc;
db44alc=ghsdalc-ghibalc;
db49alc=gi9dalc-g49balc;
db50alc=g50dalc-g50balc;
db52alc=g52dalc-g52balc;

/* fll = age began drinking the most */

f11=v1812;

1b32alc=fll-g32balc;
1b33alc=fll-g33balc;
1b37alc=£f1l1l-g37balc;
1b38alc=fll-g38balc;

* Criterion A;

if gh47aalc
if g42aalc
if ghbaalc
if g30aalc
if g52aalc
if g32aalc

eq
eq
€q
eq
eq
eq

e

and

((1 <= g32calc <= 3) and (crtage > g32balc))

or ((g32calc eq 4) and (1 <= db32alc <=54))

or g4Baalc eq 1 then alcal=l;
or g43aalc eq 1 or ghbaalc eq 1 then alca2=l;
then alca3=1;
or g3laalc eq 1 or g34aalc eq 1 then alcas=l;
then alca5=1;

then alc32a6=1;

/* alcohol only--use having 12 drinks in past yr as comparison var
had at least 12 drinks in past year? O=no l=yes */

if (1 <=
or (1 <=
or (1 <=

£5
fé
£7

or (f7 eq 7
or (f7 eq 8

or (1 <=
else

f8

if g32aalc eq
if g32aalc eq
if g32aalc eq 1 and g32ealc eq 1
* repeat A6 criteria for G33 series;

if g33aalc eq 1 and

((1 <= g33calc <= 3) and (crtage > g33balc))

or ((g33calc eq 4) and (1 <= db33alc <=54))

if g33aalc eq 1 and drkl2pyr eq 1 and (crtage > g33balc)
if g33aalc eq 1 and drkl2pyr eq O and (1 <= 1b33alc <=54)

<= 8)

<=7)

<= 6)

and (5 <= f8 <= 7))
and f8 eq 5)

<= 4) then drkl2pyr=1;

drkl2pyr=0;

1 and drkl2pyr eq 1 and (crtage > g32balc)
1 and drkl2pyr eq 0 and (1 <= 1b32alc <= 54)
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then
then
then

then
then
then

alc32a6=1;
alc32a6=2;
alc32a6=3;

alc33a6=1;
alc33a6=2;
alc33a6=3;



if g36aalc eq 1 then alc36a6=1;
if g37aalc eq 1 and

((1 <= g37calc <= 3) and (crtage > g37balc))

or ((g37calc eq 4) and (1 <= db37alc <= 54)) then alc37a6=1;
if g37aalc eq 1 and drkl2pyr eq 1 and (crtage > g37balc) then alc37a6=2;
if g37aalc eq 1 and drkl2pyr eq O and (1 <= 1b37alc <=54) then alc37a6=3;
if g4laalc eq 1 then alc4lab=1;
if g38aalc eq 1 and
((1 <= g38calc <= 3) and (crtage > g38balc))

or ((g38calc eq 4) and (1 <= db38alc <=54)) then alc38a6=1;
if g38aalc eq 1 and drkl2pyr eq 1 and (crtage > g38balc) then alc38a6=2;
if g38aalc eq 1 and drkl2pyr eq O and (1 <= 1b38alc <=54) then alc38a6=3;

if (1 <= alc32a6 <=3) or (1 <=alc33a6 <= 3) or (alc36ab =1)
or (1 <= alc37a6 <=3) or (alc4lab eq 1) or (1 <=alc38a6 <=3)

then alcab=1;
if g49aalc eq 1 then alca7=1;
if g50aalc eq 1 then alca8=1;
if g5laalc eq 1 then alca9=1;

alcatot=sum(of alcal-alca9);

if alcatot >= 3 then alccrita=1;

* B CRITERIA;

if alcal eq 1 then alcbl=1;
if g42aalc eq 1 and

(( 1 <= gb2calc <= 3) and (crtage > gi42balc))
or ((gh2calc eq 4) and (1 <= db42alc <=54)) then alcé42b=1;
if g43aalc eq 1 and

(( 1 <= g43calc <= 3) and (crtage > g&43balc))
or ((gh3calc eq 4) and (1 <= db43alc <=54)) then alc43b=1;
if ghbaalc eq 1 and

(( 1 <= gbbcalc <= 3) and (crtage > ghbbalc))
or ((ghbcalc eq 4) and (1 <= dbdbalc <=54)) then alc44b=1;
if alc42b eq 1 or alc43b eq 1 or alc44b eq 1 then alcb2=1;
if g4baalc eq 1 then alcb3=1;
if g30aalc eq 1 or g3laalc eq 1 or g34aalc eq 1 then alcb4=1;
if g52aalc eq 1 and

(( 1 <= g52calc <= 3) and (crtage > g52balc))
or ((g52calc eq 4) and (1 <= db52alc <=54)) then alcb5=1;
if alcab=1 then alcb6=1;
if ghY9aalc eq 1 and

(( 1 <= gh9calc <= 3) and (crtage > g49balc))
or ((gh9calc eq 4) and (1l <= db49alc <=54)) then alcb7=1;
if g50aalc eq 1 and

(( 1 <= g50calc <= 3) and (crtage > g50balc))
or ((g50calc eq 4) and (1l <= db50alc <=54)) then alcb8=1;

alcbtot=sum(of alcbl-alcb8);

if alcbtot >= 2 then alccritb=1l;

if alccrita eq 1 and alccritb eq 1 then dlifalc=1; else dlifalc=0;
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/* age in d minus age in b (valid if difference is in range of 1-54)%/
db32sed=g32dsed-g32bsed;
db33sed=g33dsed-g33bsed;
db37sed=g37dsed-g37bsed;
db38sed=g38dsed-g38bsed;
db42sed=gh2dsed-gh2bsed;
db43sed=g43dsed-g43bsed;
db44sed=ghbdsed-ghbbsed;
db49sed=g49dsed-g49bsed;
db50sed=g50dsed-g50bsed;
db52sed=g52dsed-g52bsed;

/* age in glf minus age in b (valid if difference is in range of 1-54)
glf = age last time used sed */

1b32sed=glf-g32bsed;
1b33sed=glf-g33bsed;
1b37sed=glf-g37bsed;
1b38sed=glf-g38bsed;

* A CRITERIA;

if g47ased eq 1 or gi48ased eq 1 then sedal=1;
if g42ased eq 1 or g43ased eq 1 or g4hased eq 1 then seda2=l;
if ghbased eq 1 then seda3=1;
if g30ased eq 1 or g3lased eq 1 or g34ased eq 1 then seda4=l;
if g52ased eq 1 then seda5=1;

if g32ased eq 1 and
((1 <= g32csed <= 3) and (crtage > g32bsed))
or ((g32csed eq 4) and (1 <= db32sed <=54)) then sed32a6=1;
if g32ased eq 1 and
((1 <= rcusesed <=3) and (crtage > g32bsed))
or ((rcusesed eq 4) and (1 <= 1b32sed <=54)) then sed32a6=2;
if g32ased eq 1 and g32esed eq 1 then sed32a6=3;
if g33ased eq 1 and
((1 <= g33csed <= 3) and (crtage > g33bsed))
or ((g33csed eq 4) and (1 <= db33sed <=54)) then sed33a6=1;
if g33ased eq 1 and
((1 <= rcusesed <=3) and (crtage > g33bsed))
or ((rcusesed eq 4) and (1 <= 1b33sed <=54)) then sed33a6=2;
if g36ased eq 1 then sed36a6=1;

if g37ased eq 1 and
((1 <= g37csed <= 3) and (crtage > g37bsed))
or ((g37csed eq 4) and (1 <= db37sed <=54)) then sed37a6=1;
if g37ased eq 1 and
((1 <= rcusesed <=3) and (crtage > g37bsed))
or ((rcusesed eq 4) and (1 <= 1b37sed <=54)) then sed37a6=2;

if ghlased eq 1 then sed4laé=1;
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if g38ased eq 1 and
((1 <= g38csed <= 3) and (crtage > g38bsed))
or ((g38csed eq 4) and (1 <= db38sed <=54)) then sed38a6=1;
if g38ased eq 1 and
((1 <= rcusesed <=3) and (crtage > g38bsed))
or ((rcusesed eq 4) and (1 <= 1b38sed <=54)) then sed38a6=2;

if (1 <= sed32a6 <=3) or (1 <=sed33a6 <= 2) or (sed36a6 =1)

or (1 <= sed37a6 <=2) or (sed4lab6 eq 1) or (1 <= sed38a6 <=2)
then sedab=1;

if g49ased eq 1 then seda7-=1;

if g50ased eq 1 then seda8=1;

if gS5lased eq 1 then seda9=1;

sedatot=sum(of sedal-seda9);

if sedatot >= 3 then sedcrita=1;

* B CRITERIA;
if sedal eq 1 then sedbl=l;

if g42ased eq 1 and

(( 1 <= gh2csed <= 3) and (crtage > g42bsed))
or ((gh2csed eq 4) and (1 <= db42sed <= 54)) then sed42b=1;
if g43ased eq 1 and

(( 1 <= gh3csed <= 3) and (crtage > g&43bsed))
or ((gh3csed eq 4) and (1 <= db43sed <= 54)) then sed43b=1;
if g4based eq 1 and

(( 1 <= ghbcsed <= 3) and (crtage > ghbbsed))
or ((ghkcsed eq 4) and (1 <= db44sed <= 54)) then sed44b=1;
if sed42b eq 1 or sed43b eq 1 or sed44b eq 1 then sedb2=]1;
if ghbased eq 1 then sedb3=1;

if g30ased eq 1 or g3lased eq
if g52ased eq 1 and

(( 1 <= g52csed <= 3) and
or ((g52csed eq 4) and (1 <=
if sedaéb=1
if g49ased eq 1 and

(( 1 <= g49csed <= 3) and
or ((g49csed eq 4) and (1 <=
if g50ased eq 1 and

(( 1 <= g50csed <= 3) and
or ((g50csed eq 4) and (1 <=
sedbtot=sum(of sedbl-sedb8);

1 or g34ased eq 1 then

(crtage > g52bsed))
db52sed <= 54)) then
then

(crtage > gh9bsed))
db49sed <= 54)) then

(crtage > g50bsed))
db50sed <= 54)) then

sedb4=];

sedb5=1;
sedb6=1;

sedb7=1;

sedb8=1;

if sedbtot >= 2 then sedecritb=1;

if sedcrita eq 1 and sedcritb eq 1 then dlifsed=1; else dlifsed=0;
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/* age in d minus age in b (valid if difference is in range of 1-54)%/
db32trq=g32dtrq-g32btrqg;
db33trq=g33dtrq-g33btrq;
db37trq=g37dtrq-g37btrqg;
db38trq=g38dtrq-g38btrq;
db42trq=g42dtrq-gh2btrqg;
db43trq=g43dtrq-g43btrqg;
db44trq=ghbdtrq-ghlbtrq;
db49trq=g49dtrq-gsobtrq;
db50trq=g50dtrq-g50btrq;
db52trq=g52dtrq-g52btrq;

/* age in g2f minus age in b (valid if difference is in range of 1-54)
g2f = age last time used trq */
1b32trq=g2f-g32btrq;
1b33trq=g2f-g33btrq;
1b37trq=g2f-g37btrq;
1b38trq=g2f-g38btrqg;

* A CRITERIA;

if g47atrq eq 1 or g48atrq eq 1 then trqal=l;
if g42atrq eq 1 or g43atrq eq 1 or ghbatrq eq 1 then trqa2=l;
if g4batrq eq 1 then trqa3=1;
if g30atrq eq 1 or g3latrq eq 1 or g34atrq eq 1 then trqas=l;
if g52atrq eq 1 then trqa5=1;

if g32atrq eq 1 and
((1 <= g32ctrq <= 3) and (crtage > g32btrq))
or ((g32ctrq eq 4) and (1 <= db32trq <=54)) then trq32a6=1;
if g32atrq eq 1 and
((1 <= rcusetrq <=3) and (crtage > g32btrq))
or ((rcusetrq eq 4) and (1 <= 1b32trq <=54)) then trq32a6=2;
if g32atrq eq 1 and g32etrq eq 1 then trq32a6=3;
if g33atrq eq 1 and
((1 <= g33ctrq <= 3) and (crtage > g33btrq))
or ((g33ctrq eq 4) and (1 <= db33trq <=54)) then trq33a6=1;
if g33atrq eq 1 and
((1 <= rcusetrq <=3) and (crtage > g33btrq))
or ((rcusetrq eq 4) and (1 <= 1b33trq <=54)) then trq33a6=2;
if g36atrq eq 1 then trq36a6=1;

if g37atrq eq 1 and
((1 <= g37ctrq <= 3) and (crtage > g37btrq))
or ((g37ctrq eq 4) and (1 <= db37trq <=54)) then trq37a6=1;
if g37atrq eq 1 and
((1 <= rcusetrq <=3) and (crtage > g37btrq))
or ((rcusetrq eq 4) and (1 <= 1b37trq <=54)) then trq37a6=2;

if ghlatrq eq 1 then trq4la6=1;
if g38atrq eq 1 and
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((1 <= g38ctrq <= 3) and (crtage > g38btrq))
or ((g38ctrq eq 4) and (1 <= db38trq <=54)) then trq38a6=1;

if g38atrq eq 1 and
((1 <= rcusetrq <=3) and (crtage > g38btrq))
or ((rcusetrq eq 4) and (1 <= 1b38trq <=54)) then trq38a6=2;
if (1 <= trq32a6 <=3) or (1l <=trq33a6 <= 2) or (trq36ab6 =1)
or (1 <= trq37a6é <=2) or (trq4la6 eq 1) or (1 <= trq38a6 <=2)
then trqa6=1;

if g49atrq eq 1 then trqa7=1;
if g50atrq eq 1 then trqa8=1;
if g5latrq eq 1 then trqa9-=1;

trqatot=sum(of trqal-trqa9);
if trqatot >= 3 then trqcrita=l;

* B CRITERIA;

if trqal eq 1 then trgbl=1l;
if gb42atrq eq 1 and

(( 1 <= gh2ctrq <= 3) and (crtage > g42btrq))
or ((g42ctrq eq 4) and (1 <= db42trq <= 54)) then trq42b=1;
if g43atrq eq 1 and

(( 1 <= gh3ctrq <= 3) and (crtage > g&43btrq))
or ((gh3ctrq eq 4) and (1 <= db43trq <= 54)) then trq43b=1;
if g4batrq eq 1 and

(( 1 <= glbctrq <= 3) and (crtage > ghbbtrq))
or ((gh4ctrq eq 4) and (1 <= db44trq <= 54)) then trq44b=1;
if trq42b eq 1 or trq43b eq 1 or trqi4b eq 1 then trgb2=1;
if ghbatrq eq 1 then trgb3=1l;
if g30atrq eq 1 or g3latrq eq 1 or g34atrq eq 1 then trgb4=1;
if g52atrq eq 1 and

(( 1 <= g52ctrq <= 3) and (crtage > g52btrq))
or ((g52ctrq eq 4) and (1 <= db52trq <= 54)) then trqgb5=1;
if trqaé6=1 then trgb6=1;
if g49atrq eq 1 and

(( 1 <= gh9ctrq <= 3) and (crtage > g49btrq))
or ((gh9ctrq eq 4) and (1 <= db49trq <= 54)) then trgb7=1;
if g50atrq eq 1 and

(( 1 <= g50ctrq <= 3) and (crtage > g50btrq))
or ((g50ctrq eq 4) and (1 <= db50trq <= 54)) then trqb8=1;
trgbtot=sum(of trgbl-trgb8);
if trgbtot >= 2 then trqcritb=1;

if trqcrita eq 1 and trqcritb eq 1 then dliftrqg=1l; else dliftrq=0;
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/* age in d minus age in b (valid if difference is in range of 1-54)%/
db32sti=g32dsti-g32bsti;
db33sti=g33dsti-g33bsti;
db37sti=g37dsti-g37bsti;
db38sti=g38dsti-g38bsti;
db42sti=gh2dsti-g42bsti;
db43sti=g43dsti-g43bsti;
db44sti=ghbdsti-ghbbsti;
db49sti=g49dsti-g49bsti;
db50sti=g50dsti-g50bsti;
db52sti=g52dsti-g52bsti;

/* age in g3f minus age in b (valid if difference is in range of 1-54)
g3f = age last time used sti*/
1b32sti=g3f-g32bsti;
1b33sti=g3f-g33bsti;
1b37sti=g3£f-g37bsti;
1b38sti=g3f-g38bsti;

* A CRITERIA;

if g47asti eq 1 or gi48asti eq 1 then stial=l;
if g42asti eq 1 or g4lasti eq 1 or ghbasti eq 1 then stia2=l;
if ghbasti eq 1 then stia3=1l;
if g30asti eq 1 or g3lasti eq 1 or g34asti eq 1 then stia4=l;
if g52asti eq 1 then stia5=1;

if g32asti eq 1 and
((1 <= g32csti <= 3) and (crtage > g32bsti))
or ((g32csti eq 4) and (1 <= db32sti <=54)) then sti32a6=1;
if g32asti eq 1 and
((1 <= rcusesti <=3) and (crtage > g32bsti))
or ((rcusesti eq 4) and (1 <= 1b32sti <=54)) then sti32a6=2;
if g32asti eq 1 and g32esti eq 1 then sti32a6=3;
if g33asti eq 1 and
((1 <= g33csti <= 3) and (crtage > g33bsti))
or ((g33csti eq 4) and (1 <= db33sti <=54)) then sti33a6=1;
if g33asti eq 1 and
((1 <= rcusesti <=3) and (crtage > g33bsti))
or ((rcusesti eq 4) and (1 <= 1b33sti <=54)) then sti33a6=2;
if g36asti eq 1 then sti36ab=1;

if g37asti eq 1 and
((1 <= g37csti <= 3) and (crtage > g37bsti))
or ((g37csti eq 4) and (1 <= db37sti <=54)) then sti37ab=1;
if g37asti eq 1 and
((1 <= rcusesti <=3) and (crtage > g37bsti))
or ((rcusesti eq 4) and (1 <= 1b37sti <=54)) then sti37a6=2;

if g4lasti eq 1 then sti4laé=1;
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* repeat A6 criteria for G38 series;
if g38asti eq 1 and
((1 <= g38csti <= 3) and (crtage > g38bsti))
or ((g38csti eq 4) and (1 <= db38sti <=54)) then sti38a6=1;

if g38asti eq 1 and
((1 <= rcusesti <=3) and (crtage > g38bsti))
or ((rcusesti eq 4) and (1 <= 1b38sti <=54)) then sti38a6=2;
if (1 <= sti32a6 <=3) or (1 <=sti33a6 <= 2) or (sti36ab =1)
or (1 <= sti37ab <=2) or (sti4labé eq 1) or (1 <= sti38a6 <=2)
then stia6=1;

if g49asti eq 1 then stia7=1;
if g50asti eq 1 then stia8=1;
if g5lasti eq 1 then stia9=1;

stiatot=sum(of stial-stia9);
if stiatot >= 3 then sticrita=1;

* B CRITERIA;

if stial eq 1 then stibl=];
if gh42asti eq 1 and
(( 1 <= gb2csti <= 3) and (crtage > g42bsti))
or ((ghl2csti eq 4) and (1 <= db42sti <= 54)) then sti42b=1;
if g43asti eq 1 and
(( 1 <= gh3csti <= 3) and (crtage > g43bsti))
or ((gh3csti eq 4) and (1 <= db43sti <= 54)) then sti43b=1;
if g4basti eq 1 and
(( 1 <= ghbecsti <= 3) and (crtage > ghtbsti))
or ((ghbcsti eq 4) and (1 <= dbi4sti <= 54)) then sti44b=1;
if sti42b eq 1 or sti43b eq 1 or sti44db eq 1 then stib2=1;
if ghbasti eq 1 then stib3=1;
if g30asti eq 1 or g3lasti eq 1 or g34asti eq 1 then stib4=1;
if g52asti eq 1 and
(( 1 <= g52csti <= 3) and (crtage > g52bsti))
or ((g52csti eq 4) and (1 <= db52sti <= 54)) then stib5=1;
if stiab=1 then stib6=1;
if g49asti eq 1 and
(( 1 <= glh9csti <= 3) and (crtage > g49bsti))
or ((gh9csti eq 4) and (1 <= db49sti <= 54)) then stib7=1;
if g50asti eq 1 and
(( 1 <= g50csti <= 3) and (crtage > g50bsti))
or ((g50csti eq 4) and (1 <= db50sti <= 54)) then stib8=1;
stibtot=sum(of stibl-stib8);
if stibtot >= 2 then sticritb=1;

if sticrita eq 1 and sticritb eq 1 then dlifsti=1; else dlifsti=0;
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/* age in d minus age in b (valid if difference is in range of 1-54)%*/
db32ags=g32dags-g32bags;
db33ags=g33dags-g33bags;
db37ags=g37dags-g37bags;
db38ags=g38dags-g38bags;
db42ags=gh2dags-gh2bags;
db43ags=gh3dags-ga3bags;
db4bags=ghbdags-ghbbags;
db49ags=gh9dags-ga9bags;
db50ags=g50dags-g50bags;
db52ags=g52dags-g52bags;

/* age in g4f minus age in b (valid if difference is in range of 1-54)
g4f = age last time used ags¥*/
1b32ags=g4f-g32bags;
1b33ags=g4f-g33bags;
1b37ags=gi4f-g37bags;
1b38ags=g4f-g38bags;

* A CRITERIA;

if g47aags eq 1 or gi4Baags eq 1 then agsal=1l;
if glt2aags eq 1 or ghlaags eq 1 or ghhaags eq 1 then agsa2=l;
if gb4baags eq 1 then agsa3=1l;
if g30aags eq 1 or g3laags eq 1 or g34aags eq 1 then agsal4=l;
if g52aags eq 1 then agsa5=1;

if g32aags eq 1 and
((1 <= g32cags <= 3) and (crtage > g32bags))
or ((g32cags eq 4) and (1 <= db32ags <=54)) then ags32a6=1;
if g32aags eq 1 and
((1 <= rcuseags <=3) and (crtage > g32bags))
or ((rcuseags eq 4) and (1 <= 1lb32ags <=54)) then ags32a6=2;
if g32aags eq 1 and g32eags eq 1 then ags32a6=3;
if g33aags eq 1 and
((1 <= g33cags <= 3) and (crtage > g33bags))
or ((g33cags eq 4) and (1 <= db33ags <=54)) then ags33a6=1;
if g33aags eq 1 and
((1 <= rcuseags <=3) and (crtage > g33bags))
or ((rcuseags eq 4) and (1 <= 1b33ags <=54)) then ags33a6=2;
if g36aags eq 1 then ags36a6=1;

if g37aags eq 1 and
((1 <= g37cags <= 3) and (crtage > g37bags))
or ((g37cags eq 4) and (1 <= db37ags <=54)) then ags37a6=1;
if g37aags eq 1 and
((1 <= rcuseags <=3) and (crtage > g37bags))
or ((rcuseags eq 4) and (1 <= 1lb37ags <=54)) then ags37a6=2;

if ghlaags eq 1 then ags4laé=1;
if g38aags eq 1 and
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((1 <= g38cags <= 3) and (crtage > g38bags))
or ((g38cags eq 4) and (1 <= db38ags <=54)) then ags38a6=1;

if g38aags eq 1 and
((1 <= rcuseags <=3) and (crtage > g38bags))
or ((rcuseags eq 4) and (1 <= 1b38ags <=54)) then ags38a6=2;
if (1 <= ags32a6 <=3) or (1l <=ags33ab6 <= 2) or (ags36a6 =1)
or (1 <= ags37a6 <=2) or (ags4lab eq 1) or (1 <= ags38a6 <=2)
then agsa6=1;

if g49aags eq 1 then agsa7=1;
if g50aags eq 1 then agsa8=1;
if gSlaags eq 1 then agsa9=1;

agsatot=sum(of agsal-agsa9);
if agsatot >= 3 then agscrita=1;

* B CRITERIA;

if agsal eq 1 then agsbl=1;
if gb42aags eq 1 and

(( 1 <= gb2cags <= 3) and (crtage > gh2bags))
or ((gh2cags eq 4) and (1 <= db42ags <= 54)) then ags42b=1;
if g43aags eq 1 and

(( 1 <= gb3cags <= 3) and (crtage > g43bags))
or ((gh3cags eq 4) and (1 <= db43ags <= 54)) then ags43b=1;
if g4baags eq 1 and ‘

(( 1 <= gbbcags <= 3) and (crtage > ghbbags))
or ((ghbcags eq 4) and (1 <= dbbbags <= 54)) then ags44b=1;
if ags42b eq 1 or ags43b eq 1 or ags44b eq 1 then agsb2=1;
if g4baags eq 1 then agsb3=1;
if g30aags eq 1 or g3laags eq 1 or g34aags eq 1 then agsb4=1;
if g52aags eq 1 and

(( 1 <= g52cags <= 3) and (crtage > g52bags))
or ((g52cags eq 4) and (1 <= db52ags <= 54)) then agsb5=1;
if agsab=1 then agsb6=1;
if g49aags eq 1 and

(( 1 <= g49cags <= 3) and (crtage > g49bags))
or ((gh9cags eq 4) and (1 <= db49ags <= 54)) then agsb7=1;
if g50aags eq 1 and

(( 1 <= g50cags <= 3) and (crtage > g50bags))
or ((g50cags eq 4) and (1 <= db50ags <= 54)) then agsb8=1,;
agsbtot=sum(of agsbl-agsb8);
if agsbtot >= 2 then agscritb=1;

if agscrita eq 1 and agscritb eq 1 then dlifags=1; else dlifags=0;
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/* age in d minus age in b (valid if difference is in range of 1-54)%/
db32inh=g32dinh-g32binh;
db33inh=g33dinh-g33binh;
db37inh=g37dinh-g37binh;
db38inh=g38dinh-g38binh;
db42inh=g42dinh-g42binh;
db43inh=g43dinh-g43binh;
db44inh=g44dinh-g44binh;
db49inh=g49dinh-g49binh;
db50inh=g50dinh-g50binh;
db52inh=g52dinh-g52binh; ;

/* age in g5f minus age in b (valid if difference is in range of 1-54)

g5f = age last time used inh%*/
1b32inh=g5f-g32binh;
1b33inh=g5f-g33binh;
1b37inh=g5f-g37binh;
1b38inh=g5f-g38binh;

* A CRITERIA;

if g47ainh eq 1 or g48ainh eq 1 then inhal=1;
if g42ainh eq 1 or g43ainh eq 1 or g44ainh eq 1 then inha2=1;
if g4bainh eq 1 then inha3=1;
if g30ainh eq 1 or g3lainh eq 1 or g34ainh eq 1 then inhaé4=1;
if g52ainh eq 1 then inha5=1;
if g32ainh eq 1 and
((1 <= g32cinh <= 3) and (crtage > g32binh))
or ((g32cinh eq 4) and (1 <= db32inh <=54)) then inh32a6=1;
if g32ainh eq 1 and
((1 <= rcuseinh <=3) and (crtage > g32binh))
or ((rcuseinh eq 4) and (1 <= 1b32inh <=54)) then inh32a6=2;
if g32ainh eq 1 and g32einh eq 1 then inh32a6=3;
if g33ainh eq 1 and
((1 <= g33cinh <= 3) and (crtage > g33binh))
or ((g33cinh eq 4) and (1 <= db33inh <=54)) then inh33a6=1;
if g33ainh eq 1 and
((1 <= rcuseinh <=3) and (crtage > g33binh))
or ((rcuseinh eq 4) and (1 <= 1b33inh <=54)) then inh33a6=2;
if g36ainh eq 1 then inh36a6=1;

if g37ainh eq 1 and
((1 <= g37cinh <= 3) and (crtage > g37binh))
or ((g37cinh eq 4) and (1 <= db37inh <=54)) then inh37a6=1;
if g37ainh eq 1 and
((1 <= rcuseinh <=3) and (crtage > g37binh))
or ((rcuseinh eq 4) and (1 <= 1b37inh <=54)) then inh37a6=2;

if g4lainh eq 1 then inh4la6=1;
if g38ainh eq 1 and
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((1 <= g38cinh <= 3) and
or

if g38ainh eq 1 and
((1 <= rcuseinh <=3) and

or ((rcuseinh eq 4) and (1 <= 1b38inh <=54))
(1 <= inh32a6 <=3) or (1 <=inh33a6 <= 2) or (inh36a6 =1)

if

((g38cinh eq 4) and (1 <= db38inh <=54))

(crtage > g38binh))
then

(crtage > g38binh))
then

inh38a6=1;

inh38a6=2;

or (1 <= inh37a6 <=2) or (inh4la6 eq 1) or (1 <= inh38a6 <=2)

if g49ainh eq 1
if g50ainh eq 1
if g5lainh eq 1
inhatot=sum(of inhal-inha9);

if inhatot >= 3 then inhcrita=1;

* B CRITERIA;

if inhal eq 1
if g42ainh eq 1 and
(( 1 <= g42cinh
or ((gh2cinh eq 4)
if g43ainh eq 1 and
(( 1 <= gh3cinh
or ((g43cinh eq 4)
if gbbainh eq 1 and
(( 1 <= gbbcinh <= 3) and
or ((gh4cinh eq 4) and (1 <=
if inh42b eq 1 or inh43b eq 1
if g4bainh eq 1
if g30ainh eq 1 or g3lainh eq
if g52ainh eq 1 and
(( 1 <= g52cinh <= 3) and
or ((g52cinh eq 4) and (1 <=
if inhaé=1
if g49ainh eq 1 and
(( 1 <= g49cinh <= 3) and
or ((g49cinh eq 4) and (1l <=
if g50ainh eq 1 and
(( 1 <= g50cinh <= 3) and
or ((g50cinh eq 4) and (1 <=
inhbtot=sum(of inhbl-inhb8);

<= 3) and
and (1 <=

<= 3) and
and (1 <=

then
then
then
then
then
(crtage > g42binh))
db42inh <= 54)) then
(crtage > g43binh))
db43inh <= 54)) then
(crtage > gi44binh))
db44inh <= 54)) then
or inhé44b eq 1 then
then

1 or g34ainh eq 1 then

(crtage > g52binh))
db52inh <= 54)) then
then

(crtage > g&9binh))
db49inh <= 54))  then

(crtage > g50binh))
db50inh <= 54)) then

if inhbtot >= 2 then inhcritb=1;

if inhcrita eq 1 and inhcritb eq 1 then dlifinh=1; else dlifinh=0;
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/* age in d minus age in b (valid if difference is in range of 1-54)%/
db32mar=g32dmar - g32bmar;
db33mar=g33dmar-g33bmar;
db37mar=g37dmar-g37bmar;
db38mar=g38dmar-g38bmar;
db42mar=g42dmar - gh2bmar;
db43mar=g43dmar - g43bmar;
db44mar=ghbdmar - ghbbmar;
db49mar=g49dmar - gh9bmar;
db50mar=g50dmar - g5Obmar;
db52mar=g52dmar - g52bmar;

/* age in gb6f minus age in b (valid if difference is in range of 1-54)
gbf = age last time used mar*/
1b32mar=g6£f-g32bmar;
1b33mar=g6f-g33bmar;
1b37mar=g6f-g37bmar;
1b38mar=g6f-g38bmar;

* A CRITERIA;

if g47amar eq 1 or g48amar eq 1 then maral=1;
if g42amar eq 1 or g43amar eq 1 or ghkamar eq 1 then mara2=l;
if g4bamar eq 1 then mara3=l;
if g30amar eq 1 or g3lamar eq 1 or g34amar eq 1 then mara4=l;
if g52amar eq 1 then mara5=1l;

if g32amar eq 1 and
((1 <= g32cmar <= 3) and (crtage > g32bmar))
or ((g32cmar eq 4) and (1 <= db32mar <=54)) then mar32a6=1;
if g32amar eq 1 and
((1 <= rcusemar <=3) and (crtage > g32bmar))
or ((rcusemar eq 4) and (1 <= 1b32mar <=54)) then mar32a6=2;
if g32amar eq 1 and g32emar eq 1 then mar32a6=3;

if g33amar eq 1 and
((1 <= g33cmar <= 3) and (crtage > g33bmar))
or ((g33cmar eq 4) and (1 <= db33mar <=54)) then mar33a6=1;
if g33amar eq 1 and
((1 <= rcusemar <=3) and (crtage > g33bmar))
or ((rcusemar eq 4) and (1 <= 1b33mar <=54)) then mar33a6=2;

if g36amar eq 1 then mar36a6=1;

if g37amar eq 1 and
((1 <= g37cmar <= 3) and (crtage > g37bmar))
or ((g37cmar eq 4) and (1 <= db37mar <=54)) then mar37a6=1;
if g37amar eq 1 and
((1 <= rcusemar <=3) and (crtage > g37bmar))
or ((rcusemar eq 4) and (1 <= 1b37mar <=54)) then mar37a6=2;
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if g4lamar eq 1 then mar4laé=1;

if g38amar eq 1 and
((1 <= g38cmar <= 3) and (crtage > g38bmar))
or ((g38cmar eq 4) and (1 <= db38mar <=54)) then mar38a6=1;

if g38amar eq 1 and
((1 <= rcusemar <=3) and (crtage > g38bmar))
or ((rcusemar eq 4) and (1 <= 1lb38mar <=54)) then mar38a6=2;
if (1 <= mar32a6 <=3) or (1l <=mar33a6 <= 2) or (mar36aé =1)
or (1 <= mar37a6 <=2) or (mar4lab eq 1) or (1 <= mar38a6 <=2)
then maraé6=1;

if g49amar eq 1 then mara7=1;
if g50amar eq 1 then mara8=1;
if g5lamar eq 1 then mara9=1;

maratot=sum(of maral-mara9);
if maratot >= 3 then marcrita=l;

* B CRITERIA;

if maral eq 1 then marbl=];
if g42amar eq 1 and
(( 1 <= g42cmar <= 3) and (crtage > gi42bmar))
or ((gh2cmar eq 4) and (1 <= db42mar <= 54)) then mar42b=1;
if g43amar eq 1 and
(( 1 <= g43cmar <= 3) and (crtage > g43bmar))
or ((g43cmar eq 4) and (1 <= db43mar <= 54)) then mar43b=1;
if g4bamar eq 1 and
(( 1 <= ghbcmar <= 3) and (crtage > ghbbmar))
or ((ghtcmar eq 4) and (1 <= dbibmar <= 54)) then mar44b=1;
if mar42b eq 1 or mar43b eq 1 or mar44b eq 1 then marb2=1;
if g4bamar eq 1 then marb3=1;
if g30amar eq 1 or g3lamar eq 1 or g34amar eq 1 then marb4=1;
if g52amar eq 1 and
(( 1 <= g52cmar <= 3) and (crtage > g52bmar))
or ((g52cmar eq 4) and (1 <= db52mar <= 54)) then marb5=1;
if maraé6=1 then marbé=1;
if g49amar eq 1 and
(( 1 <= g49cmar <= 3) and (crtage > g49bmar))
or ((gh9cmar eq 4) and (1 <= db49mar <= 54)) then marb7=1;
if g50amar eq 1 and
(( 1 <= g50cmar <= 3) and (crtage > g50bmar))
or ((g50cmar eq 4) and (1 <= db50mar <= 54)) then marb8=1;
marbtot=sum(of marbl-marb8);
if marbtot >= 2 then marcritb=1;

if marcrita eq 1 and marcritb eq 1 then dlifmar=1; else dlifmar=0;
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/* age in d minus age in b (valid if difference is in range of 1-54)%/
db32coc=g32dcoc-g32bcoc;
db33coc=g33dcoc-g33bcoc;
db37coc=g37dcoc-g37bcoc;
db38coc=g38dcoc-g38bcoc;
db42coc=gi2dcoc-g42bcoc;
db43coc=g43dcoc-g43bcoc;
db44coc=ghbdcoc-ghbbcoc;
db49coc=g49dcoc-g49bcoc;
db50coc=g50dcoc-g50bcoc;
db52coc=g52dcoc-g52bcoc;

/* age in g7f minus age in b (valid if difference is in range of 1-54)
g7f = age last time used coc */
1b32coc=g7f-g32bcoc;
1b33coc=g7f-g33bcoc;
1b37coc=g7f-g37bcoc;
1b38coc=g7f-g38bcoc;

* A CRITERIA;

if g47acoc eq 1 or gihBacoc eq 1 then cocal=1;
if gh2acoc eq 1 or gilacoc eq 1 or ghiacoc eq 1 then coca2=l;
if ghbacoc eq 1 then coca3=l;
if g30acoc eq 1 or g3lacoc eq 1 or g34acoc eq 1 then cocaé4=l;
if g52acoc eq 1 then coca5=1;

if g32acoc eq 1 and
((1 <= g32ccoc <= 3) and (crtage > g32bcoc))
or ((g32ccoc eq 4) and (1 <= db32coc <=54)) then coc32a6=1;
if g32acoc eq 1 and
((1 <= rcusecoc <=3) and (crtage > g32bcoc))
or ((rcusecoc eq 4) and (1 <= 1b32coc <=54)) then coc32a6=2;
if g32acoc eq 1 and g32ecoc eq 1 then coc32a6=3;
if g33acoc eq 1 and
((1 <= g33ccoc <= 3) and (crtage > g33bcoc))
or ((g33ccoc eq 4) and (1 <= db33coc <=534)) then coc33a6=1;
if g33acoc eq 1 and
((1 <= rcusecoc <=3) and (crtage > g33bcoc))
or ((rcusecoc eq 4) and (1 <= 1lb33coc <=54)) then coc33a6=2;
if g36acoc eq 1 then coc36a6=1;

if g37acoc eq 1 and
((1 <= g37ccoc <= 3) and (crtage > g37bcoc))
or ((g37ccoc eq 4) and (1 <= db37coc <=54)) then coc37a6=1;
if g37acoc eq 1 and
((1 <= rcusecoc <=3) and (crtage > g37bcoc))
or ((rcusecoc eq 4) and (1 <= 1b37coc <=54)) then coc37a6=2;

if g4lacoc eq 1 then coc4lab=1;
if g38acoc eq 1 and
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((1 <= g38ccoc <= 3) and (crtage > g38bcoc))
or ((g38ccoc eq 4) and (1 <= db38coc <=54)) then coc38a6=1;

if g38acoc eq 1 and
((1 <= rcusecoc <=3) and (crtage > g38bcoc))
or ((rcusecoc eq 4) and (1 <= 1b38coc <=54)) then coc38a6=2;
if (1 <= coc32a6 <=3) or (1 <=coc33ab <= 2) or (coc36ab =1)
or (1 <= coc37a6 <=2) or (coc4lab eq 1) or (1 <= coc38ab6 <=2)
then coca6=1;

if g49acoc eq 1 then coca7=1;
if g50acoc eq 1 then coca8=1;
if gSlacoc eq 1 then coca9=1;

cocatot=sum(of cocal-coca9);
if cocatot >= 3 then coccrita=1;

* B CRITERIA;

if cocal eq 1 then cocbl=1;
if gh2acoc eq 1 and

(( 1 <= gh2ccoc <= 3) and (crtage > gi2bcoc))
or ((ghl2ccoc eq 4) and (1 <= db42coc <= 54)) then coc42b=1;
if g43acoc eq 1 and

(( 1 <= gb3ccoc <= 3) and (crtage > gi43bcoc))
or ((gh3ccoc eq 4) and (1 <= db43coc <= 54)) then coc43b=1;
if g4bacoc eq 1 and

(( 1 <= gbbccoc <= 3) and (crtage > ghibbcoc))
or ((ghbccoc eq 4) and (1 <= dbd4coc <= 54)) then cocé44b=1;
if coc42b eq 1 or coc43b eq 1 or cocldsb eq 1 then cocb2=1;
if ghbacoc eq 1 then cocb3=1;
if g30acoc eq 1 or g3lacoc eq 1 or g34acoc eq 1 then cocb4=1;
if g52acoc eq 1 and

(( 1 <= g52ccoc <= 3) and (crtage > g52bcoc))
or ((g52ccoc eq 4) and (1 <= db52coc <= 54)) then cocb5=1;
if cocab=1 then cocb6=1;
if g49acoc eq 1 and

(( 1 <= gh9ccoc <= 3) and (crtage > g49bcoc))
or ((gh9ccoc eq 4) and (1 <= db49coc <= 54)) then cocb7=1;
if g50acoc eq 1 and

(( 1 <= g50ccoc <= 3) and (crtage > g50bcoc))
or ((g50ccoc eq 4) and (1 <= db50coc <= 54)) then cocb8=1;
cocbtot=sum(of cocbl-cocb8);
if cocbtot >= 2 then coccritb=1;

if coccrita eq 1 and coccritb eq 1 then dlifcoc=1; else dlifcoc=0;



Fkkkkdhkddddddtttkd HALLUCINOGENS #*¥ddkdkkddkdddididkhitdrihriiirs,

/* age in d minus age in b (valid if difference is in range of 1-54)%/
db32hal=g32dhal-g32bhal;
db33hal=g33dhal-g33bhal;
db37hal=g37dhal-g37bhal;
db38hal=g38dhal-g38bhal;
db42hal=g42dhal-g42bhal;
db43hal=g43dhal-g43bhal;
db44hal=gh4dhal - gh4bhal;
db49hal=g49dhal - g49bhal;
db50hal=g50dhal-g50bhal;
db52hal=g52dhal-g52bhal;

/* age in g8f minus age in b (valid if difference is in range of 1-54)
g8f = age last time used hal */
1b32hal=g8f-g32bhal;
1b33hal=g8£f-g33bhal;
1b37hal=g8f-g37bhal;
1b38hal=g8f-g38bhal;

* A CRITERIA;

if g47ahal eq 1 or g48ahal eq 1 then halal=1;
if g42ahal eq 1 or g43ahal eq 1 or gi44ahal eq 1 then hala2=1;
if ghbahal eq 1 then hala3=1;
if g30ahal eq 1 or g3lahal eq 1 or g34ahal eq 1 then hala4=1;
if g52ahal eq 1 then hala5=1;
if g32ahal eq 1 and

((1 <= g32chal <= 3) and (crtage > g32bhal))
or ((g32chal eq 4) and (1 <= db32hal <=54)) then hal32a6=1;
if g32ahal eq 1 and
((1 <= rcusehal <=3) and (crtage > g32bhal))
or ((rcusehal eq 4) and (1 <= 1b32hal <=54)) then hal32a6=2;
if g32ahal eq 1 and g32ehal eq 1 then hal32a6=3;
if g33ahal eq 1 and
((1 <= g33chal <= 3) and (crtage > g33bhal))
or ((g33chal eq 4) and (1 <= db33hal <=54)) then hal33a6=1;
if g33ahal eq 1 and
((1 <= rcusehal <=3) and (crtage > g33bhal))
or ((rcusehal eq 4) and (1 <= 1b33hal <=54)) then hal33a6=2;
if g36ahal eq 1 then hal36a6-=1;

if g37ahal eq 1 and
((1 <= g37chal <= 3) and (crtage > g37bhal))
or ((g37chal eq 4) and (1 <= db37hal <=54)) then hal37a6=1;
if g37ahal eq 1 and
((1 <= rcusehal <=3) and (crtage > g37bhal))
or ((rcusehal eq 4) and (1 <= 1b37hal <=54)) then hal37a6=2;

if g4lahal eq 1 then hal4laé6=1;
if g38ahal eq 1 and
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((1 <= g38chal <= 3) and (crtage > g38bhal))
or ((g38chal eq 4) and (1 <= db38hal <=54)) then hal38a6=1;

if g38ahal eq 1 and
((1 <= rcusehal <=3) and (crtage > g38bhal))
or ((rcusehal eq 4) and (1 <= 1b38hal <=54)) then hal38a6=2;
if (1 <= hal32a6é <=3) or (1 <=hal33a6 <= 2) or (hal36a6 =1)
or (1 <= hal37a6 <=2) or (hal4la6 eq 1) or (1 <= hal38a6 <=2)
then hala6=1;

if g49ahal eq 1 then hala7=1;
if g50ahal eq 1 then hala8=1;
if g5lahal eq 1 then hala9=1;

halatot=sum(of halal-hala9);
if halatot >= 3 then halcrita=1;

* B CRITERIA;

if halal eq 1 then halbl=1;
if g42ahal eq 1 and
(( 1 <= gb2chal <= 3) and (crtage > g42bhal))
or ((g42chal eq 4) and (1 <= db42hal <= 54)) then hal42b=1;
if g43ahal eq 1 and
(( 1 <= g43chal <= 3) and (crtage > g&43bhal))
or ((g43chal eq 4) and (1 <= db43hal <= 54)) then hal43b=1;
if g44ahal eq 1 and
(( 1 <= ghbchal <= 3) and (crtage > g44bhal))
or ((g44chal eq 4) and (1 <= db44hal <= 54)) then hal44b=1;
if hal42b eq 1 or hal43b eq 1 or haldsb eq 1 then halb2=1;
if g46ahal eq 1 then halb3=1;
if g30ahal eq 1 or g3lahal eq 1 or g34ahal eq 1 then halb4=1;
if g52ahal eq 1 and
(( 1 <= g52chal <= 3) and (crtage > g52bhal))
or ((g52chal eq 4) and (1 <= db52hal <= 54)) then halb5=1;
if hala6=1 then halbé=1;
if g49ahal eq 1 and
(( 1 <= gh9chal <= 3) and (crtage > g49bhal))
or ((g49chal eq 4) and (1 <= db49%hal <= 54)) then halb7=1;
if g50ahal eq 1 and
(( 1 <= g50chal <= 3) and (crtage > g50bhal))
or ((g50chal eq 4) and (1 <= db50hal <= 54)) then halb8=1;
halbtot=sum(of halbl-halb8);
if halbtot >= 2 then halcritb=1;

if halcrita eq 1 and halcritb eq 1 then dlifhal=1; else dlifhal=0;



sk ttobdkkkkdkdkk kst HEROIN *****************************;

/* age in d minus age in b (valid if difference is in range of 1-54)%/
db32her=g32dher-g32bher;
db33her=g33dher-g33bher;
db37her=g37dher-g37bher;
db38her=g38dher-g38bher;
db42her=g42dher - g42bher;
db43her=g43dher-g43bher;
db44her=gibdher - ghsbher;
db49her=g49dher-g49bher;
db50her=g50dher-g50bher;
db52her=g52dher-g52bher;

/* age in g9f minus age in b (valid if difference is in range of 1-54)
g9f = age last time used her */
1b32her=g9f-g32bher;
1b33her=g9f-g33bher;
1b37her=g9f-g37bher;
1b38her=g9f-g38bher;

* A CRITERIA;

if g47aher eq 1 or g48aher eq 1 then heral=1;
if g42aher eq 1 or gi43aher eq 1 or g44aher eq 1 then hera2=1;
if g4baher eq 1 then hera3=1;
if g30aher eq 1 or g3laher eq 1 or g34aher eq 1 then heraé4=1;
if g52aher eq 1 then hera5=1;

if g32aher eq 1 and
((1 <= g32cher <= 3) and (crtage > g32bher))
or ((g32cher eq 4) and (1 <= db32her <=54)) then her32a6=1;
if g32aher eq 1 and
((1 <= rcuseher <=3) and (crtage > g32bher))
or ((rcuseher eq 4) and (1 <= 1b32her <=54)) then her32a6=2;
if g32aher eq 1 and g32eher eq 1 then her32a6=3;
if g33aher eq 1 and
((1 <= g33cher <= 3) and (crtage > g33bher))
or ((g33cher eq 4) and (1 <= db33her <=54)) then her33a6=1;
if g33aher eq 1 and
((1 <= rcuseher <=3) and (crtage > g33bher))
or ((rcuseher eq 4) and (1 <= 1b33her <=54)) then her33a6=2;
if g36aher eq 1 then her36a6=1;

if g37aher eq 1 and
((1 <= g37cher <= 3) and (crtage > g37bher))
or ((g37cher eq 4) and (1 <= db37her <=54)) then her37a6=1;
if g37aher eq 1 and
((1 <= rcuseher <=3) and (crtage > g37bher))
or ((rcuseher eq 4) and (1 <= 1b37her <=54)) then her37a6=2;

if g4laher eq 1 then her4laé6=1;
if g38aher eq 1 and
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((1 <= g38cher <= 3) and (crtage > g38bher))
or ((g38cher eq 4) and (1 <= db38her <=54)) then her38a6=1;

if g38aher eq 1 and
((1 <= rcuseher <=3) and (crtage > g38bher))
or ((rcuseher eq 4) and (1 <= 1b38her <=54)) then her38a6=2;
if (1 <= her32a6 <=3) or (1 <=her33a6 <= 2) or (her36a6 =1)
or (1 <= her37a6 <=2) or (her4la6 eq 1) or (1 <= her38a6 <=2)
then hera6=1;

if g49aher eq 1 then hera7=1;
if g50aher eq 1 then hera8=1;
if g5Slaher eq 1 then hera9=1;

heratot=sum(of heral-hera9);
if heratot >= 3 then hercrita=l;

* B CRITERIA;

if heral eq 1 then herbl=1;
if g42aher eq 1 and
(( 1 <= gb2cher <= 3) and (crtage > g&42bher))
or ((gh2cher eq 4) and (1 <= db42her <= 54)) then her42b=1;
if g43aher eq 1 and
(( 1 <= g43cher <= 3) and (crtage > gi43bher))
or ((gh3cher eq 4) and (1 <= db43her <= 54)) then her43b=1;
if g4bdaher eq 1 and
(( 1 <= ghbcher <= 3) and (crtage > gbbbher))
or ((ghbcher eq 4) and (1 <= dbdbher <= 54)) then her44b=1;
if her42b eq 1 or her43b eq 1 or herdédb eq 1 then herb2=1;
if g4b6aher eq 1 then herb3=1;
if g30aher eq 1 or g3laher eq 1 or g34aher eq 1 then herbs4=1;
if g52aher eq 1 and
(( 1 <= gd2cher <= 3) and (crtage > g52bher))
or ((g52cher eq 4) and (1 <= db52her <= 54)) then herb5=1;
if heraé6=1 then herbé=1;
if g49aher eq 1 and
(( 1 <= g49cher <= 3) and (crtage > g49bher))
or ((g49cher eq 4) and (1 <= db49her <= 54)) then herb7=1;
if g50aher eq 1 and
(( 1 <= g50cher <= 3) and (crtage > g50bher))
or ((g50cher eq 4) and (1 <= db50her <= 54)) then herb8=1;
herbtot=sum(of herbl-herb8);
if herbtot >= 2 then hercritb=1;

if hercrita eq 1 and hercritb eq 1 then dlifher=1; else dlifher=0;
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9 3 S 3 3k 3k 3k S ok vk ok 2 ok e ok Sk sk ok vk ok Sk S s ak b S ab sk b sk s sk sk ok gk s ok S sk ke ke ke Y sk vk S s sk ke e sk ke e sk e e s sk ke ke sk e ok ;
/* 2. DRUG2.SAS

DLOAxXXX :

DEPENDENCE, LIFETIME, ONSET AGE

and/or 2nd A and/or 1lst A and/or B age is missing.
rank ages of A3rd, A2nd, Alst, B2nd, Blst and

select max valid as the lifetime onset age

(rather than imputing)

exception: 2 cases still hand-coded see end of program

Ages as stored in nshsdrug.ssd0l are set to 999 rather than '.’
When using the min function, . is considered less than a value;
But when a valid age is compared to 999 (as in crtage > 999) the
expression is correctly evaluated as false.

*/
T T *
I ALCOHOL

B I R i R P *;

* A Criteria Ages;

if

if

if
if
if
if

if
if

dlifalc eq
oaalcal
dlifalc eq
oaalca?
dlifalc eq
dlifalc eq

1

and alcal eq 1 then

= min(g47balc,gi48balc); else oaalcal=999;

1

and alca2 eq 1 then

= min(g42balc,gi3balc,gibbalc); else oaalca2=999;

1
1

and alca3 eq 1 then oaalca3 = g4ébalc; else oaalca3=999;
and alca4 eq 1 then

oaalca4= min(g30balc, g3lbalc,g34balc); else oaalca4=999;

dlifalc eq
dlifalc eq
oaalcab

dlifalc eq
dlifalc eq

/* there

* B criteria ages;

if

if

if
if
if
if

if

dlifalc eq
oaalcbl
dlifalc eq
oaalcb2
dlifalc eq
dlifalc eq

dlifalc eq
dlifalc eq

1
1

1
1

i

1
1
1
1

1
1

and alca5 eq 1 then oaalca5 = g52balc; else oaalca5=999;
and alca6é eq 1 then

min(g32balc, g33balc,g36balc,g37balc, g38balc, ghlbalc);
else oaalca6=999;

and alca7 eq 1 then oaalca7 = g49balc; else oaalca7=999;
and alca8 eq 1 then oaalca8 = g50balc; else oaalca8=999;

s no g5lbalc so cannot make oaalca%9 */

and alcbl eq 1 then

min(g47balc, g48balc); else oaalcbl=999;

and alcb2 eq 1 then

min(g42balc, g43balc, gbbbalc); else oaalcb2=999;

and alcb3 eq 1 then oaalcb3 = gi4ébalc; else oaalcb3=999;

and alcb4 eq 1 then oaalcb4= min(g30balc, g3lbalc, g34balc);
else oaalcb4=999;

and alcb5 eq 1 then oaalcb5 = g52balc; else oaalcb5=999;

and alcb6 eq 1 then

oaalcb6 =min(g32balc,g33balc,g36balc,g37balc,g38balc,gilbalc);

else oaalcb6=999;

dlifalc eq 1 and alcb7 eq 1 then oaalcb7 = g49balc; else oaalcb7=999;
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if dlifalc eq 1 and alcb8 eq 1 then oaalcb8 = g50balc; else oaalcb8=999;

alca3rd=ordinal(3, oaalcal, oaalca2, oaalca3, oaalca4, oaalca5,
oaalca6, oaalca7, oaalca8);

alca?nd=ordinal(2, oaalcal, oaalca2, oaalca3, oaalca4, oaalca$,
oaalca6, oaalca7, oaalca8);

alcalst=ordinal(l, oaalcal, oaalca2, oaalca3, oaalca4, oaalca5,
oaalca6, oaalca7, oaalca8);

alcb2nd=ordinal(2, oaalcbl, oaalcb2, oaalcb3, oaalcb4, oaalchbs,
oaalcb6, oaalcb7, oaalcb8);

alcblst=ordinal(l, oaalcbl, oaalcb2, ocaalcb3, oaalcb4, ocaalchbs,
oaalcb6, oaalcb7, oaalcbh8);

array missl{¥*) alca3rd alca2nd alcalst aclb2nd alcblst;
do i=1 to dim(missl);
if miss1(i)=999 then missl{i)=.; end; drop i;

dloaalc=max(alca3rd,alca2nd,alcalst,aclb2nd,alcblst);

/* A Criteria Ages */
if dlifsed eq 1 and sedal eq 1 then
oasedal = min(g47bsed, g48bsed); else oasedal=999;
if dlifsed eq 1 and seda2 eq 1 then
oaseda? = min(g42bsed, g43bsed, ghbtbsed); else oaseda2=999;
if dlifsed eq 1 and seda3 eq 1 then
oaseda3 = g46bsed; else oaseda3=999;
if dlifsed eq 1 and seda4 eq 1 then
oaseda4= min(g30bsed, g31lbsed, g34bsed); else oaseda4=999;
if dlifsed eq 1 and seda5 eq 1 then
oaseda5 = g52bsed; else oaseda5=999;
if dlifsed eq 1 and seda6 eq 1 then
oaseda6 =min(g32bsed, g33bsed, g36bsed, g37bsed, g38bsed, ghlbsed);
else oaseda6=999;
if dlifsed eq 1 and seda7 eq 1 then
oaseda/ = gi49bsed; else oaseda7=999;
if dlifsed eq 1 and seda8 eq 1 then
oaseda8 = g50bsed; else oaseda8=999;
/* there is no g5lbsed so cannot make oaseda9 */

* B criteria ages;

if dlifsed eq 1 and sedbl eq 1 then

1
oasedbl = min(g47bsed,g48bsed); else oasedbl=999;
if dlifsed eq 1 and sedb2 eq 1 then
oasedb2 = min(g42bsed, g43bsed, gbsbsed); else oasedb2=999;
if dlifsed eq 1 and sedb3 eq 1 then

oasedb3 ghbbsed; else oasedb3=999;
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if dlifsed eq 1 and sedb4 eq 1 then
oasedb4= min(g30bsed, g31bsed, g34bsed); else oasedb4=999;
if dlifsed eq 1 and sedb5 eq 1 then
oasedb5 = g52bsed; else oasedb5=999;
if dlifsed eq 1 and sedb6 eq 1 then
oasedbé =min(g32bsed, g33bsed, g36bsed, g37bsed, g38bsed, g4lbsed) ;
else oasedb6=999;
if dlifsed eq 1 and sedb7 eq 1 then
oasedb7 = g49bsed; else oasedb7=999;
if dlifsed eq 1 and sedb8 eq 1 then
oasedb8 g50bsed; else oasedb8=999;

seda3rd=ordinal (3, oasedal, oaseda2, oaseda3, oaseda4, oaseda5,
oaseda6, oaseda’7, oaseda8);

seda2nd=ordinal (2, oasedal, oaseda2, oaseda3, oaseda4, oaseda5,
oasedab, oaseda7, oaseda8);

sedalst=ordinal(l, oasedal, oaseda2, oaseda3, oaseda4, oaseda$,
oasedab, oaseda7, oaseda8);

sedb2nd=ordinal (2, oasedbl, oasedb2, oasedb3, oasedb4, oasedb5,
oasedb6, oasedb7, oasedb8);

sedblst=ordinal(l, oasedbl, oasedb2, oasedb3, oasedb4, oasedb5,
oasedb6, oasedb7, oasedb8);

array miss2{*) seda3rd seda?nd sedalst sedb2nd sedblst;
do i=1 to dim(miss2);
if miss2({1}=999 then miss2(i)}=.; end; drop i;

dloased=max(seda3rd, seda2nd, sedalst,sedb2nd, sedblst);

* A Criteria Ages;

if dliftrq eq 1 and trqal eq 1 then
oatrqal = min(g47btrq,git8btrq); else oatrqal=999;
if dliftrq eq 1 and trqa2 eq 1 then
oatrqa?2 = min(g42btrq,g43btrq,gbbbtrq); else oatrqa2=999;
if dliftrq eq 1 and trqa3 eq 1 then
oatrqa3 = gi4bbtrq; else oatrqa3=999;
if dliftrq eq 1 and trqa4 eq 1 then

oatrqa4= min(g30btrq,g3lbtrq, g34btrq); else oatrqas4=999;
if dliftrq eq 1 and trqa5 eq 1 then
oatrqa5 = g52btrq; else oatrqa5=999;
if dliftrq eq 1 and trqa6 eq 1 then
oatrqa6é =min(g32btrq,g33btrq,g36btrq,g37btrq,g38btrq, gblbtrq);
else oatrqa6=999;
if dliftrq eq 1 and trqa7 eq 1 then
oatrqa’/ = gi49btrq; else oatrqa7=999;
if dliftrq eq 1 and trqa8 eq 1 then
oatrqa8 = g50btrq; else oatrqa8=999;
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there

/*

* B criteria ages;

* A Criteria Ages;

if dlifsti eq
oastial
if dlifsti eq
oastia2
if dlifsti eq
oastia3
if dlifsti eq

is no g5lbtrq so cannot make oatrqa9 */

Ll B o

if dliftrq eq 1 and trgbl eq 1 then
oatrgbl = min(g47btrq,gs8btrq); else oatrqbl=999;
if dliftrq eq 1 and trqb2 eq 1 then
oatrgb2 = min(g42btrq, g43btrq, gh4btrq); else oatrgb2=999;
if dliftrq eq 1 and trgb3 eq 1 then
oatrgb3 = g4ébtrq; else oatrqb3=999;
if dliftrq eq 1 and trqb4 eq 1 then
oatrgb4= min(g30btrq, g3lbtrq, g34btrq); else oatrqb4=999;
if dliftrq eq 1 and trqb5 eq 1 then
oatrgb5 = g52btrq; else oatrqb5=999;
if dliftrq eq 1 and trqgb6é eq 1 then
oatrqbé = min(g32btrq, g33btrq,g36btrq,g37btrq,g38btrq,ghlbtrq);
else oatrgb6=999;
if dliftrq eq 1 and trqb7 eq 1 then
oatrgb7 = g49btrq; else oatrqb7=999;
if dliftrq eq 1 and trqb8 eq 1 then
oatrgb8 = g50btrq; else oatrqb8=999;
trqa3rd=ordinal(3, oatrqal, oatrqa2, oatrqa3, oatrqa4, oatrqa$,
oatrqab, oatrqa7, oatrqa8);
trqa2nd=ordinal(2, oatrqal, oatrqa2, oatrqa3, oatrqa4, oatrqa5,
oatrqab, oatrqa7, oatrqa8);
trqalst=ordinal(l, oatrqal, oatrqa2, oatrqa3, oatrqa4, oatrqa$,
oatrqa6b, oatrqa7, oatrqa8);
trqb2nd=ordinal (2, oatrgbl, oatrgb2, oatrgb3, oatrgb4, oatrgbs,
oatrgb6, oatrgb7, oatrgb8);
trgblst=ordinal(l, oatrqgbl, oatrgb2, oatrqb3, oatrgb4, oatrgb5,
oatrgb6, oatrgb7, oatrgb8);
array miss3{*) trqa3rd trqa2nd trqalst trgb2nd trgblst;
do i=1 to dim(miss3);
if miss3(1)=999 then miss3(i)=.; end; drop i;
dloatrq=max(trqa3rd, trqa2nd, trqalst, trqb2nd, trgblst);
.................................................................. *
STIMULANTS
.................................................................. *

and stial eq 1 then

min(gs7bsti, gh8bsti); else oastial=999;

and stia2 eq 1 then

min(g42bsti,g43bsti, gbbsbsti); else oastia2=999;
and stia3 eq 1 then

ghbbsti; else oastia3=999;

and stia4 eq 1 then
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oastia4= min(g30bsti,g3lbsti,g34bsti); else oastia4=999;

if dlifsti eq
oastia5
if dlifsti eq
oastiab

if dlifsti eq
oastia7

if dlifsti eq
oastia8

/* there

* B criteria ages;

if dlifsti eq
oastibl
dlifsti eq
oastib2
dlifsti eq
oastib3
dlifsti eq

if
if

if

1
1

1

1

is no g5lbsti so cannot make

1
1
1
1

and stia5 eq 1 then

g52bsti; else oastia5=999;

and stia6é eq 1 then

min(g32bsti,g33bsti,g36bsti,g37bsti,g38bsti,ghlbsti);
else oastia6=999;

and stia7 eq 1 then

gh9bsti; else oastia7=999;

and stia8 eq 1 then

g50bsti; else oastia8=999;

oastia9 */

and stibl eq 1 then
min(g47bsti,gh8bsti); else
and stib2 eq 1 then
min(gh2bsti,gh3bsti, g4sbsti); else oastib2=999;
and stib3 eq 1 then

ghbbsti; else oastib3=999;

and stib4 eq 1 then

oastibl=999;

oastib4= min(g30bsti,g3lbsti,g34bsti); else oastib4=999;

if dlifsti eq
oastib5
dlifsti eq

oastibéb

if

if dlifsti eq
oastib7?
if dlifsti eq

oastib8

stia2nd=ordinal (2, oastial, oastia2,
stialst=ordinal(l, oastial, oastia?,

stib2nd=ordinal (2, oastibl, oastib2,

[l I

=1

and stib5 eq 1 then

g52bsti; else oastib5=999;

and stib6 eq 1 then

min(g32bsti,g33bsti,g36bsti,g37bsti,g38bsti,gblbsti);
else oastib6=999;

and stib7 eq 1 then

gh9bsti; else oastib7=999;

and stib8 eq 1 then

g50bsti; else oastib8=999;

stia3rd=ordinal (3, oastial, oastia2, oastia3, oastia4, oastia5,

oastia6b, oastia7, oastia8);
oastia3, oastia4, oastia5,

oastia6, oastia7, oastia8);
oastial, oastia4, oastial,

oastia6b, oastia7, oastia8);
oastib3, oastib4, oastib5,

oastib6, oastib7, oastib8);
oastib3, oastib4, oastib5,

stiblst=ordinal(l, oastibl, oastib2,

oastib6, oastib7, oastib8);

array miss4{*) stia3rd stia2nd stialst stib2nd stiblst;
do i=1 to dim(miss4);
if miss4(i)=999 then miss4({i)=.; end; drop i;

dloasti=max(stia3rd,stia2nd,stialst,stib2nd,stiblst);
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* A Criteria Ages;

if

if

if

if

if

if

if

if

dlifags eq
oaagsal
dlifags eq
oaagsa?
dlifags eq
oaagsa3
dlifags eq

Ll I B B S

and agsal eq 1 then

min(g47/bags, gh8bags); else oaagsal=999;

and agsa2 eq 1 then

min(g42bags, gh3bags, gbsbags); else oaagsa2=999;
and agsa3 eq 1 then

ghbbags; else oaagsa3=999;

and agsa4 eq 1 then

oaagsa4= min(g30bags,g3lbags,g34bags); else oaagsa4=999;

dlifags eq
oaagsa5
dlifags eq
oaagsab

dlifags eq
oaagsa7
dlifags eq
oaagsa8
/* there

* B criteria ages;

if

if

if

if

if

if

if

if

dlifags eq
oaagsbl
dlifags eq
oaagsb2
dlifags eq
oaagsb3
dlifags eq

I e T

==

and agsa5 eq 1 then :

g52bags; else oaagsa5=999;

and agsa6é eq 1 then

min(g32bags,g33bags, g36bags,g37bags, g38bags, g4lbags);

else oaagsa6=999;

and agsa7 eq 1 then

gh9bags; else oaagsa7=999;

and agsa8 eq 1 then '

g50bags; else oaagsa8=999;

is no g5lbags so cannot make oaagsa9 */

L I o B I

and agsbl eq 1 then

min(g47bags,gh8bags); else oaagsbl=999;

and agsb2 eq 1 then

min(g42bags, gh3bags, ghsbags); else oaagsb2=999;
and agsb3 eq 1 then

ghbbags; else oaagsb3=999;

and agsb4 eq 1 then

oaagsb4= min(g30bags,g3lbags,g34bags); else oaagsb4=999;

dlifags eq
oaagsb5
dlifags eq
oaagsb6

dlifags eq
oaagsb7
dlifags eq
oaagsb8

U

=

and agsb5 eq 1 then

g52bags; else oaagsb5=999;

and agsb6 eq 1 then

min(g32bags, g33bags, g36bags, g37bags, g38bags, gblbags) ;
else oaagsb6=999;

and agsb7 eq 1 then

gb9bags; else oaagsb7=999;

and agsb8 eq 1 then

g50bags; else oaagsb8=999;

agsa3rd=ordinal (3, oaagsal, oaagsa2, oaagsa3, oaagsa4, oaagsa5,
oaagsab, oaagsa’/, oaagsa8);
agsa2nd=ordinal(2, oaagsal, oaagsa2, oaagsa3, oaagsa4, oaagsa5,
oaagsab, oaagsa’/, oaagsa8);
agsalst=ordinal(l, oaagsal, oaagsa2, oaagsa3, oaagsa4, oaagsa5,
oaagsab, oaagsa7, oaagsa8);
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agsb2nd=ordinal (2, oaagsbl, oaagsb2, oaagsb3, oaagsb4, oaagsb5,
oaagsb6, oaagsb7, oaagsb8);

agsblst=ordinal(l, oaagsbl, oaagsb2, oaagsb3, oaagsb4, oaagsb5,
oaagsb6, oaagsb7, oaagsb8);

array miss5{*) agsa3rd agsa2nd agsalst agsb2nd agsblst;
do i=1 to dim(miss5);
if miss5(i)=999 then miss5(i}=.; end; drop i;

dloaags=max(agsa3rd,agsa2nd,agsalst,agsb2nd,agsblst);

* A Criteria Ages;

if dlifinh eq
oainhal
if dlifinh eq
oainha2
if dlifinh eq
oainhal
if dlifinh eq

ol I o ]

and inhal eq 1 then

min(g47binh, g48binh); else o0ainhal=999;

and inha2 eq 1 then

min(g42binh, g43binh,g44binh); else oainha2=999;
and inha3 eq 1 then

g4bbinh; else oainha3=999;

and inha4 eq 1 then

oainha4= min(g30binh, g31lbinh, g34binh); else oainha4=999;

if dlifinh eq
oainha5
if dlifinh eq
oainhab

if dlifinh eq
oainha7

if dlifinh eq
oainha8

/* there

* B criteria ages;

if dlifinh eq
oainhbl
if dlifinh eq
oainhb2
if dlifinh eq
oainhb3
if dlifinh eq

=1

1
1

and inha5 eq 1 then

g52binh; else oainha5=999;

and inha6 eq 1 then

min(g32binh, g33binh, g36binh, g37binh, g38binh, g4lbinh);

else 0ainha6=999;

and inha7 eq 1 then

g49binh; else oainha7=999;

and inha8 eq 1 then

g50binh; else o0ainha8=999;

is no g5lbinh so cannot make oainha9 */

[l I | I R =

and inhbl eq 1 then

min(g47binh, g48binh); else o0ainhbl=999;

and inhb2 eq 1 then

min(g42binh, g43binh, g44binh); else o0ainhb2=999;
and inhb3 eq 1 then

ghbbinh; else oainhb3=999;

and inhb4 eq 1 then

oainhb4= min(g30binh, g3lbinh, g34binh); else o0ainhb4=999;

if dlifinh eq
oainhb5
if dlifinh eq
oainhb6

if dlifinh eq

1

1

1

and inhb5 eq 1 then

g52binh; else oainhb5=999;

and inhb6 eq 1 then

min(g32binh, g33binh, g36binh, g37binh, g38binh, g4lbinh);
else 0ainhb6=999;

and inhb7 eq 1 then
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oainhb7

= g49binh; else 0ainhb7=999;

if dlifinh eq 1 and inhb8 eq 1 then

oainhb8

= g50binh; else o0ainhb8=999;

inha3rd=ordinal (3, oainhal, oainha2, oainha3, oainha4, oainha$5,
oainha6, oainha7, oainha8);
inha2?nd=ordinal (2, oainhal, oainha2, oainha3, oainha4, oainha$5,
oainha6, oainha7, oainha8);
inhalst=ordinal(l, oainhal, oainha2, oainha3, oainha4, oainha5,
oainha6, oainha7, oainha8);
inhb2nd=ordinal (2, oainhbl, oainhb2, oainhb3, oainhb4, oainhbS5,
oainhb6, oainhb7, oainhb8);
inhblst=ordinal (1, oainhbl, oainhb2, oainhb3, oainhb4, oainhb5,
oainhb6, oainhb7, o0ainhb8);

array miss6{*) inha3rd inha2nd inhalst inhb2nd inhblst;
do 1i=1 to dim(missé6);
if miss6(1i)=999 then miss6{i)=.; end; drop i;

dloainh=max(inha3rd, inha2nd, inhalst,inhb2nd, inhblst);

* A Criteria Ages;

if

if

if

if

if

if

if

if

dlifmar eq
oamaral
dlifmar eq
oamara?2
dlifmar eq
oamara3
dlifmar eq

and maral eq 1 then

min(g47bmar, g48bmar); else oamaral=999;

and mara2 eq 1 then
min(g42bmar, g43bmar, ghtbmar); else oamara2=999;
and mara3 eq 1 then

ghbbmar; else oamara3=999;

and mara4 eq 1 then

(ol T I I

oamara4= min(g30bmar, g3lbmar, g34bmar); else oamara4=999;

dlifmar eq
oamarab
dlifmar eq
oamarab

dlifmar eq
oamara7
dlifmar eq
oamara$8
/* there

* B criteria ages;

and mara5 eq 1 then

g52bmar; else oamara5=999;

and mara6 eq 1 then

min(g32bmar, g33bmar, g36bmar, g37bmar, g38bmar, g4lbmar) ;
else oamara6=999;

and mara7 eq 1 then

g49bmar; else oamara7=999;

and mara8 eq 1 then

g50bmar; else oamara8=999;

is no g5lbmar so cannot make oamara9 */

[

=

if dlifmar eq 1 and marbl eq 1 then

oamarbl

= min(g47bmar, g48bmar); else oamarbl=999;

if dlifmar eq 1 and marb2 eq 1 then
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oamarb2 = min(g42bmar, g43bmar, gb4bmar); else oamarb2=999;
if dlifmar eq 1 and marb3 eq 1 then

oamarb3 = gi46ébmar; else oamarb3=999;
if dlifmar eq 1 and marb4 eq 1 then

oamarb4= min(g30bmar, g3lbmar, g34bmar); else oamarb4=999;

if dlifmar eq 1 and marb5 eq 1 then
oamarb5 = g52bmar; else oamarb5=999;
if dlifmar eq 1 and marb6 eq 1 then
oamarb6é = min(g32bmar, g33bmar, g36bmar, g37bmar, g38bmar, g4lbmar) ;

else oamarb6=999;
if dlifmar eq 1 and marb7 eq 1 then
oamarb7 = g49bmar; else oamarb7=999;
if dlifmar eq 1 and marb8 eq 1 then
oamarb8 = g50bmar; else oamarb8=999;

mara3rd=ordinal (3, oamaral, oamara2, oamara3, oamara’4, oamara5,
oamarab, oamara’/, oamara8);

mara2nd=ordinal (2, oamaral, oamara2, oamara3, oamara4, oamara5,
oamarab, oamara/, oamara8);

maralst=ordinal(l, oamaral, oamara2, oamara3, oamaral4, oamara$,
oamarab, oamara’/, oamara8);

marb2nd=ordinal (2, oamarbl, oamarb2, oamarb3, oamarb4, oamarb5,
oamarb6, oamarb7, oamarb8);

marblst=ordinal(l, oamarbl, oamarb2, oamarb3, oamarb4, oamarb5,
oamarb6, oamarb7, oamarb8);

array miss7{*) mara3rd mara2nd maralst marb2nd marblst;
do i=1 to dim(miss7);

if miss7(i)}=999 then miss7{(i)=.; end; drop i;

dloamar=max(mara3rd,mara2nd,maralst,marb2nd,marblst);

* A Criteria Ages;

if dlifcoc eq 1 and cocal eq 1 then
oacocal = min(g&7bcoc,gi8bcoc); else oacocal=999;
if dlifcoc eq 1 and coca2 eq 1 then
oacoca? = min(gi42bcoc, g43bcoc, ghbbcoc); else oacoca2=999;
if dlifcoc eq 1 and coca3 eq 1 then
oacoca3 = g4bbcoc; else oacoca3=999;
if dlifcoc eq 1 and coca4 eq 1 then

oacoca4= min(g30bcoc, g3lbcoc, g34bcoc); else oacoca4s=999;
if dlifcoc eq 1 and coca5 eq 1 then
oacoca5 = g52bcoc; else oacoca5=999;
if dlifcoc eq 1 and coca6 eq 1 then
oacocab = min(g32bcoc, g33bcoc, g36bcoc,g37bcoc, g38bcoc, gb4lbcoc);
else oacoca6=999;
if dlifcoc eq 1 and coca7 eq 1 then
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oacocal =

gh9bcoc; else oacoca7=999;

if dlifcoc eq 1 and coca8 eq 1 then

oacoca8 =

/*

* B criteria ages;

if dlifcoc eq 1 and cocbl eq 1 then
oacocbl = min(g47bcoc,gh8bcoc); else oacocbl=999;
if dlifcoc eq 1 and cocb2 eq 1 then
oacocb2 = min(g42bcoc, g43bcoc,ghbbcoc); else oacocb2=999;
if dlifcoc eq 1 and cocb3 eq 1 then
oacocb3 = g46bcoc; else oacocb3=999;
if dlifcoc eq 1 and cocb4 eq 1 then
oacocb4= min(g30bcoc, g3lbcoc, g34bcoc); else oacocb4=999;
if dlifcoc eq 1 and cocb5 eq 1 then
oacocb5 = g52bcoc; else oacocb5=999;
if dlifcoc eq 1 and cocb6 eq 1 then
oacocbé = min(g32bcoc, g33bcoc,g36bcoc, g37bcoc, g38bcoc, g4lbcoc);
else oacocb6=999;
if dlifcoc eq 1 and cocb7 eq 1 then
oacocb7 = g49bcoc; else oacocb7=999;
if dlifcoc eq 1 and cocb8 eq 1 then
oacocb8 = g50bcoc; else oacocb8=999;
coca3rd=ordinal (3, oacocal, oacoca2, oacoca3, oacocad, oacoca5,
oacocab, oacoca’7, oacoca8);
coca2nd=ordinal (2, oacocal, oacoca2, oacoca3, oacoca4, oacoca5,
oacocab, oacoca’7, oacoca8);
cocalst=ordinal(l, oacocal, oacoca2, oacoca3, oacoca4, oacoca5,
oacocab, oacoca7, oacoca8);
cocb2nd=ordinal (2, oacocbl, oacocb2, oacocb3, oacocb4, oacocb5,
oacocb6, oacocb7, oacocb8);
cocblst=ordinal(l, oacocbl, oacocb2, oacocb3, oacocb4, oacocb5,
oacocbé6, oacocb7, ocacocb8);
array miss8({*) coca3rd coca2?nd cocalst cocb2nd cocblst;
do i=1 to dim(miss8);
if miss8(i)=999 then miss8(i}=.; end; drop i;
dloacoc=max(coca3rd,coca2nd,cocalst,cocb2nd, cocblst);
K oo e e e e e e e e e e e e e e e e e e e eeeeeemeeccceememceeemmmmaen *
| HALLUCINOGENS
T T T T T T T ey gy Sy *;

g50bcoc; else oacoca8=999;

there is no g5lbcoc so cannot make oacoca9 */

/* A Criteria Ages */
if dlifhal eq 1

oahalal

if dlifhal eq

1
oahala?2 =
1

if dlifhal eq

and halal eq 1 then

min(g47bhal, g48bhal); else oahalal=999;

and hala2 eq 1 then

min(g42bhal, g43bhal, gbsbhal); else oahala2=999;
and hala3 eq 1 then
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oahala3 = g46bhal; else oahala3=999;
if dlifhal eq 1 and hala4 eq 1 then
oahala4= min(g30bhal, g31lbhal, g34bhal); else oahala4=999;

if dlifhal eq
oahala5
if dlifhal eq
oahalaé

if dlifhal egq
oahala7

if dlifhal eq
oahala8

/* there

* B criteria ages;

if dlifhal eq
oahalbl
dlifhal eq
oahalb2
dlifhal eq
oahalb3

dlifhal eq

if

if

if

U I

=

is no g5lbhal so cannot make

Ll R T I

and hala5 eq 1 then

g52bhal; else oahala5=999;

and hala6é eq 1 then

min(g32bhal, g33bhal, g36bhal, g37bhal, g38bhal, g4lbhal);
else oahala6=999;

and hala7 eq 1 then

g49bhal; else oahala7=999;

and hala8 eq 1 then

g50bhal; else oahala8=999;

oahala9 */

and halbl eq 1 then
min(g47bhal, g48bhal); else
and halb2 eq 1 then
min(g42bhal, g43bhal, g44bhal); else 0ahalb2=999;
and halb3 eq 1 then

ghbbhal; else o0ahalb3=999;

and halb4 eq 1 then

oahalbl=999;

oahalb4= min(g30bhal, g31bhal, g34bhal); else oahalb4=999;

if dlifhal eq
oahalb5
dlifhal eq

oahalbé

if

if dlifhal eq
oahalb7
dlifhal eq

oahalb8

if

hala3rd=ordinal(3, oahalal, oahala2,
hala2nd=ordinal (2, oahalal, oahala2,
halalst=ordinal(l, oahalal, oahala2,

halb2nd=ordinal (2, oahalbl, oahalb2,

[ B

=i

and halb5 eq 1 then

g52bhal; else oahalb5=999;

and halb6é eq 1 then

min(g32bhal, g33bhal, g36bhal, g37bhal, g38bhal, g4lbhal);
else o0ahalb6=999;

and halb7 eq 1 then

g49bhal; else oahalb7=999;

and halb8 eq 1 then

g50bhal; else oahalb8=999;

oahala3, oahala4, oahala5,
oahala6, oahala7, oahala8);

oahala3, oahala4, oahala)l,
oahala6, oahala7, oahala8);

oahala3, oahala4, oahala$,
oahala6, oahala7, oahala8);

oahalb3, oahalb4, oahalb5,
oahalb6, oahalb7, oahalb8);

oahalb3, oahalb4, oahalb5,

halblst=ordinal(l, oahalbl, oahalb2,

oahalb6, oahalb7, oahalb8);

array miss9{*) hala3rd hala2nd halalst halb2nd halblst;
do i=1 to dim(miss9);
if miss9(i)=999 then miss9{i)=.; end; drop i;

dloahal=max(hala3rd,hala2nd,halalst,halb2nd,halblst);
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* A Criteria Ages;

if
if
if
if
if

if

if

if

dlifher eq
oaheral
dlifher eq
oahera2
dlifher eq
oahera3
dlifher eq
oahera4=
dlifher eq
oaherab
dlifher eq
oaheraé

dlifher eq
oahera?
dlifher eq
oahera8

/* there

* B criteria ages;

if

if

if

dlifher eq
oaherbl
dlifher eq
oaherb?2
dlifher eq
oaherb3

if dlifher eq
oaherb4= min(g30bher, g3lbher, g34bher); else oaherb4=999;
if dlifher eq

oaherb5

if dlifher eq

oaherb6

if dlifher eq

oaherb?7

if dlifher eq

oaherb8

Ll B ol B

and heral eq 1 then

min(g47bher, g48bher); else oaheral=999;

and hera2 eq 1 then

min(g42bher, g43bher, gh4bher); else oahera2=999;
and hera3 eq 1 then

ghbbher; else oahera3=999;

and hera4 eq 1 then '

min(g30bher, g3lbher, g34bher); else oahera4=999;

Ul B

=

and hera5 eq 1 then

g52bher; else oahera5=999;

and hera6 eq 1 then

min(g32bher, g33bher, g36bher, g37bher, g38bher, g4lbher) ;

else oahera6=999;

and hera7 eq 1 then

gt9bher; else oahera7=999;

and hera8 eq 1 then

g50bher; else oahera8=999;

is no g5lbher so cannot make oahera9 */

= N

and herbl eq 1 then

min(g47bher, g48bher); else oaherbl1=999;

and herb2 eq 1 then

min(g42bher, g43bher, g44bher); else oaherb2=999;
and herb3 eq 1 then

ghb6bher; else oaherb3=999;

and herb4 eq 1 then

and herb5 eq 1 then

g52bher; else oaherb5=999;

and herb6 eq 1 then

min(g32bher, g33bher, g36bher, g37bher, g38bher, gtlbher) ;
else oaherb6=999;

and herb7 eq 1 then

gh9bher; else oaherb7=999;

and herb8 eq 1 then

g50bher; else oaherb8=999;

hera3rd=ordinal(3, oaheral, oahera2, oahera3, oahera4, oahera5,
oahera6, oahera7, oahera8);
hera?nd=ordinal (2, oaheral, oahera2, oahera3, oahera4, oahera$,
oahera6, oahera7, oahera8);
heralst=ordinal(l, oaheral, oahera2, oahera3, oahera4, oahera5,
oahera6, oahera7, oahera8);
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herb2nd=ordinal (2, oaherbl, oaherb2, oaherb3, oaherb4, oaherb5,

oaherb6, oaherb7, oaherb8);
herblst=ordinal (1, oaherbl, oaherb2, oaherb3, oaherb4, oaherb5,

oaherb6, oaherb7, oaherb8);
array misslO{*) hera3rd hera2nd heralst herb2nd herblst;
do i=1 to dim(misslO);
if miss10{i}=999 then misslO{i)=.; end; drop i;

dloaher=max(hera3rd,hera2nd,heralst,herb2nd,herblst);
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FRFFFXFF R AR R KR TR R Xk Rtk bbbk dsbsb s d kb d b sk s ek sk sk ok ;

/* 3. DRUG3.SAS
DRUG DEPENDENCE ONSET AGE, RECENCY, RECENCY AGE, etc

(## denotes: "Full Dependence Criteria Not Required")
#i# D1Pxxx: Dependence ever had at least 1 problem
## D1POAxxx: Dependence first Problem Onset Age
## DPRECxxx: Dependence problem, RECENCY
J# DPRAGxxx: Dependence problem, RECENCY AGE

DF1Yxxx: DEPENDENCE, FULL criteria in PAST 12 MONTHS (Y/N)

DF1Mxxx: DEPENDENCE, FULL criteria in PAST MONTH

*/
K e cccccecemmeccccccccecccenccnemacccoccsacaarrcrrcacacecaraerenen---
EVER HAD AT LEAST 1 DEPENDENCE PROBLEM?
i full criteria not required
1 =yes 0 =no
var names: D1Pxxx (DTPxxx = Dep TOTAL # PROB)
K e m e mmeecccccccc e e cce_c ;e e, e e e e e e, e, e e, e, e, _,. .- - -

array pralc(*)
g30aalc g3laalc g32aalc g33aalc g34aalc g36aalc g37aalc
ghlaalc g4laalc gh3aalc ghbaalc ghbaalc gh7aalc
gh9aalc g50aalc gS5laalc g52aalc;
dtpalc=0;
do i=1 to dim(pralc);
if pralc(i)=1 then dtpalc=dtpalc+l;
if dtpalc >= 1 then dlpalc=l; else dlpalc=0;
end; drop i;

array prsed(¥*)
g30ased g3lased g32ased g33ased g34ased g36ased g37ased
ghlased ghlased g43ased gh4ased ghbased gh7ased
gh9ased g50ased g5lased g52ased;
dtpsed=0;
do i=1 to dim(prsed);
if prsed{(i)=1 then dtpsed=dtpsed+l;
if dtpsed >= 1 then dlpsed=l; else dlpsed=O0;
end; drop i;

array prtrq(¥)
g30atrq g3latrq g32atrq g33atrq g34atrq g36atrq g37atrq
ghlatrq gb2atrq gh3atrq ghbatrq ghbatrq ghlatrq
gh9atrq g50atrq g5latrq g52atrq;
dtptrq=0;
do i=1 to dim(prtrq);
if prtrq(i)=1 then dtptrg=dtptrq+l;
if dtptrq >= 1 then dlptrq=l; else dlptrq=0;
end; drop i;
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array prsti(¥*)
g30asti g3lasti g32asti g33asti g34asti g3basti g37asti
gblasti ghlasti ghlasti ghbasti ghbasti gh7asti
gh9asti g50asti gSlasti g52asti;
dtpsti=0;
do i=1 to dim(prsti);
if prsti(i)=1 then dtpsti=dtpsti+l;
if dtpsti > 1 then dlpsti=1l; else dlpsti=0;
end; drop i;

array prags(*)
g30aags g3laags g32aags g33aags g34aags g36aags g37aags
ghlaags ghl2aags ghlaags ghlbaags ghbaags ghlaags
gh9aags g50aags gS5laags g52aags;
dtpags=0;
do i=1 to dim(prags);
if prags{i)=1 then dtpags=dtpags+l;
if dtpags >= 1 then dlpags=l; else dlpags=0;
end; drop 1i;

array prinh{*)
g30ainh g3lainh g32ainh g33ainh g34ainh g36ainh g37ainh
g4lainh g42ainh g43ainh g4b4ainh g46ainh g47ainh
g49ainh g50ainh g5lainh g52ainh;
dtpinh=0;
do i=1 to dim(prinh);
if prinh{i})=1 then dtpinh=dtpinh+l;
if dtpinh >= 1 then dlpinh=1; else dlpinh=0;
end; drop i;

array prmar{¥)
g30amar g3lamar g32amar g33amar g34amar g36amar g37amar
ghlamar g42amar g43amar ghbamar ghbamar gh7amar
g49amar gS50amar gSlamar g52amar;
dtpmar=0;
do i=1 to dim(prmar);
if prmar{i)=1] then dtpmar=dtpmar+l;
if dtpmar >= 1 then dlpmar=1l; else dlpmar=0;
end; drop i;

array prcoc{¥)
g30acoc g3lacoc g32acoc g33acoc g34acoc g36acoc g37acoc
gblacoc g42acoc gh3acoc ghbacoc ghbacoc ghlacoc
g49acoc g50acoc g5lacoc gS52acoc;
dtpcoc=0;
do i=1 to dim(prcoc);
if prcoc{i)=1 then dtpcoc=dtpcoc+l;
if dtpcoc >= 1 then dlpcoc=1l; else dlpcoc=0;
end; drop 1i;

array prhal({*)
g30ahal g3lahal g32ahal g33ahal g34ahal g36ahal g37ahal
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ghlahal g42ahal g43ahal g44ahal gh6ahal g47ahal g48ahal
g49ahal g50ahal g5lahal g52ahal;
dtphal=0;
do i=1 to dim(prhal);
if prhal{i)=1 then dtphal=dtphal+l;
if dtphal >= 1 then dlphal=l; else dlphal=0;
end; drop i;

array prher (%)
g30aher g3laher g32aher g33aher g34aher g36aher g37aher g38aher
ghlaher g42aher g43aher ghlbaher ghbaher g47aher g48aher
g49aher g50aher g5laher g52aher;
dtpher=0;
do i=1 to dim(prhal);
if prher(i)=1 then dtpher=dtpher+l;
if dtpher >= 1 then dlpher=1l; else dlpher=0;
end; drop 1i;

DEPENDENCE PROBLEM, ONSET AGE
## full criteria not required **%*
missing and not applicable age codes are set to 999
minimum function will select lowest age 1-55 or 999
var names: DI1POAxxx note no g51b

D1POAALC=min(g30balc,g3lbalc, g32balc,g33balc, g34balc,g36balc,g37balc,
g38balc,g4lbalc, gh2balc, gh3balc, ghtbalc, ghbbalc, gb7balc,
g48balc, g49balc, g50balc, g52balc);

if dlpoaalc eq 999 then dlpoaalc=.;

D1POASED=min(g30bsed, g3lbsed, g32bsed, g33bsed, g34bsed, g36bsed, g37bsed,
g38bsed, g4lbsed, g42bsed, g43bsed, ghbbsed, ghbbsed, gh7bsed,
gh8bsed, g49bsed, g50bsed, g52bsed) ;

if dlpoased eq 999 then dlpoased=.;

D1POATRQ=min(g30btrq, g31lbtrq, g32btrq, g33btrq, g34btrq,g36btrq, g37btrq,
g38btrq, g4lbtrq, gh2btrq, g43btrq, ghtbtrq, ghbbtrq, gh7btrq,
g48btrq, g49btrq, g50btrq, g52btrq) ;

if dlpoatrq eq 999 then dlpoatrg=.;

D1POASTI=min(g30bsti,g3lbsti,g32bsti,g33bsti,g34bsti,g36bsti,g37bsti,
g38bsti,ghlbsti,g42bsti, gh3bsti,ghbbsti,ghbbsti, gb7bsti,
g48bsti,g49bsti,g50bsti, g52bsti);

if dlpoasti eq 999 then dlpoasti=.;

D1POAAGS=min(g30bags,g3lbags, g32bags, g33bags, g34bags, g36bags, g37bags,
g38bags, ghlbags, gh2bags, gh3bags, ghtbags, ghbbags, gh7bags,
g48bags,g49bags, g50bags, g52bags) ;

if dlpoaags eq 999 then dlpoaags=.;
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D1POAINH=min(g30binh, g3lbinh, g32binh, g33binh, g34binh, g36binh, g37binh,
g38binh, g4lbinh, g42binh, g43binh, g44binh, gh6ébinh, g47binh,
g48binh, g49binh, g50binh, g52binh);

if dlpoainh eq 999 then dlpoainh=.;

D1POAMAR=min(g30bmar, g3lbmar, g32bmar, g33bmar, g34bmar, g3ébmar, g37bmar,
g38bmar, g4lbmar, g42bmar, gb3bmar, g4bbmar, ghbbmar, gb7bmar,
g48bmar, gh9bmar, g50bmar, g52bmar) ;

if dlpoamar eq 999 then dlpoamar=.;

D1POACOC=min(g30bcoc, g3lbcoc, g32bcoc, g33bcoc, g34bcoc, g3bbcoc, g37bcoc,
g38bcoc, g4lbcoc, g42bcoc, gh3bcoc, ghbbecoc, ghbbcoc, g47bcoc,
g48bcoc, gh9bcoc, g50bcoc, g52bcoc) ;

if dlpoacoc eq 999 then dlpoacoc=.;

D1POAHAL=-min(g30bhal, g31bhal, g32bhal, g33bhal, g34bhal, g36bhal, g37bhal,
g38bhal, g4lbhal, g42bhal, gb3bhal, g44bhal, ga6bhal, g47bhal,
g48bhal, g49bhal, g50bhal, g52bhal) ;

if dlpoahal eq 999 then dlpoahal=.;

D1POAHER=min(g30bher, g3lbher, g32bher, g33bher, g34bher, g36bher, g37bher,
g38bher, g4lbher, g42bher, g43bher, ghbbher, ghbbher, g47bher,
g48bher, g49bher, g50bher, g52bher) ;

if dlpoaher eq 999 then dlpoaher=.;

DEPENDENCE PROBLEM, RECENCY (minimum valid code)
4 full criteria not required
1 =past month 2=past 6 months 3=past yr 4=more than a yr
var names: DPRECxxx (note no g36c)

array missc({*)
g30calc g3lcalc g32calc g33calc g34calc g37calc g38calc
ghlcalc gh2calc gh3calc ghbcalc ghbcalc ghicalc gi8calc
g49calc g50calc g52calc
g30csed g3lcsed g32csed g33csed g34csed g37csed g38csed
ghlcsed gh2csed gh3csed ghicsed ghbesed gh7csed gh8csed
g49csed g50csed g52csed
g30ctrq g3lctrq g32ctrq g33ctrq g34ctrq g3/ctrq g38ctrq
ghlctrq ghl2ctrq ghlctrq ghbctrq ghbetrq ghlctrq gh8ctrq
gh9ctrq g50ctrq g52ctrq
g30csti g3lesti g32csti g33csti gl4csti g37csti g38cesti
ghlesti gh2csti gh3cesti ghbcsti ghbesti gh7csti ghBesti
gh9csti g50csti g52csti
g30cags g3lcags g32cags g33cags g34cags g37cags g38cags
ghlcags ghlcags gh3cags ghhcags ghbcags ghicags ghBcags
gh9cags g50cags gd2cags
g30cinh g3lcinh g32cinh g33cinh g34cinh g37cinh g38cinh
ghlcinh g42cinh g43cinh gh4cinh g4bcinh g47cinh g48cinh
g49cinh g50cinh g52cinh
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g30cmar g3lcmar g32cmar g33cmar g34cmar g37cmar
ghtlcmar gh42cmar g43cmar ghbhcmar ghbemar gh7cmar
g49cmar g50cmar g52cmar
g30ccoc g3lccoc g32ccoc g33ccoc gl34ccoc g37ccoc
ghlccoc ghl2ccoc gi3ccoc ghbccoc ghbecoc ghlccoc
g49ccoc g50ccoc g52ccoc
g30chal g3lchal g32chal g33chal g34chal g37chal
g4lchal g42chal gi43chal g44chal ghéchal g47chal
g49chal g50chal g52chal
g30cher g3lcher g32cher g33cher g34cher g37cher
ghlcher gh42cher g43cher gi4cher ghbcher gh7cher
g49cher g50cher g52cher;

do i=1 to dim(missc);

if missc(i}>= 8 or missc(i)=. or missc{i}=0 then miss
end;
drop 1i;

DPRECALC=min(g30calc, g3lcalc,g32calc,g33calc, gl4calc,g37calc,

g38calc,ghlcalc, gh2calc, gb3calc, ghtbcale, ghbecale,ghicale,
g48calc,gh9calc,g50calc,g52calce);

DPRECSED=min(g30csed, g31lcsed, g32csed, g33csed, g34csed, g37csed,

g38csed, ghlcsed, gh2csed, gh3csed, ghbesed, ghbesed, gh7csed,
gh8csed, gh9csed, g50csed, g52csed) ;

DPRECTRQ=min(g30ctrq, g3lctrq, g32ctrq, g33ctrq, g34ctrq, g37ctrq,

g38ctrq, ghlctrq, gh2ctrq, ghdctrq, ghbctrq, ghbetrq, gbictrq,
gh8ctrq, g49ctrq, g50ctrq, gs2ctrq);

DPRECSTI=min(g30csti,g3lcsti,g32csti,g33csti,g34csti,g37csti,

g38csti,ghlcsti,gh2csti, gh3cesti, gbbesti,ghbesti, gblesti,
g48csti, gh9csti,g50csti, g52csti);

DPRECAGS=min(g30cags, g3lcags,g32cags, g33cags, g34cags,g37cags,

g38cags,ghlcags, gh2cags,ghdcags, ghbcags,ghbcags, gbicags,
gh8cags,ghcags, g50cags, g52cags) ;

DPRECINH=min(g30cinh, g3lcinh, g32cinh, g33cinh, g34cinh, g37cinh,

g38cinh, g4lcinh, g42cinh, g43cinh, g44cinh, ghbcinh, g47cinh,
g48cinh, g49cinh, g50cinh, g52¢cinh);

DPRECMAR=min(g30cmar, g3lcmar, g32cmar, g33cmar, g34cmar, g37cmar,

g38cmar, g4lcmar, gh2cmar, ghdcmar, gb4cmar, ghbcmar , gh7cmar,
g48cmar, g49cmar, g50cmar, g52cmar) ;
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DPRECCOC=min(g30ccoc, g3lccoc,g32ccoc, g33ccoc, g34ccoc,gl3/ccoc,

g38ccoc,gblccoc, gh2ccoc, gh3ccoc, ghbccoc, ghbecoc, gh’ccoc,
g48ccoc, gb9ccoc, g50ccoc, g52¢ccoce) ;

DPRECHAL=min(g30chal, g3lchal, g32chal, g33chal, g34chal, g37chal,

g38chal,g4lchal, g42chal, g43chal, gb4chal, ghbchal,gb7chal,
g48chal, g49chal, g50chal, g52chal);

DPRECHER=min(g30cher, g31lcher, g32cher, g33cher, g34cher, g37cher,

g38cher, g4lcher, gb2cher, gh3cher, ghbcher, ghbcher, g47cher,
gh8cher, g49cher, g50cher, g52cher);
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DEPENDENCE PROBLEM, RECENCY AGE (full criteria not required)
maximum of valid age codes 1-55 among the 'd’ items
missing ages set to . which is smaller than valid ages
variable names: DPRAGxxx

array missd{¥*)
g30dalc g3ldalc g32dalc g33dalc g34dalc g37dalc g38dalc
ghldalc gh2dalc g43dalc gh4dalc ghbdalc g47dalc g48dalc
g49dalc g50dalc g52dalc
g30dsed g3ldsed g32dsed g33dsed g34dsed g37dsed g38dsed
g4ldsed gh2dsed gh3dsed ghtdsed ghbdsed gh47dsed g48dsed
gh9dsed g50dsed g52dsed
g30dtrq g3ldtrq g32dtrq g33dtrq g34dtrq g37dtrq g38dtrq
ghldtrq g42dtrq gh43dtrq gh4dtrq ghédtrq g47dtrq gh8dtrq
g49dtrq g50dtrq g52dtrq
g30dsti g3ldsti g32dsti g33dsti g34dsti g37dsti g38dsti
ghldsti gh2dsti g43dsti ghadsti ghbdsti gh7dsti g48dsti
g49dsti g50dsti g52dsti
g30dags g3ldags g32dags g33dags g34dags g37dags g38dags
ghldags gh2dags gh3dags gh4dags ghbdags gh7dags gh8dags
g49dags g50dags g52dags
g30dinh g31dinh g32dinh g33dinh g34dinh g37dinh g38dinh
g4ldinh g42dinh g43dinh gi44dinh g46dinh g47dinh g48dinh
g49dinh g50dinh g52dinh
g30dmar g3ldmar g32dmar g33dmar g34dmar g37dmar g38dmar
g4ldmar g42dmar g43dmar g4bdmar gh6dmar gh7dmar g48dmar
g49dmar g50dmar g52dmar
g30dcoc g3ldcoc g32dcoc g33dcoc g34dcoc g37dcoc g38dcoc
ghldcoc gh2dcoc gh3dcoc ghtdcoc ghbdcoc gh47dcoc gh8dcoc
g49dcoc g50dcoc g52dcoc
g30dhal g31ldhal g32dhal g33dhal g34dhal g37dhal g38dhal
g4ldhal g42dhal g43dhal g44dhal g46dhal g47dhal g48dhal
g49dhal g50dhal g52dhal
g30dher g3ldher g32dher g33dher g34dher g37dher g38dher
ghldher g42dher g43dher gh4dher ghbdher g47dher g48dher
g49dher g50dher g52dher;

do i=1 to dim(missd);

if missd{i)= 999 then missd{i)=.;

end;

drop i;

if dprecalc eq 4 then DPRAGALC=

mak(g30dalc,g3ldalc,g32dalc,g33dalc,g34da1c,g37da1c,g38da1c,

ghldalc, g42dalc, gb3dalc, gh4dalc, ghbdalc, gb7dalc, g48dalc,
gh9dalc, g50dalc, g52dale);
if 1 <= dprecalc <=3 then DPRAGALC=crtage;
if dpragalc=999 then dpragalc=.;
if dprecsed eq 4 then DPRAGSED=
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max (g30dsed, g3ldsed, g32dsed, g33dsed, g34dsed, g37dsed, g38dsed,

g4ldsed, g42dsed, g43dsed, gh4dsed, g4hbdsed, gb7dsed, gh8dsed,
g49dsed, g50dsed, g52dsed) ;
if 1 <= dprecsed <=3 then DPRAGSED=crtage;
if dpragsed=999 then dpragsed=.;
if dprectrq eq 4 then DPRAGTRQ=

max (g30dtrq, g3ldtrq, g32dtrq, g33dtrq, g34dtrq, g37dtrq, g38dtrq,

ghldtrq, g42dtrq, gaddtrq, gb4dtrq, ghbdtrq, gh7dtrq, gh8dtrq,
g49dtrq, g50dtrq, g52dtrq) ;
if 1 <= dprectrq <=3 then DPRAGTRQ=crtage;
if dpragtrq=999 then dpragtrg=.;
if dprecsti eq 4 then DPRAGSTI=

max(g30dsti, g3ldsti,g32dsti,g33dsti, g34dsti,g37dsti,g38dsti,

ghldsti,gh2dsti,ghddsti,ghbdsti,ghbdsti,gh7dsti,gh8dsti,
g49dsti, g50dsti,g52dsti);
if 1 <= dprecsti <=3 then DPRAGSTI=crtage;
if dpragsti=999 then dpragsti=.;
if dprecags eq 4 then DPRAGAGS=

max(g30dags, g3ldags, g32dags, g33dags, g34dags,g37dags, g38dags,

g4ldags,g42dags,gh3dags, ghtdags,ghbdags,gbidags,gh8dags,
gh9dags, g50dags,g52dags) ;
if 1 <= dprecags <=3 then DPRAGAGS=crtage;
if dpragags=999 then dpragags=.;
if dprecinh eq 4 then DPRAGINH=

max (g30dinh, g31ldinh, g32dinh, g33dinh, g34dinh, g37dinh, g38dinh,

g4ldinh, g42dinh, g43dinh, gb4dinh, g46dinh, g47dinh, g48dinh,
g49dinh, g50dinh, g52dinh) ;
if 1 <= dprecinh <=3 then DPRAGINH=crtage;
if dpraginh=999 then dpraginh=.;
if dprecmar eq 4 then DPRAGMAR=

max (g30dmar, g3ldmar, g32dmar, g33dmar, g34dmar, g37dmar, g38dmar,
ghtldmar, g42dmar, g43dmar, gh4dmar, gh6dmar, g47dmar, g48dmar,
g49dmar, g50dmar, g52dmar) ;
if 1 <= dprecmar <=3 then DPRAGMAR=crtage;
if dpragmar=999 then dpragmar=.;
if dpreccoc eq 4 then DPRAGCOC=
max(g30dcoc, g3ldcoc, g32dcoc, g33dcoc, g34dcoc, g37dcoc, g38dcoc,

gh4ldcoc, g42dcoc, gh3dcoc, ghbdcoc, ghbdcoc, g47dcoc, gh8dcoc,
g49dcoc, g50dcoc, g52dcoc) ;

A-71



if 1 <= dpreccoc <=3 then DPRAGCOC=crtage;
if dpragcoc=999 then dpragcoc=.;
if dprechal eq 4 then DPRAGHAL=

max(g30dhal, g31dhal, g32dhal, g33dhal, g34dhal, g37dhal, g38dhal,

ghldhal,g42dhal, g43dhal, g44dhal, g46dhal, g47dhal, g48dhal,
g49dhal, g50dhal, g52dhal);
if 1 <= dprechal <=3 then DPRAGHAL=crtage;
if dpraghal=999 then dprag=.;
if dprecher eq 4 then DPRAGHER=

max (g30dher, g31ldher, g32dher, g33dher, g34dher, g37dher, g38dher,
galdher, gb2dher, g43dher, g44dher, ghbdher, g47dher, g48dher,
g49dher, g50dher, g52dher) ;

if 1 <= dprecher <=3 then DPRAGHER=crtage;
if dpragher=999 then dpragher=.;
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*

DEPENDENCE FULL CRITERIA DURING PAST 12 MONTHS
had 3 A and 2 B criteria all within the past year.
note difference from lifetime criteria: only 8 A criteria
available (no g5lcxxx0)

l=yes 0O=no
VAR NAMES:

DF1Yxx

also no g36c, no g36d

ALCOHOL full dependence during past 12 months;

if alcal=1 and

(1 <= gh47calc <=3) or (1 <= g48calc <= 3)

if alca2=1 and

(1 <= g42calc

or
if alca3=1 and

(1 <= ghbcalc

(1 <= gh4bcalc

if alca4=1 and

((1 <= g30calc
or (1 <= g34calc

if alca5=1 and
(1 <= g52ca
if alcab=1 and

1c

((1 <= g32calc

or ((1 <=
or ((1 <=
or ((1 <=

g37ca
g38ca

g33calc

1lc
1c

if g4laalc eq 1 and
if drkl2pyr eq 1 and

eq
eq
eq
eq
(1
(1

((g32aalc
or ((g33aalc
or ((g37aalc
or ((g38aalc

if alca7=1 and
if alca8=1 and
if pyalcal=l

if pyalca2=1 and

((g42aalc=1)
or ((g43aalc=1)
or ((ghsaalc=1)

if pyalca3=1

if pyalca4=1

if pyalcad=1 and
((g52aalc=1)

if pyalcaé=1
if pyalca7=1 and
((g49aalc=1)

if pyalca8=1 and
((g50aalc=1)

&
&
&

<=3) or

<=3)

<=3)

(1 <= g43calc <=3)

<=3) or (1 <= g3lcalc <= 3))

<=

3)

<=3)

<=
<=
<=
<=
(1

3)
3)
3)
3)
<=

and (crtage
and (crtage
and (crtage
and (crtage
gblcalc <=3

then pyalcal=1;

then pyalca2=1,;

then pyalca3=l1;

then pyalca4=1;

then pyalca5=1;

> g32balc or g32ealc=l))
> g33balc))
> g37balc))
> g38balc)) then pyalcab=1;

)

then pyalca6b=1;

and (crtage > g32balc or g32ealc=l))

and (crtage
and (crtage
and (crtage
g49cale <= 3)
g50calec <= 3)

(1
(1
(1

(1

(1

(1

<= gh2calc <=
<= gh3calc <=
<= gh4calc <

g52calc

<= gh9calc

<

g50calc <=

A-73

3)
3)
3)

3)

3)

3)

> g33balc))
"> g37balc))
> g38balc))

& (crtage
& (crtage
& (crtage

& (crtage

& (crtage

& (crtage

then pyalcab=1;
then pyalca7-=1;
then pyalca8=1;
then pyalcbl=l;

> gh2balce))
> gh3balc))
> gbbbalce))
then pyalcb2=1;
then pyalcb3=1;
then pyalcb4=1;

> g52balc))
then pyalcb5=1;
then pyalcbé6=1;

> g49balce))
then pyalcb7-=1;

> g50balc))



then pyalcb8=1;

pyalcat=sum(of pyalcal-pyalca8);
pyalcbt=sum(of pyalcbl-pyalcb8);

if sedal=1 and
(1 <= ghb7csed

if seda2=1 and
(1 <= gh2csed
or (1 <= ghicsed

if seda3=1 and
(1 <= ghbcsed

if seda4=1 and
((1 <= g30csed
or (1 <= g34csed

if seda5=1 and
(1 <= g52csed

if seda6=1 and

if pyalcat >= 3 and pyalcbt >= 2 then dflyalc=1; else dflyalc=0;

<=3) or (1 <= g48csed <= 3) then pysedal=l;

<=3) or (1l <= g43csed <=3)

<=3) then pyseda2=1;
<=3) then pyseda3=1l;
<=3) or (1 <= g3lcsed <= 3))

<= 3) then pyseda4=1;
<=3) then pyseda5=1;

((1 <= g32csed <= 3) and (crtage > g32bsed or g32esed=l))
or ((1 <= g33csed <= 3) and (crtage > g33bsed))
or ((1 <= g37csed <= 3) and (crtage > g37bsed))
or ((1 <= g38csed <= 3) and (crtage > g38bsed))
or ((1 <= rcusesed <= 3) & (crtage > g32bsed or g32esed=l))
or ((1 <= rcusesed <= 3) & (crtage > g33bsed))
or ((1 <= rcusesed <= 3) & (crtage > g37bsed))
or ((1 <= rcusesed <= 3) & (crtage > g38bsed)) then pysedaé=1;
if g4lased eq 1 and (1 <= ghlcsed <=3) then pysedab=1;
if seda7=1 and (1 <= g49csed <= 3) then pyseda7=1;
if seda8=1 and (1 <= g50csed <= 3) then pyseda8=1;

if pysedal=1
if pyseda2=1 and
((gh2ased=1) &
or ((g43ased=l) &
or ((ghbased=l) &

if pyseda3=1l

if pyseda4=1

if pyseda5=1 and
((g52ased=1) &

if pyseda6=1
if pyseda7=1 and
((gh9ased=1) &

then pysedbl=1;

(1 <= gb2csed <= 3) & (crtage > gi42bsed))

(1 <= gh43csed <= 3) & (crtage > gi43bsed))

(1 <= ghbcsed <= 3) & (crtage > ghibsed))
then pysedb2=1;
then pysedb3=1;
then pysedb4=1;

(1 <= g52csed <= 3) & (crtage > g52bsed))
then pysedb5=1;
then pysedb6=1;

(1 <= gh9csed <= 3) & (crtage > g4t9bsed))
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if pyseda8=1 and

then pysedb7=1;

((g50ased=1) & (1 <= g50csed <= 3) & (crtage > g50bsed))

pysedat=sum(of pysedal-pyseda8);
pysedbt=sum(of pysedbl-pysedb8);

then pysedb8=1;

if pysedat >= 3 and pysedbt >= 2 then dflysed=l; else dflysed=0;

if trqal=1 and
(1 <= ghictrq

if trqa2=1 and
(1 <= glbl2ctrq
or (1 <= gbbctrq

if trqa3=1 and
(1 <= glbectrq

if trqa4=1 and
((1 <= g30ctxq
or (1 <= g34ctrq

if trqa5=1 and
(1 <= g52ctrq

if trqa6=1 and
((1 <= g32ctxq
((1 <= g33ctxq
(1 g37ctrq <= 3)
((1 <= g38ctrq <= 3)

<=3)

<=3)

<= 3)
<=3)

<=
<=

3)
or 3)
or

or

<=3) or

<=3) or (1 <= g48ctrq <= 3)

and
and
and
and

(crtage
(crtage
(crtage
(crtage

or
or
or
or

(1
(1
qet
((1

<=

rcusetrq <= 3) &
rcusetrq <= 3) &
rcusetrq <= 3) &
rcusetrq <= 3) &

(crtage
(crtage
(crtage
(crtage

VVVVVVVYV

if g4latrq eq 1 and (1 <=

ghlctrq <=3)

if trqa’7=1 and (1 <= g49ctrq <= 3)
if trqa8=1 and (1 <= g50ctrq <= 3)

if pytrgal=1
if pytrqa2=1 and
((g42atrg=1l) & (1 <=
or ((ghl3atrg=l) & (1 <=
or ((ghbatrg=l) & (1 <=

if pytrqa3=1

if pytrqa4=1

if pytrqa5=1 and
((g52atrg=1) & (1 <=

if pytrqab=1

ghlctrq <= 3)
gh3ctrq <= 3)
ghbctrq <= 3)

g52ctrq <= 3)
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then pytrqal=l;

(1 <= gh3ctrq <=3)

then pytrqa2=1;

then pytrqa3=1,;

<=3) or (1 <= g3lctrq <= 3))

then pytrqa4=1;
then pytrga5=1;

g32btrq or g32etrq=l))

g33btrq))

g37btxq))

g38btrq))

g32btrq or g32etrq=l))

g33btrq))

g37btrq))

g38btrq)) then pytrqab=l;
then pytrqaé=1;

then pytrga7=1;
then pytrqa8=1;

then pytrgbl=l;
& (crtage

& (crtage
& (crtage

> g42btrq))
> g43btrq))
> ga4btrq))
then pytrgb2=1;
then pytrgb3=1;
then pytrgb4=1;
& (crtage > g52btrq))
then pytrqgb5=1;
then pytrgbé6=1;



if pytrqa7=1 and
((gh9atrq=1) & (1 <= gh9ctrq <= 3) & (crtage > g49btrq))

if pytrqa8=1 and
((g50atrq=1) & (1 <= g50ctrq <= 3) & (crtage > g50btrq))

pytrqat=sum(of pytrqal-pytrqal8);
pytrgbt=sum(of pytrgbl-pytrqb8);

then pytrgb7=1;

then pytrgb8=1;

if pytrqat >= 3 and pytrgbt >= 2 then dflytrq=l; else dflytrq=0;

if stial=1 and

(1 <= gb7csti

if stia2=1 and

or

(1 <= gh2csti
(1 <= ghbcsti

if stia3=1 and

(1 <= ghbesti

if stia4=1 and

((1 <= g30csti
or (1 <= g34csti

if stia5=1 and

(1 <= g52csti

if stiab=1 and
g32csti <= 3) and (crtage
g33csti <= 3) and (crtage
g37csti <= 3) and (crtage
g38csti <= 3) and (crtage

or
or
or
or
or
or
or

(1
((1
((1
((1
qet
(1
(1
((1

rcusesti <=

= rcusesti <=

rcusesti <=

= rcusesti <=

<=3) or
<=3)

<=3)

<=3)

3) & (crtage
3) & (crtage
3) & (crtage
3) & (crtage

VVVVVVVYV

if g4lasti eq 1 and (1 <= g4lecsti <=3)

if stia7=1 and (1 <= g49csti <= 3)
if stia8=1 and (1 <= g50csti <= 3)

if pystial=1

if pystia2=1 and
((gh2asti=1) & (1 <= gh2csti <= 3)
or ((g43asti=1l) & (1 <= gh3csti <=
or ((gbbasti=1l) & (1 <= ghbhcsti <=

if pystia3=l
if pystia4=1

if pystia5=1 and
((g52asti=1) & (1 <= g52csti <=
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3)
3)

3)

<=3) or (1 <= g48csti <= 3) then pystial=1;

(1 <= gh43csti <=3)

then pystia2=1;

then pystia3=1;

<=3) or (1 <= g3lecsti <= 3))
<= 3)

then pystia4=1;
then pystia5=1;

g32bsti or g32esti=1))

g33bsti))

g37bsti))

g38bsti))

g32bsti or g32esti=l))

g33bsti))

g37bsti))

g38bsti)) then pystiab=l;
then pystia6=1;

then pystia7=1;
then pystia8=1;

then pystibl=l;

& (crtage > gi2bsti))

& (crtage > gi3bsti))

& (crtage > g44bsti))
then pystib2=1;
then pystib3=1;
then pystib4=1;

& (crtage > g52bsti))



if pystiab=1
if pystia7=1 and
((gh9asti=1) & (1 <= gh9csti <= 3) & (crtage > g49bsti))

if pystia8=1 and
((g50asti=1) & (1 <= g50csti <= 3) & (crtage > g50bsti))

pystiat=sum(of pystial-pystia8);
pystibt=sum(of pystibl-pystib8);

then pystib5=1;
then pystib6=1;

then pystib7=1;

then pystib8=1;

if pystiat >= 3 and pystibt >= 2 then dflysti=1; else dflysti=0;

if agsal=l and
(1 <= ghlcags

if agsa2=1 and
(1 <= gh2cags
or (1 <= glbcags

if agsa3=1 and
(1 <= ghbcags

if agsa4=1 and
((1 <= g30cags

<=3) or (1 <= g48cags <= 3)

<=3) or
<=3)

<=3)

(1 <= gh3cags <=3)

<=3) or (1 <= g3lcags <= 3))

or (1 <= g34cags <= 3)
if agsa5=1 and
(1 <= g52cags <=3)
if agsab=1 and
((1 <= g32cags <= 3) and
or ((1 <= g33cags <= 3) and
or ((1 <= g37cags <= 3) and
or ((1 <= g38cags <= 3) and
or ((1 <= rcuseags <= 3) &
or ((1 <= rcuseags <= 3) &
or ((1 <= rcuseags <= 3) &
or ((1 <= rcuseags <= 3) &

(crtage
(crtage
(crtage
(crtage
(crtage
(crtage
(crtage
(crtage

g33bags))
g37bags))
g38bags))

then pyagsal=1;

then pyagsa2=1;

then pyagsa3=1;

then pyagsa4=1;

then pyagsa5=1;

g32bags or g32eags=l))

g32bags or g32eags=l))
g33bags))

g37bags))

g38bags)) then pyagsaé=1;

VVVVVVVYV

if g4laags eq 1 and (1 <= g4lcags <=3)

if agsa7=1 and (1 <=
if agsa8=1 and (1 <=

if pyagsal=1l
if pyagsa2=1 and

((gh2aags=1) & (1 <= gh2cags <= 3)
or ((gt3aags=1) & (1 <= gb3cags <= 3)

gh9cags <= 3)
g50cags <= 3)

or ((ghhaags=1l) & (1 <= ghbcags <=

if pyagsa3=1
if pyagsa4=1
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& (crtage
& (crtage
3) & (crtage

then pyagsa6=1;

then pyagsa7=1;
then pyagsa8=1,;

then pyagsbl=1;

> gh2bags))
> g43bags))
> ghbbags))
then pyagsb2=1;
then pyagsb3=1;
then pyagsbé4=1,;



if pyagsa5=1 and
((g52aags=1) & (1 <= g52cags <= 3) & (crtage > g52bags))
then pyagsb5=1;

if pyagsaé6=1
if pyagsa7=1 and
((gh9aags=1) & (1 <= gh9cags <= 3) & (crtage > g49bags))
then pyagsb7=1;

if pyagsa8=1 and
((g50aags=1) & (1 <= g50cags <= 3) & (crtage > g50bags))
then pyagsb8=1;

pyagsat=sum(of pyagsal-pyagsa8);
pyagsbt=sum(of pyagsbl-pyagsb8);

then pyagsbé6=1;

if pyagsat >= 3 and pyagsbt >= 2 then dflyags=1l; else dflyags=0;

if inhal=1 and

(1 <= g47cinh

if inha2=1 and

or

(1 <= g42cinh
(1 <= gbbcinh

<=3) or
<=3)

if inha3=1 and

(1 <= gh4bcinh

<=3)

if inha4=1 and

(1 <= g30cinh
or (1 <= g34cinh

if inha5=1 and

(1 <= g52cinh

if inha6=1 and

or
or
or
or
or
or
or

((1
qe
1
((1
((1
((1
(1
((1

<=
<=

<=

<=3) or (1 <= g48cinh <= 3)

(1 <= gh3cinh <=3)

<=3) or (1 <= g3lcinh <= 3)

<= 3)
<=3)
g32cinh <= 3) and (crtage >
g33cinh <= 3) and (crtage > g33binh))
g37cinh <= 3) and (crtage > g37binh))
g38cinh <= 3) and (crtage > g38binh))
= rcuseinh <= 3) & (crtage >
rcuseinh <= 3) & (crtage > g33binh))
= rcuseinh <= 3) & (crtage > g37binh))
rcuseinh <= 3) & (crtage > g38binh))
if g4lainh eq 1 and (1 <= g&4lcinh <=3)
if inha7=1 and (1 <= g49cinh <= 3)
if inha8=1 and (1 <= g50cinh <= 3)

if pyinhal=l

if pyinha2=1 and

((gb2ainh=1) & (1 <= g42cinh <= 3)
or ((g43ainh=1) & (1 <=
or ((ghbainh=1) & (1 <=

g43cinh <= 3)
ghbtcinh <= 3)
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then

then

then

then

then

then
then

then
then

then

pyinhal=1;

pyinha2=1;

pyinha3=1;

pyinha4=1;

pyinha5=1;

g32binh or g32einh=1))

g32binh or g32einh=1))

Pyinhaé=1;
pyinha6=1;

Pyinha7=1;
pyinha8=1;

pyinhbl=1;

& (crtage > g42binh))
& (crtage > g43binh))
& (crtage > gh4binh))

then pyinhb2-=1;



if pyinha3=1
if pyinha4=1
if pyinha5=1 and

then pyinhb3=1;
then pyinhb4=1;

((g52ainh=1) & (1 <= g52cinh <= 3) & (crtage > g52binh))

if pyinhaé=1
if pyinha7=1 and

then pyinhb5=1;
then pyinhbé6=1,;

((g49ainh=1) & (1 <= g49cinh <= 3) & (crtage > g49binh))

if pyinha8=1 and

then pyinhb7=1;

((g50ainh=1) & (1 <= g50cinh <= 3) & (crtage > g50binh))

pyinhat=sum(of pyinhal-pyinha8);
pyinhbt=sum(of pyinhbl-pyinhb8);

then pyinhb8=1;

if pyinhat >= 3 and pyinhbt >= 2 then dflyinh=1; else dflyinh=0;

if maral=1 and

(1 <= gb7cmar <=3) or (1 <= gh48cmar <= 3) then pymaral=1;

if mara2=1 and

(1 <= gh2cmar <=3) or (1 <= g43cmar <=3)

or (1 <= g44cmar <=3)
if mara3=1 and
(1 <= ghbcmar <=3)
if mara4=1 and

then pymara2=1;

then pymara3=1;

(1 <= g30cmar <=3) or (1 <= g3lcmar <= 3)

or (1 <= g34cmar <= 3)
if mara5=1 and
(1 <= g52cmar <=3)
if mara6=1 and
((1 <= g32cmar <= 3) and (crtage
or ((1 <= g33cmar <= 3) and (crtage
or ((1 <= g37cmar <= 3) and (crtage
or ((1 <= g38cmar <= 3) and (crtage
or ((1 <= rcusemar <= 3) & (crtage
or ((1 <= rcusemar <= 3) & (crtage
or ((1 <= rcusemar <= 3) & (crtage
or ((1 <= rcusemar <= 3) & (crtage
if g4lamar eq 1 and (1 <= g&lcmar <=3)

VVVVVVVYV

if mara7=1 and (1 <= g49cmar <= 3)
if mara8=1 and (1 <= g50cmar <= 3)

if pymaral=1
if pymara2=1 and
((g42amar=1) & (1 <= gh2cmar <= 3)
or ((g43amar=1l) & (1 <= g43cmar <= 3)
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then pymara4=1;
then pymara5=1;

g32bmar or g32emar=1l))

g33bmar))

g37bmar))

g38bmar))

g32bmar or g32emar=1))

g33bmar))

g37bmar))

g38bmar)) then pymaraé6=1;
then pymaraé6=1;

then pymara7=1;
then pymara8=1;

then pymarbl=1;

& (crtage > g42bmar))
& (crtage > g43bmar))



or ((ghbamar=1l) & (1 <= gb4cmar <= 3) & (crtage > gh4btbmar))

if pymara3=1
if pymaraé4=1
if pymara5=1 and
((g52amar=1) & (1

if pymaraé=1
if pymara7=1 and
((g49amar=1) & (1 <= g49cmar <=

if pymara8=1 and
((g50amar=1) & (1 <=

A
]

g52cmar <=

g50cmar <=

pymarat=sum(of pymaral-pymara8);
pymarbt=sum(of pymarbl-pymarb8);

then pymarb2-=1;
then pymarb3=1;
then pymarbé4=1;

3) & (crtage > g52bmar))

then pymarb5=1;
then pymarb6=1;

3) & (crtage > g49bmar))

then pymarb7=1;

3) & (crtage > g50bmar))

then pymarb8=1;

if pymarat >= 3 and pymarbt >= 2 then dflymar=1; else dflymar=0;

if cocal=1 and

(1 <= gbTccoc

if coca2=1 and

(1 <= gh2ccoc

(1 <= gbbccoc

if coca3=1 and

(1 <= ghbecoc

if coca4=1 and

(1 <= g30ccoc
or (1 <= g34ccoc

if coca5=1 and

(1 <= g52ccoc

if cocab=1 and

or

or
or
or
or
or
or
or

(1
((1
(1
qe
(1
(1
(1
((1

<=
<=
<=

g32ccoc
g33ccoc
g37ccoc
g38ccoc

rcusecoc <=
rcusecoc <=
= rcusecoc <=
= rcusecoc <=

<=3) or (1 <= g48ccoc <= 3)

<=3) or
<=3)

<=3)

then pycocal=1l;

(1 <= g43ccoc <=3)

then pycoca2=1;

then pycoca3=1l;

<=3) or (1 <= g3lccoc <= 3)

<=

3)

<=3)

<=
<=
L=
<=

3)
3)
3)
3)

and
and
and
and

3) &
3) &
3) &
3) &
if ghdlacoc eq 1 and (1 <= ghlccoc <=3)

(crtage
(crtage
(crtage
(crtage
(crtage
(crtage
(crtage
(crtage

if coca’7=1 and (1 <= g49ccoc <= 3)
if coca8=1 and (1 <= g50ccoc <= 3)

if pycocal=1l

if pycoca2=1 and
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VVVVVVVYV

then pycoca4=1;
then pycoca5=1;

g32bcoc or g32bcoc=1))

g33bcoc))

g37bcoc))

g38bcoc))

g32bcoc or g32ecoc=l))

g33bcoc))

g37bcoc))

g38bcoc)) then pycocab=1;
then pycocab=1;

then pycoca7=1;
then pycoca8=1;

then pycocbl=1;



((gh2acoc=1) & (1 <= gh2ccoc <= 3)
or ((g43acoc=1) & (1 <= gh3ccoc <= 3)
or ((ghbhacoc=1l) & (1 <= ghlbccoc <= 3)

(crtage > gi42bcoc))
(crtage > g43bcoc))
(crtage > g4bbcoc))
then pycocb2=1;
if pycoca3=l then pycocb3=l;
if pycoca4=1 . then pycocb4=1;
if pycoca5=l and
((g52acoc=1) & (1 <= g52ccoc <= 3) & (crtage > g52bcoc))
then pycocb5=1;
if pycocaéb=1 then pycocbé=1;
if pycoca’=1 and '
((gb%acoc=1) & (1 <= gh9ccoc <= 3) & (crtage > gi&9bcoc))
then pycocb7-=1;

R

if pycoca8=1 and
((g50acoc=1) & (1 <= g50ccoc <= 3) & (crtage > g50bcoc))
then pycocb8=1;
pycocat=sum(of pycocal-pycoca8);
pycocbt=sum(of pycocbl-pycocb8);

if pycocat >= 3 and pycocbt >= 2 then dflycoc=l; else dflycoc=0;

if halal=1 and

(1 <= g47chal <=3) or (1 <= g48chal <= 3) then pyhalal=1;
if hala2=1 and

(1 <= g42chal <=3) or (1 <= g&3chal <=3)

or (1 <= g44chal <=3) then pyhala2=1;
if hala3=1 and
(1 <= ghbchal <=3) then pyhala3=1;

if hala4=1 and
(1 <= g30chal <=3) or (1 <= g3lchal <= 3)

or (1 <= g34chal <= 3) then pyhala4=1;
if hala5=1 and
(1 <= g52chal <=3) then pyhala5=1;

if hala6=1 and

((1 <= g32chal <= 3) and (crtage > g32bhal or g32ehal=l))
or ((1 <= g33chal <= 3) and (crtage > g33bhal))
or ((1 <= g37chal <= 3) and (crtage > g37bhal))
or ((1 <= g38chal <= 3) and (crtage > g38bhal))
or ((1 <= rcusehal <= 3) & (crtage > g32bhal or g32ehal=l))
or ((1 <= rcusehal <= 3) & (crtage > g33bhal))
or ((1 <= rcusehal <= 3) & (crtage > g37bhal))
or ((1 <= rcusehal <= 3) & (crtage > g38bhal)) then pyhala6=<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>